ASXPC. oo e e

sQW
SECTION 3

Page No

CYLINDERS
Precautions in Installing and Operating Cylinders -+ 3.001
Caution in INStalliNg CylINAEr -« - vveeee 3.002

ISO Standard Cylinder

QCB85 Series 1SO6432 Standard Small Size Cylinder (©10~ ®25) --cvvvveeeiiiiiiiiiiiann, 3.003
QDNC Series 1ISO15552 Standard Square Cylinder (032~ ®100) -« --xx--ovvvreeeeeaannns 3.005
QC95 Series 1ISO15552 Standard Cylinder (932~ 200 ) -« cxrrreeerrrieeeeiiees 3.010
XSC Series 1ISO6430 Standard Square Cylinder (032~ ®100) - -coevvrrrrrrmiiia, 3.013
QSC Series 1SO6430 Standard Cylinder (932~ @100 ) -« «--vvrerereai s 3.015

General Cylinder
QCJ2 Series Mini Cylinder (06~ ®16, Japanese Type ) ««««+««+«xxrrrreerrarrntmnaraeiaeens 3.020
QCM2 Series Small Size Cylinder (020 ~ ©40, Japanese Type ) «««««+-rrrrrrrrrreeaiiiiii.. 3.024
QC75 Series Small Size Cylinder (032~ ©40, European Type ) -« cwrxrorerrsmeerssieee e 3.028
XQGAXx Series Small Size Cy|inder (D42~ D32) v 3.030
XQGAxD(D1) Series Small Single Acting Cylinder (012~ ®32) -+ vvvvveiiiiiiiinnnn 3.034
XQGAXx2 Series Small Double Piston Rod Cylinder (012~ ®32) -+« oo 3.036
XQGAxKn Series Small Auto Switch Cylinder (012~ ®32) - --vvveviiiiiiin, 3.037
QMAL Series Aluminium Alloy Small Size Cylinder (020~ ®40) -+ -ccovvvveeiiii.. 3.038
XQGA(B) Series General Double Acting Cylinder (032~ ®320) -« orvrerreeeiienann. 3.043
XQGAD(D1) Series General Single Acting Cylinder (032~ @63 ) - -------rrereeeeiaannns 3.051
XQGAZ2(B2) Series General Double Piston Rod Cylinder (032~ ®320) - --------vvveens 3.053
XQGL(L1) Series General Adjustable Stroke Cylinder (032~ ©320)-------cooooeeeiennn 3.054
XQGA(B)F Series General Valve Cylinder (032~ ©320 ) -« ccvrrrrreeineeiii.. 3.055
XQGA(B)Kn Series General Auto Switch Cylinder (032~ ®200 ) -+« - ovverineennnn 3.060
QMB Series Japenese Tape Cylinder (D32~ D100 ) -« -« xrrerermmmmmaiiaaee. 3.061

Compact Cylinder

QCQS Series Compact Cylinder (012~ ©25, New Japanese Type )« -« -+« werrrreereanneeans 3.064




ASXPC. oo e e

sQW

SECTION 3

Page No.

CYLINDERS

Compact Cylinder

QCQ2 Series Compact Cylinder (012~ ©100, Japanese Type ) -« -+« xxxrrrmereaneeeaaees. 3.066
QCN Series Compact Cylinder (016 ~ ®100, European Type ) -« -« «----crrrerraaaaeeaa.., 3.068
QADVU Series Compact Type Shot Stroke Cylinder (016~ ®100) -+« vvvveeiieeens. 3.073

Special Cylinder
XQGAX0 Series Small Square Cylinder (920~ M25) -« - rrrrrmrmrmmneee 3.078
XQGAy(By) Series Light Cylinder (040~ @63 ) -« - - cvvmrmmmmiiiiiiiii 3.079
XQGAyD(D1) Series Light Single Acting Cylinder (040~ ®63) «««- - -cvvriieeeiiieaann 3.080
XQGAy2(By2) Series Light Double Piston Rod Cylinder (040~ ®63):----:--ovveeennn. 3.081
QTN Series TWin-rod Cylinder (010~ B32) -« - xxrrurmrmmmmiitiieiie e 3.082
QRSQ Series Stopper Cylinder (D20 ~ D50 ) -« -« xxxrurmmmrmtniiiitii 3.084
QCKA Series Clamp Cylinder (D40 ~ @B3 )« -« -« «xxxrurmmnmiiiiiaiii e 3.089
QRC Series Rotary Cylinder (D40 ~ @425 ) -« - xxuvmrmmmmmiiiiiiii 3.091
XQGA(B)J Series Tandem Cylinder (932~ @320 ) -« vvrrrrrrrmrnmnmme, 3.092
XQGA(B)P Series Multi-Position Cylinder (©32~ ®320):------vvrivrinaiin 3.093
XQGBSJ Series Locking Cylinder (940~ @100 ) -« vurermrmmmiiiiiaeiin 3.094

XQGASF Series Servo Cy'inder (DB~ DBO) v vvrrrrrmrrreen e ettt 3.095



ASXPC. oo e e

sQW
Precautions in Installing and Operating Cylinders

1. Before installation, check whether the cylinder has been damaged during the transportation
and whether there is any loosen connection.

2. Avoid any big radial load to the piston rod whether during installation or operation.

3. No matter what kind of mounting is used the cylinder should not be deformed. The mounting
should be rigid enough. Connecting the load and piston rod by welding is absolutely not
permitted.

4. When a cylinder is installed horizontally, especially a cylinder of long stroke, the extending
and returning of the piston rod should be kept in the same axial line.

5. When adjusting the piston speed, firstly set the speed control valves (one way flow control
valves) at the middle position of the regulating ranges. Gradually adjust the output pressure
of the regulator (in the air combination set) to the operating pressure needed. Then adjust the
piston speed by the speed control valves. Finally adjust the air cushions by the regulating
needles (or screws) so that inertia of piston can be absorbed and the piston does not compact
on the front and rear covers.

6. After complete the installation, the cylinder should be run two or three times without load in the
operating pressure range to check whether the cylinder is in proper condition.

7. 1f CA, CB, TA, TB, TC or TC-M type mounting is used, the moving parts of the mounting should
be lubricated.

8. There is an additional air port,threaded and pluged, on the front and rear covers of the cylinder
to facilitate selecting the inlet port of the cylinder (except 125, 160, 250, 320). The holes should
be checked whether there is leakage and sealant tape or glue should be used.

About ordering

If the stroke is out of the range stipulated in the catalogue or the rod end thread needed is
special, please contact us in advance. Please try to use the standard strokes. The cylinders of
non-standard strokes are made to order. Please use our models to order our products.

Portthread codes:
R. — Female taper thread (PT Female thread) G — Female and Male parallel threads
R~ Male taper thread (PT Male thread) (BSPP Female and Male threads)

3.001



MMKSXPC,

SHANGHAI

Caution in Installing Cylinder

Piston rod connection

X

LB Foot Brackets

Piston rod

==

Piston rod

Thrusting load

-—

]
ol

Pulling load

—_

el
A

Thrust and pulling load

ol

=

3.002

=

XINGYICK PNEUMATIC S_QW
FA, FB Front, Rear flange connection
S| e— f@;} B
I i | B

i

I

Pulling load

1

e
L

2

L

Thrusting load

ol
L

TA, TB, TC Front, Rear, Middle Trunnion

J

X

af-
L

P ad
5 L

o



MMKSXPC,

SHANGHAI

1ISO6432 Standard Small Size Cylinder

XINGYICK PNEUMATIC

'\\:’\_)
sQw

Symbol
QC85 Series (»10~25)
Meeting the Standards of I1ISO 6432 CETOP RPS52P E]
Bore size mm 10 ‘ 12 ‘ 16 ‘ 20 ‘ 25
Fluid Filtered compressed air
Acting type Double acting
T 1.0MPa
B 0.1MPa 0.05MPa
Cushion Rubber cushion (standard), Air cushion(option)
temporoture 5~80°C (Build-in magnet: <60°C)
Piston speed 50~750mm/s
*Lubrication Pro-lubrication in factory
Port size M5X0.8 ‘ G1/8

*If used, turbine oil 1 (ISO VG32) is recommended.

How to Order Standard Stroke / Auto Switch

f Longest f Mounting
QC 85 _ 20 -50 Borﬁnsllze Standarll'q(rinstroke stroke |Autoswitch) T
mm

Code 10 25 40

10 PBK-10

Slioks 5080 100 400 AL-03R
Series 12 10 25 40 ) PBK-12
Bore size 50 80 100
Nil: Standard 16 125 160 200 PBK-16
D: Build-in magnet E: Single clevis (standard) 20 6 01 ?0205 142055106 o | 1000 | QCK2400 | A-20
A A _ L Foot bracket G Rear flange 25 200 250 300 QCK2422 A-25
: Air cushion F: Front flange  T: Trunnion

Option: Non-standard stroke.

Notes:

1. Voltage and current should not be overloaded.

2. Auto switch should not be linked directly to power, should
be linked in series with a load in series.

3. Auto switch should not be close to strong magnetic bodies

DlmenS|OnS(mm) or magnetic shield is used.
Basic Type
QCB85E XC+ BE
SW_BE KV | WH ,GB EE EE GG,
[a]
& TR KK 2 V w
() a
H \f;‘_,"' T HTH N o.
o <Z( [\ 3
N U HSAY 1 [T T
8 dKW e
KA _AMm F NB lLNC,|
EW, H S+ F
NA Z+ RR
77+
Bore
size |[AM BE c|CDl D EE EW| F |GB|GC/WA WB| H | K KK |[KVIKW/ NBNC|NAINDRR|S SWWH XC| z ([ zZz| U
mm
10 [12|M12%x1.25/ 4|4 | 17 | M5%X0.8|8 (12| 7 |5 [10.54.5/ 28| - | M4x0.7 |19| 6 [115/9.5/15({12|10|46| 7 |16/64 |76 |86 |6
12 (16| M16X15|6| 6 | 20 | M5X0.8(12 [17| 8 |6 |9.5 5.5/ 38| 5| M6x1 |24| 8 (125/10.5/18{16|14|50/10|22/75|91|105|9
16 |16| M16Xx1.5(6| 6 | 20 | M5X0.8|12 |17 8 |6 |9.5 5.5/ 38| 5| M6x1 [24| 8 (125[10.5/18/16|13|56/10(22/82|98 [111|9
20 (20| M22x15|8| 8| 28 G1/8 |16 |20| 8 |8 11.58.5| 44| 6 |M8x1.25|32| 11|15 [15|24|22|11 62| 12|24|95 |115[126|12
25 |22 M22x1.5(10| 8 |33.5| G1/8 |16 (22| 8 |8 |11.5(10| 50| 8 |M10x1.25[32| 11 15|15 |30/22|11 |65/ 15|28104{126{137|12

3.003



MMKSXPC,

SHANGHAI XINGYICK PNEUMATIC tﬁ
P W
Accessories
Foot Bracket Front Flange Single Clevis Bracket / With Pin
HE, 2l
o
e
[TRRTR : - ,(, +
| D H % ‘
D I
z i % ! -
et N 1 H L
+ AOQ
TR R 2-42FB R
us UR FT AU 2-3AB LG
Applicable Foot bracket Front flange Single clevis bracket/With pin
bore size
mm Parts No.AB/AO/AV|LT |\ TR|USNHUR| Parts No.| FT |FB |UR[TFUF| Parts No. AB|AO| TR |[LG|CD| AE| AU [NH|LT
10 C85-L10 |4.5| 5|11|3.2/25|35|16|26| C85-F10 (3.2|4.5/22|30(40| C85-E10|4.5/1.5112.5(20| 4 |8.1]13.1/24|2.5
12~16 |C85-L12|5.5 6|14 4 132/42/20|33| C85-F12| 4 |5.5/30|40(52|C85-E12|5.5| 2 | 15 |25 6 [12.118.527|3.2
20~25 |C85-L20 6.6/ 8 (17| 5 |40|54|25/42|C85-F20| 5 |6.6/40(50|66|C85-E20(6.6| 4 | 20 |32| 8 [16.124.1/30| 4
Trunnion I-Type Rod Spherical Bearing Clevis Y-Type Rod Clevis/ DIN71751
/| DIN648
2DHY 2Fhs
d
[$) ‘ (s}
SIDH <|‘ ‘[ "’I =
] RN/ R o yZinm
el ST
| = ANV
s (IOH—H+
| [
210 &J
Uw h
Applicable Trunnion I-type rod clevis / DIN648 Y-type rod clevis / DIN71751
bore size -
s Parts No. TTTDUW|TM[TZ|Parts No.| dc D|h|dflba| bc | L dg R’|ic|Parts No. e b|d|F|g|c|)|a
10 C85-T10 |6 | 4|20|26|38| KJ4D M4 |5[27/18/8 | 6 [10/11]7.5[10] GKM4-8 M4 |4|16/4|8|8|6/|8
12-16 |C85-T12|8|6(25|38(58| KJ6D M6 |6(3020 9 6.75/12/136.5(10| GKM6-10 | M6 |6 |24|6|10(12]8 |12
20 8|6|32/46/66| KJ8D M8 |8[3624112| 9 (161613 12| GKM8-16 | M8 |8 |32|8[12(16/10/16
C85-T20
25 816|32/46(66] KJ10D |M10X1.251043(2814/10.520(19 13 |14| GKM10-20|M10X1.25/10| 40/10|18(20/12|20

3.004



MIKSXPC,

SHANGHAI

XINGYICK PNEUMATIC

=N
sQW

ISO15552 Standard Square Cylinder

QDNC Series (32~ ®100)

Meeting the Standards of 1SO15552
DIN24335 VDMA24562-1

Bore size mm

32 | 40 | 50 | 63 | 80 | 100 | 125

Fluid Filtered compressed air
Acting type Double acting
Max. Operatin
reSsure 1.0MPa
Min. Operatin
pregsur . 0.1MPa
Cushion Air cushion (standard)
Ambient B
temrgenlg?ure 5~60°C
Piston speed 50~500mm/s

Stroke allowance
mm

0~250"3°  251~1000*¢° 1001~1500"%°

*Lubrication

Pro-lubrication in factory

cs| o4 | cas |
*If used, turbine oil “1 (ISO VG32) is recommended.

Standard Stroke / Cushion Stroke /
Stroke Range

Port size G1/2

Bore size | Standard stroke | Cushion stroke | stroke range
mm mm mm
32 254050 80 20
DING - 40 100 125 160
Tsz Double rod gg 200.250:320 22 10~2000
: Double ro —~
Code K2: Lengthened male 80 400 500 800
Nil: Without thread rod end 100 1000 1200 32
cushion K3: Female thread
DNC: Basic type | PPV: with cushion rod end e 1500 2000 36
HNC: Foot bracket K5: tShtanddarddmaI?j
FNC: Front, Rear flange read rod en H :
ENGHront, Rear flange Ke: Lomaeoasrey  Auto Switch / Min. Stroke when Auto
ZNCM: Center trunnion , Switches are Used
SNCB: Double clevis Nil: Standard

Min. Stroke when

SNCL: Single clevis A: Build-in magnet Bore size auto switches are used Auto switch
mm mm
Notes: 32 17
1. Voltage and current should not be overloaded. 40 21
2. Auto switch should not be linked directly to power, should 50 25
be linked in series with a load in series. 63 25 AL-30R

3. Auto switch should not be close to strong magnetic bodies (Groove mounted)

or magnetic shield is used. 80 25
4. In order to let magnetic switches sense the correct positions 100 25
of piston, the Min. strokes in the table should be kept. 125 25

Construction 4 G\KTT ‘T ‘WEW/@ 8
\ : /
,_‘ I , I 1 I _
Parts List =rT—
No. Description Material No. Description Material
1 Nut 35 10 Tube AB063-TS
2 Rod 45 11 Y-ring NBR
3 Rod seal PU 12 Magnet Magnetic plastic
4 Bushing Oil impregnated alloy 13 Bushing ring F4
5 Tie bolt 35 14 O-ring NBR
6 Front cover ZZnAl4-1 15 Front, Rear piston LY12
7 Cushion seal PU 16 Back nut LY12
8 Cushion sealing pad PU 17 Rear cover ZZnAl4-1
9 Cushion piston POM 18 Adjusting screw HPb59-1

3.005



ASXPC, oo evn vevnne L

sSaw

Dimensions (mm)

Basic Type Symbol
QDNC---PPV-A @
7B+ L4
L2 L3+
AM WH L7 EE 8-D7 SW2
SWi1 VD

DBd11
P D2f8
e——>|
KK
>
|
( )
i
S
L
IRAEDN
S
®B
1
D5
E

(o)
g (@)
D5
L6 L5 E
Boresize |AM|B|D2| D5 |D7 | E | EE |J3 (J4| KK |L2| L3 [L4| L5 L6 |L7| L8 SW1|SW2 VD |WH|ZB
32 22 (30| 12|32.5| M6 |45|G1/8| 6 |5.2|M10x1.25/41.6| 62.8|4 |25.1/16 [3.3| 10 | 10 | 6 | 18 | 26 | 120
40 24 |35/ 16| 38 | M6 |54 |G1/4| 8 |6 |M12x1.25 44 | 77 |4 /296 16 [3.6(10.5 13 | 6 |21.5/ 30 [135
50 32 |40| 90 |46.5| M8 | 64| G1/4| 10 |8.5| M16X1.5 | 51 | 78 |4 |29.6(17 |51/ 115 17 | 8 | 28 | 37 | 143
63 32 |45|20|56.5| M8 | 75| G3/8 [12.4|10| M16X1.5 | 54 | 87 |4 |356/17 [6.6| 15| 17 | 8 |285| 37 [158
80 40 [45|25| 72 [M10| 93| G3/8 125/ 8 | M20X 1.5 [62.4] 95.2| 4 [35.9| 17 10.515.7| 22 | 10 |34.7| 46 | 174
100 |40 |55/ 25| 89 |[M10{110| G1/2 [11.8/10| M20X 1.5 |69.8/100.4 4 |38.8|17 | 8 |19.2| 22 | 10 |38.2 51 | 189
125 |54 |60/ 32] 110 |M12[134/ G1/2| 13 | 8 | M27x2 | 84 | 122 | 6| 46 |22 |14 22 | 10 | 46 | 65 | 225
Double Rod Symbol

QDNC---PPV-A-S2 ——

Sl 1@ — R
5 [ Wi ‘ I 3
Vo] e 1T

h B ) I S

VD
ZB+ VD
L15++

Borrﬁmsize B L15 o 7
32 30 146 18 120
Y 35 165 215 135
50 40 180 28 143
63 45 195 28.5 158
80 45 220 34.7 174
100 55 240 282 s
125 60 290 46 925

3.006



ASXPC, oo evn vevnne L

sSaw

Accessories
Foot Bracket
QHNC--PPV-A
XA+ AO
~—©)
. © © A\
B o] e )
i - 1 @ E
7 C :
e/ S
4-®AB
C1 TR
SA+ E
Boresize | parts No. AB AH AO c1 E HA SA TR XA
32 DNC-L03 7 32 6.5 30.5 45 5 142 32 144
40 DNC-L04 10 36 9 37 54 5 161 36 163
50 DNC-L05 10 45 105 415 64 6 170 45 175
63 DNC-L06 10 50 125 445 75 6 185 50 190
80 DNC-L08 12 63 15 56 93 6 210 63 215
100 DNC-L10 145 71 175 58.5 110 6 220 75 230
125 DNC-L12 16 90 18 63 134 8 250 90 270
Front, Rear Flange
E2
QFNC--PPV-A R
Front Flange Rear Flange 4 OFB
[GR¢
R
oY\ e AR
: ©
QO ©
] V%
w H3',
ZF+
Boresize | partsNo. E2 FB H13 H3 R TF UF w zF
32 DNC-F03 50 7 10 32 64 80 16 130
40 DNC-F04 55 9 10 36 72 90 20 145
50 DNC-F05 65 9 12 45 90 110 25 155
63 DNC-F06 75 9 12 50 100 125 25 170
80 DNC-F08 100 12 16 63 126 154 30 190
100 DNC-F10 120 14 16 75 150 186 35 205
125 DNC-F12 140 16 20 90 180 224 45 245

3.007



ASXPC, oo evn vevnne L

sQW

Front, Rear Trunnion
QZNCF----PPV-A

Trunnion Bracket
L TL ™ TL 2-0S8

T6

H7

(
8o & 12/o]- (ﬁ@%
) 4R, O==g© : |
e

Seliz sils PartsNo. | C2 | C3 | E | G4 | G5|H7| J6|L10/ L11| S7| S8| T4| T5| T6 | T7 |TD eom7| TL | TM
32 DNC-TO3 | 71 | 86 | 45 | 32| 46 |32 | 16| 18|128| 6.6/ 11| 15| 18 | 6.8 105 12 |12 | 50
40 DNC-T04 | 87 |105| 54 | 36 | 55 |36 | 20| 20145 9 | 15| 18| 21| 9 | 12| 16 |16 63
50 DNC-TO5 | 99 | 117 | 64 | 36 | 55|36 | 24| 25155 9 | 15| 18| 21| 9 | 12| 16 | 16| 75
63 DNC-TO6 | 116 | 136| 75 | 42 | 65 |42 | 24| 25170 11| 18| 20| 23 | 11 | 13 | 20 | 20| 90
80 DNC-TO8 | 136 | 156 | 93 | 42 | 65 |42 | 28| 32(188| 11| 18| 20| 23 | 11 | 13| 20 |20 | 110
100 DNC-T10 | 164 | 189 | 110| 50 | 75 |50 | 38| 32 |208| 14| 20| 25(285| 13| 16 | 25 | 25132
125 DNC-T12 | 192|217 |158| 50 | 75 |50 | 30| 50 | 240| 14| 20| 25|285| 13| 16 | 25 | 25160

Center Trunnion
QZNCM----PPV-A

L8+

XV + (1/2stroke)
L9 2-0TD
M M 7 2
| D i
. @ 7@ oo [ U/f- %@F- s
G e o | IR
‘ i QO
O U O elal | -
OTD)
J5 uw
Bore size | pgrigNo, c2 c3 J5 L8 L9 | TDeamn7| TL ™ uw XV
32 DNC-M03 71 86 30 79.9 66.1 12 12 50 65 73
40 DNC-M04 87 105 32 89.4 75.6 16 16 63 75 82.5
50 DNC-MO05 99 117 34 94.4 83.6 16 16 75 95 90
63 DNC-M06 116 136 41 101.9 93.1 20 20 90 105 97.5
80 DNC-M08 136 156 44 118.1 | 103.9 20 20 110 130 110
100 DNC-M10 164 189 48 1262 | 113.8 25 25 132 145 120
125 DNC-M12 192 217 30 155.3 | 1347 25 25 160 158 145

3.008



ASXPC, oo evn vevnne L

sSaw

Double Clevis
QSNCB---PPV-A

N

(
|
e
£\
®
|
-

H2 ®CD

XD+

Single Clevis
QSNCL:--PPV-A

Q&

\J
\./&7

H2 ®CD
L
XD+
B i Parts No. Parts No.

O ~® | (Double) (Single) c8 co ES H2 L MR us XD
32 DNC-D03 DNC-C03 26 10 55 6 13 10 45 142
40 DNC-D04 DNC-C04 28 12 63 6 16 12 52 160
50 DNC-D05 DNC-CO05 32 12 71 7 16 12 60 170
63 DNC-D06 DNC-C06 40 16 83 7 21 16 70 190
80 DNC-D08 DNC-C08 50 16 103 10.5 22 16 90 210
100 DNC-D10 DNC-C10 60 20 127 10.5 27 20 110 230
125 DNC-D12 DNC-C12 70 25 138 10.5 36 25 120 275

Note: The double clevis bracket of QC95 series (C95-E03~E10) can be used in this series.

3.009



MMKSXPC,

SHANGHAI

N—
sQw

XINGYICK PNEUMATIC

ISO15552 Standard Cylinder
QC95 Series (©32~®200)

Meeting the Standards of VDMA24562

DIN24335 1SO15552

How to Order

Bore size 32\ 40 \ 50 \ 63 | 80 \ 100 | 125\160\200
Fluid Filtered compressed air
Acting type Double acting
Max. Operating pressure 1.0MPa
Min. Operating pressure 0.1MPa
Cushion Air cushion (standard)
Ambient temperature 5~60°C
Piston speed 50~500mm/s

Stroke allowance 0~250%° 251~1000%° 1001~1500%°

*Lubrication Pro-lubrication in factory

c1g G4 | Gas | 12 | Gaa

Port size

*If used, turbine oil “1 (ISO VG32) is recommended.

Standard Stroke / Cushion Stroke /
Auto Switch

. Cushion|  Auto switch and Mounting parts
Bore sizeStandard stroke
QC 95  40-100- e o CUELE o i e | Auphe (e © Gpe
1 - 2(2) 18.8 BT-03
Code Stroke 18.8
Nil: Standard | 80 | 22405075 | 513 5705 AL-30R
Series XC8: Adjustable 63 80 125 150 21.3 |QCK2400
C95: Standard Bore size Sroke m |80 | 160175200 | 30.3 args | KR40
A Type(Tube) 100 250 300 400 29.3 |QCK2422
C95A: C Type . . - QCK2422A
(Tube) Nil: Air cushion 125 500 40.0 BT-12
N: No cushion 160 40.0 BT-16
Nil: Standard H: Low pressure hydraulic :
D: Build-in 200 50.0 BT-20
magnet B: Basic type Option: Non-standard stroke.
Nil: Singl L: Foot bracket F: Front flange Notes:
Nil: Singlerod | T. Genter trunnion  C: Single clevis 1. Voltage and current should not be overloaded.
W: Double rod D: Double clevis  G: Rear flange 2. Auto switch should not be linked directly to power, should be linked in
series with a load in series.
3. Auto switch should not be close to strong magnetic bodies or magnetic
H shield is used.
ConStrUCtlon 4. For trunnion, please consult factory.
? KT G\Qf\aif g/@/@/@ Aluminium alloy tube
— ‘ Z
]& ‘ 17 AType
|
g. ﬁ: Standard of 1SO6431
Parts List
No Description Material No. Description Material
1 Rod Carbon steel 12 Y-ring NBR
2 Rod nut Carbon steel 13 Wearing ring F4
3 Rod seal NBR 14 Magnet Magnetic plastic
4 Bushing F4 15 Rear piston Aluminium Alloy
5 Front cover Die casting aluminium 16 | Rear cushion piston Aluminium Alloy
6 Cushion seal NBR 17 Screw Carbon steel
7 Tube seal NBR 18 Rear cover Die casting aluminium
8 Tube Aluminium Alloy 19 Adjusting screw Brass
9 | Front cushion piston Aluminium Alloy 20 O-ring NBR
10 O-ring NBR 21 Tie bolt Carbon steel
11 Front piston Aluminium Alloy

3.010



ASXPC. oo e e

sQW
Seal List
Parts No.
No. |Description | Material
©32 | ©40 | ©50 063 ©80 | ©100 | ®125 | ®160 | ®200
Ay3002
MITSUBISHI
3 | Combination | NBR | DRP12 | DRP16 | DRP20 | DRP20 | DRP25 | DRP30 | P5008 | DRP40 | DRP40
wiper PARKER
. PARKER \gr | PP1622 | PP2028 | PP2533 | PP2533 | PP3040 | PP40S0 | PP4050 | PP50G0 | PP5060
Cushion seal N3589 | N3589 | N3589 | N3589 | N3589 | N3589 | N3589 | N3589 | N3589
12 M'Tilr-i’r?és"" NBR | COP32 | DOL30 | DOL40 | DOL53 | DOL70 | DOL85 | DOL110 | DOL145 | DOL180

Dimensions (mm)

Air cushion sw MM G 2-P G

. W X Portsi
Basic Type o s T ]
QC95 I = - -k
\ i
Symbol = j} N 1l o 1 L
ee |
S A D = s ] = I | |
.\ }
N
MA
A K| F N 2x4-J N
0c H S+ VA
B 77+
Bore|Stroke
size|range| A|B |C |D|/E |[F |G |H | I J |[MA| MM | N | P |S|SWVA|(X |2Z K | W|U
mm mm
32 ~500 | 22 | 46 |32.5/12| 30 | 15| 13 | 48 |19.5/ M6X1.0 | 16 |(M10X1.25| 26 |G1/8|94 | 15| 4 | 4 |146) 6 |6.5| 6
40 ~500 | 24 | 52| 38 |16| 35 |17 | 14 | 54| 21 | M6X1.0 | 16 |[M12X1.25| 26 |G1/4|105| 17 | 4 | 4 |163|6.5| 9 | 6
50 ~600 | 32 | 65 |46.5/20| 40 | 24 (15.5| 69 | 29 |M8X1.25| 16 | M16X1.5|29.5|(G1/4 |106| 22 | 4 | 5 |179| 8 |10.5 7
63 ~600 | 32 | 75|56.5/20| 45 | 24 |16.5| 69 | 29 (M8X1.25| 16 | M16X1.5|29.5/G3/8 |121| 22 | 4 | 9 |194) 8 | 12| 7
80 | —1000| 40 | 95| 72 |25| 45 | 30| 19 | 86 | 37 [IM10X1.5| 16 | M20X1.5| 35 |G3/8|128| 26 | 4 |11.5/218| 10| 14 | 8
100 | —1000 | 40 | 114| 89 |30| 55 | 32| 19 | 91 | 37 [M10X1.5| 16 | M20X1.5| 35 |G1/2|138| 26 | 4 | 17 |233| 10| 15| 8
125 | —1200 | 54 | 140| 110| 32| 60 | 45| 23 | 119]| 51 M12 20 | M27X2 | 46 |G1/2|160| 38 | 6 | 10 [279]| 16 | 17 |12
160 | —1200 | 72 | 180| 140|40| 65 | 58 | 25 |152| 69 M16 24 | M36X2 | 50 |G3/4|180| 48 | 4 | 18 |332| 12| 25|15
200 | —1500 | 72 | 220|175|40| 75 |60 | 25 |167| 69 M16 24 | M36X2 | 50 |G3/4|180| 48 | 5 | 18 |347| 16 | 25|15
Double Rod MM T MM
QCO5wWB ® ¢
L _
|
Symbol - L _— -
B ‘
A E F, K A
H H+
ZY++
Bore size ZY H F MM
mm
32 190 48 15 M10X 1.25
40 213 54 17 M12X1.25
50 244 69 24 M16X1.5
63 259 69 24 M16X1.5
80 300 86 30 M20X 1.5
100 320 91 32 M20X 1.5
125 398 119 45 M27 X 2
160 484 152 58 M36 X 2
200 514 167 60 M36 X 2

3.011



MMKSXPC,

N —
SHANGHAI XINGYICK PNEUMATIC 'A‘()”I
RS
Accessories
Foot Bracket Front Flange Center Trunnion
XV+1/2 Stroke o
Q|
- [a)
T ,r o g
L | _ 1. ]
- NiE (@) mEE
©AB _ e\ z O =
e o :
g TR MF TE s
a0 |sa | E1 W UF ° Ly IS ™ I5
Abpplicqble Foot bracket Front flange Center trunnion
Ore:'2¢ | partsno.|AH| E1| TR|AB|SA|AO| AT | Partsno.| FB| R |E2| TF| UF |W [MF| Partsno. | TL | TM| TD|UW| XV | L1
32 C95-L03 (32| 48| 32| 7 | 24| 10| 4 C95-F03 7132|50|64| 79 [16 |10 C95-T03 12 | 50| 12| 49| 73 | 18
40 C95-L04 (36| 55|36 | 9 [28]| 11| 4 C95-F04 9 |36|55|72| 90 (20|10 C95-T04 16 | 63| 16 | 58 |82.5| 22
50 C95-L05 (45| 68| 45| 9 [ 32]12| 5 C95-F05 9| 45|70 (90| 110(25 |12 C95-T05 16 | 75| 16| 71| 90 | 24
63 C95-L06 |50 | 80| 50| 9 [32]12| 5 C95-F06 9 | 50|80 100/ 120|25 | 12 C95-T06 20 | 90| 20 | 87 |97.5| 28
80 C95-L08 | 63 [100| 63 |12 41| 14| 6 C95-F08 12| 63 |100|126| 153|30 | 16 C95-T08 20 | 110| 20 |110| 110| 34
100 C95-L10 | 71|120| 75 |14 | 41| 16| 6 | C95-F10 | 14| 75|120/150| 17835 |16 | C95-T10 25 | 132 25 136|120 40
125 C95-L12 | 90 [ 140/ 90 | 16 | 45| 20| 8 C95-F12 16 | 90 |140/180| 220 |45 | 20 C95-T12 25 | 160| 25|160|145| 44
160 C95-L16 [115/184| 115/ 18 |60 | 25| 9 | C95-F16 | 18 |115/180|230(280|60 |20 C95-T16 32 | 200| 32 |200|170| 48
200 C95-L.20 |135|228|135|24 | 70| 30| 12 | C95-F20 | 22 |135/220|270|315|70 |25 C95-T20 32 | 250| 32 |240|185| 48
Single Clevis Double Clevis Double Clevis Bracket
(2}
©CDHO, G1 EM z
& ‘ g
|
F——— S\ !
T} o | SN \/ \ 4
- — <
Ny 1l | G S | L I 002 o
‘*’*'*' 1 i I [
CcB 08, |5
uB L, MR G2 K1
EW EB XD G3 K2
AbPP|i°a.ble Single clevis and Double clevis Double clevis bracket
ore $12€ [ partsno. (Singie) [EW [CD | L MR XD | CB| UB | EB | Parts no.(Double) | Partsno.| d2 | CK| S | K1| K2 L3 | G1] L1 | G2| EM[G3[CA|H6]R1
32 €95-C03 26 |10 | 12 [ 95| 22| 26| 45 | 65 €95-D03 C95-E03 | 11|10 | 6.6]38 | 51] 10 21| 7 | 18] 26[31[32[8 [10
40 €95-C04 28 |12 | 15 | 12 | 25| 28| 52 | 75 C95-D04 C95-E04 | 11| 12 | 66| 41| 54| 10| 24| 9 | 22| 2835 |36 10| 1
50 C95-C05 32 [ 12 | 15 [ 12| 27| 32| 60 | 80 €95-D05 C95-E05 | 15| 12 | 9 |50 | 65] 12| 33| 11 | 30| 32 [45 |45 [12]12
63 C95-C06 40 | 16 | 20 | 16 | 32 | 40| 70 | 90 C95-D06 C95-E06 | 15| 16 | 9 | 52| 67| 14 | 37| 11 | 35| 40 |50 | 50 |12 [15
80 €95-C08 50 | 16 | 20 | 16 | 36 | 50 | 90 [ 110 €95-D08 C95-E08 | 18 | 16 | 11 | 66 | 86| 18 | 47|12.5) 40| 50 | 60 | 63 |14 |15
100 C95-C10 60 | 20 | 25 | 20 | 41| 60 | 110 | 140 C95-D10 C95-E10 | 18 | 20 | 11 | 76 | 96| 20 | 55| 13.5] 50| 60 | 70 | 71|15 |19
125 C95-C12 70 [ 25 | 30 | 25 | 50 | 70 | 120 | 148 C95-D12
160 C95-C16 90 |30 | 35 | 25 | 55| 90| 160 | 188 C95-D16
200 €95-C20 90 | 30 | 35 | 25 | 60 | 90 | 160 | 188 €95-D20
I-Type Rod Spherical Bearing Clevis Y-Type Rod Clevis
®DHY
OFh8
3 3 .
o =
A e |
X " A\ )—
5 v o
< } - A c
‘ h
Applicable |I-Type Rod Clevis Applicable Y-Type Rod Clevis
bor%ns;lze Parts no. dc ba|bc| D [de|[df|[dg| h [ L[ic|R b°',%,ﬁ'ze Parts no. a e b |c|d|[F[ali
32 KJ10D (M10x<1.25| 14 10.5 10| 17 |26 | 19| 43 | 20| 14|13 32 GKM10-20 20 |M10Xx1.25/ 10 |20 40|10 | 26|12
40 KJ12D (M12x<1.25|/16 |12 | 12| 19|30 | 22| 50| 22| 16|13 40 GKM12-24 24 |M12X1.25|/ 12 |24 48|12 | 31|15
50 M16x<1.5 |21 |15 | 16|22 |42 | 27 | 64 | 28| 22|15 50 32| M16x1.5 |16 |32 |64 |16 |39/19
KJ16D GKM16-32
63 M16x<1.5 |21 |15 |16 |22 |42 | 27 | 64 | 28| 22|15 63 32| M16x<1.5 |16 |32 |64 |16 |39/19
80 M20x<1.5 (25|18 | 20| 30|50 | 34|77 |33|26|15 80 40 | M20>X1.5| 20 (40|80 |20 | 53|24
——— 1 KJ20D GKM20-40
100 M20x<1.5 | 25| 18 30|50 |34 |77|33|26|15 100 40 | M20>X1.5| 20 (40|80 |20 | 53|24
125 KJ27D | M27x2 |37 |25|30|41|70|50|110/51|36|15 125 GKM27-54 | 55| M27x2 |30 |54|110|30 | 74|30
160 M36 <2 43 |28 | 35| 50|80 | 58 |125/ 56| 41|15 160 70 M36 X< 2 35 | 72 (144/ 35 | 91|40
KJ36D GKM36-72
200 M36 X< 2 43 |28 | 35|50 |80 | 58 |125/ 56| 41|15 200 70 M36 X< 2 35 | 72 (144/ 35 | 91|40

3.012




MMKSXPC,

SHANGHAI XINGYICK PNEUMATIC ‘,}fm
P W
1ISO6430 Standard Square Cylinder
XSC Series  (®32~0100) —— ) ) ) ) )
. 32 40 50 63 80 100
Meeting the Standard of 1SO6430 e
Fluid Filtered compressed air
Acting type Double acting
) ’ . Operati'xg );(iressure 1.0MPa
e = = Min.
A e 7 Operating pressure 0.1MPa
N » Cushion Air cushion (Standard)
). . . Ambient temperature 5~60°C
= ﬂf » Fluid temperature -10~+60°C
» = -~ Piston speed 50~500mm/s
- Stroke allowance 0~250"° 251~1000°5° 1001~2000"%°
g i
> s *Lubrication Pro-lubrication in factory
s 2 Port size G118 | o1 | Gy | eI
*If used, turbine oil*1 (ISO VG32) is recommended.
How to Order : :
Cushion Stroke/Standard Stroke/Auto Switch
X SC 63 X50- - : :
T T - Borg  size Cushu?nrpn stroke Standam stroke Auto switch
Code Stroke Nil: Basic type 32 20
. LB: Foot bracket 40
Series Bore size FA: Front flange 25 40 50 75 80 100
_ FB: Rear flange 50 125 150 160 175 200
Nil: Standard CA: Single clevis 25 KT-50R
S: Build-in magnet CB: Double clevis 63 250 300400 500 600
XC8: Adjustable stroke 700 800 900 1000
Nil: Single rod Nil: Air cushion 0~50mm 80 30
W: Double rod N: No cushion 100
Features

. The cylinder adopted square tube.
. The cylinder bore size is from ®32to ®100,

Notes: Non-standard stroke cylinders made to order.

installation size is meeting the standards of ISO6430.

. On the same side of the port, a slot is available so that auto switch can be built-in and debugged easier.
. More mounting types available except TC ( central trunnion type ).

. The longest stroke is 2 meters.

. The cylinder's front cover and rear cover can be assemble or unassemble respectively so it is much easier to maintain and install.

Construction

Aluminium alloy tube

Standard of 1ISO6430

7

AW

|
\C

]
™

g

NERN o=
| — =]
U
Parts List

No. Description Material No. Description Material
1 Piston rod Carbon steel 11 Piston Aluminium alloy
2 Rod end nut Carbon steel 12 8-ring NBR

& Rod seal NBR 13 O-ring NBR

4 Bushing F4 14 Magnet Magnetic plastics
5) Front cover Die casting aluminium 15 Wearing ring F4

6 Cushion seal PU 16 Rear cover Die casting aluminium
7 O-ring NBR 17 Nut Carbon steel

8 Tube Aluminium alloy 18 Adjusting screw Brass

9 | Front cushion piston Aluminium alloy 19 O-ring NBR

10 O-ring NBR 20 Tie bolt Carbon steel

3.013




ASXPC. oo e e

sQW

Dimensions (mm) Symbol
Basic Type @
XSC
2-Cushion
sSW E F G adjusting screw G 8-L (Depth M)
\ | Opposite sidg
w
33 of of o i
| O [ m¢ n_¢ © I
N 2\ N AY
" N LQ QN 20 )
B C+ Y T
A+ [lE]
Boresizel A | B | C|D|E|F |G [H|I|J K L N/ M| O |PIQ|R|S|T|V | W|lY SW

mm

32 140| 47 |93 | 28 | 32 | 15 |27.5| 22 |17
40 142149 |93 | 32 | 34 | 15 |27.5| 24 |17
50 150| 57 |93 | 38 | 42 | 15 |27.5| 32 |23
63 153| 57 |96 | 38 | 42 | 15 |27.5| 32 |23
80 183| 75 |108| 47 | 54 | 21 | 33 |40 |26
100 [189|75|114| 47|54 |21 | 33 |40 |26

M10X1.25| M6X1 13 |14 |G1/8|5.5(6.5| 6 |46 | 33| 12|10 |3.5|15
M12X1.25) M6X1 13 |14 |G1/4| 6 [55/8.5|50| 37| 16|14 |3.5|17
M16X1.5| M6X1 14 |14 |G1/4| 9 [3.5/85|62| 47|20 |17 |3.5|22
M16x1.5 |M8X1.25|15.5/16 |G3/8| 9 | 2 |10 |75| 56| 20| 17 | 3.5/22
M20x1.5 [M10X1.5|18.5| 19 | G3/8|11.5/2.5( 12 |94 | 70| 25|22 | 4 |26
M20X1.5 |M10X1.5|18.5/19 |G1/2| 11 |1.5| 13 |112| 84| 25|22 | 4 |26

| 00| N[N | o

Double Rod Symbol
XSCW +——

2-Cushion

sSwW E F G adjusting screw G F 8-L (Depth M)
2-Opposite side
w

al > XI [ | ﬂ.¢ ﬂi¢ 7[-] ’ i . 1}
°e e g A3 I

»i<» *A¢ '

H N Q Q N 2-0 H |
B C+ B+ LT N
A++ LIS
Boresizel A | B|C|D |E |[F| G |H|I |J K L N M| O P Q R|S|T|V|W|swW

mm

32 187| 47 |93 | 28 | 32 [15|27.5| 22|17
40  [191|49 |93 | 32|34 |15|27.5/ 24|17
50 |207|57|93 | 38|42 |15(27.5/32|23
63 |210| 57 |96 | 38 | 42 |15|27.5/ 32|23
80 |258| 75|108| 47 | 54 |21| 33 | 40|26
100 |264|75|114| 47|54 |21| 33 | 40|26

M10X1.25| M6X1 13 | 14 |G1/8| 55 65| 6 | 46 | 33| 12|10 |15
M12X1.25| M6X1 13 |14 |G1/4| 6 |55|85|50 (37|16 14 |17
M16X1.5 | M6X1 14 | 14 |G1/4| 9 |3.5|8.5|62|47|20|17 |22
M16X1.5 | M8X1.25|155| 16 |G3/8| 9 | 2 |10 | 75| 56|20 |17 |22
M20X1.5 | M10X1.5|18.5| 19 | G3/8 ([11.5/2.5| 12| 94 | 70| 25|22 | 26
M20X1.5 | M10X1.5(18.5| 19 |G1/2| 11 |1.5/13 |112| 84| 25|22 |26

0|00 | N |IN || O

Note:
More mounting types and dimensions refer to P3.016 ~ P3.019, the same as QSC series standard cylinders(without TC,TC-M mountings).

3.014



ASXPC. oo e e

sQW
ISO6430 Standard Cylinder

QSC Series (®32~®100)
Meeting the Standard of 1SO6430

gl

Bore size 32 \ 40 \ 50 \ 63 \ 80 \ 100
Fluid Filtered compressed air
Acting type Double acting
0pera'(i|r\4|ga )sressure 1.0MPa
Operatirlygnyiressure 0.1MPa
Cushion Air cushion (Standard)
Ambient temperature 5~60°C
Fluid temperature -10~+60°C
Piston speed 50~500mm/s
Stroke ﬁqlrlnowance 0~250"5° 251~1000°° 1001~1500°
*Lubrication Pro-lubrication in factory
Port size G/ | cia | e | o

*If used, turbine oil"1 (ISO VG32) is recommended.

Cushion Stroke / Auto Switch

How to Order

Q SC __63X50- -
‘ 5 ‘ Bore size Csli?gl:%n Auto switch and Mounting parts
Code Stroke Nil: Basic type mm mm Applicable tube O type|Applicable tube B type
. LB: Foot bracket 32 B32
Series Bore size F3: ront fange 20 BT-03
SC: Standard Nil: Standard CA: Single clevis 40
O Type(tube) | |5 Byilduin magnet  CB: Double clevis 50 QCK2400 QCK2400
SCA: B Type(Tube TC: Center trunnion 25 B40 BT-05
Nil: Air cushion XC8: Adjustable stroke 63 QCK2422 QCK2422
. H: Low pressure 0~350mm
Nil: Single rod hydraulic 80 B100
W: Double rod N: No cushion P 30 BT-08
Standard Stroke (mm) Notes:

25 40 50 75 80 100 125 150 160 175 200
250 300 400 500 600 700 800 900 1000

1. Non-standard stroke cylinders made to order.
2. Option: Profile tube B type (without tie rod).

Construction
/ Aluminium alloy tube
a O Type B Type
NI e | (© %@%
2 | a
)
— Standard of 1S06430
: @ 4
Parts List
No. Description Material No. Description Material
1 Piston rod Carbon steel 10 Y-ring NBR
2 Rod end nut Carbon steel 11 Magnet Magnetic plastics
& Rod seal NBR 12 O-ring NBR
4 Bushing Sintered powder brass 13 Rear piston Modified plastics
5 Front cover Die casting aluminium 14 Screw Carbon steel
6 Cushion seal NBR 15 Rear cover Die casting aluminium
7 O-ring NBR 16 Adjusting screw Brass
8 Tube Aluminium alloy 17 O-ring NBR
9 Front piston Modified plastics 18 Tie bolt Carbon steel

3.015



MMKSXPC,

=

SHANGHAI XINGYICK PNEUMATIC o=
sQw
Dimensions (mm)
Basic Type
QSC
SW E G G 2-0
Q M ¥ f:{(
a > ¢ | \ [N ol XV fa)
o 9 | ?DC o 4 S
FanY ™
e AV —k
Sl Q Q
H N SN 2-Cushion
Opposite side W, B C+ Yy \ adjusting screw 8-L (Depth M)
A+
B°r:m5izeABCDEFGHJ K L N (M| o [PlQ/R|S|T|V | w|y|sw
32 (140|47|93 |28 |32|15|27.5|22| 6 |M10x1.25| M6x1 | 14 |13 |G1/8| 6 |8.5| 6 | 46| 33| 12| 10|3.5|15
40 |142] 49|93 |32 |34[15(27.5|24 | 6 | M12X1.25| M6x1 | 14 | 13 |G1/4| 6 |8.5|8.5|50| 37| 16| 14 |3.5/17
50 |150|57|93 |38 [42|15|27.5|32| 7 | M16X1.5 | M6x1 | 14 |13 |G1/4| 7 |8.5|8.5|62| 47| 20|17 |3.5|22
63 |153|57|96 |38 [42|15|27.5|32| 7 | M16X1.5 | M8x1.25 | 14 | 13 |G3/8 | 7 |8.5|8.5| 75| 56| 20| 17 | 3.5| 22
80 |183|75(108 |47 |54|21| 33 | 40| 8 | M20X1.5 | M10X1.5 |16.5| 15 |G3/8 | 7 | 10| 10|94 | 70| 25| 22 26
100 |189| 75114 |47 |54 (21| 33 40| 8 | M20x1.5 | M10X1.5 |16.5| 15 |G1/2| 7 | 10| 10 |112| 84 | 25| 22 26
Accessories
LB Foot Bracket FA,FB Front, Rear Flange
— ] — f : ; )
= ol . ol A ° L.
ﬂ:g‘ $l < RO E:=) ﬂ$l \g\\ijg; @ @
\ Vg = E -
o+ - 2 L0~ ©°©
Z | =
‘ AF | 4-0AB 4-0BP, BF
AQ, AL « AE , F BE
Applicable LB Foot bracket Applicable FA,FB Front, rear flange
boresize | poiisNo. | aB| AE|AF| AH | AL | A0 | As AT || PP 5128 | partsNo. |BD| Bc | BE | BF | BP | F
32 SC-L03 | 9 | 50 |33 | 28 |205| 95| 50 |3.2 32 SC-F03 | 33 | 47 72 58 10
40 SC-L04 | 12| 57 | 36| 30 |23.5[125 55 |32 40 SC-F04 | 36 | 52 84 70 | 7 | 10
50 SC-L05 | 12| 68 |47 | 36.5| 28 | 12 | 67.5|3.2 50 SC-FO5 | 47 | 65 | 104 | 86 10
63 SC-L06 | 12|80 |56 | 41 | 31 | 13| 79 |3.2 63 SC-FO6 | 56 | 75 | 116 | 98 | 9 | 12
80 SC-L08 (14| 97 |70 | 49 | 30 | 16 | 96 80 SC-FO8 | 70 | 95 | 143 | 119 | 11 | 16
100 SC-L10 | 14 |112|84 | 57 | 30 | 16 | 114 100 SC-F10 | 84 | 115 | 162 | 138 | 11 | 16

3.016




ASXPC. oo e e

SLaV

CB Double clevis CA Single Clevis
MR | | MR
(N W) ] ul
/C 3_'___ﬁ / N /_ i /
5 i R @ L) = @ eyl
(g C ) e
L = s n i CallE®) I
4-®DD, DB:E BT, ®CD H9 4-0D | BT OCDH9
CT CJ CB-o CJ
1S BL 1S BL
Applicable CB Double clevis Applicable CA Single clevis
bore size [5. i<No. | BL| BT|cB|cb|cu[cT/op|MR] s [ T| | P°"©52€ | partsNo. | BL|BT [cB|CD|cu DD |[MR] 8 | T
32 SC-D03 | 19| 8| 16| 12| 13| 32(6.5| 15| 46 | 33 32 SC-CO3 | 19| 8 |16 |12 |12 |6.5| 14 |46 | 33
40 SC-D04 | 19| 8| 20| 14|13|44|6.5| 15| 50| 37 40 SC-C04 | 19| 8 |20 |14 |14 |6.5| 16 |50 | 37
50 SC-D05 | 19| 8 [ 20| 14| 15(52|6.5| 17 | 62 | 47 50 SC-C05 [ 19|10 | 20 | 14 | 14 | 6.5| 16 | 62 | 47
63 SC-D06 | 19| 8 [20| 14| 15(52|8.5| 17| 75| 56 63 SC-C06 | 19|13 |20 |14 | 14 | 85| 16 |75 | 56
80 SC-D08 | 32| 11[32| 20| 21|64| 11 | 23|94 70 80 SC-C08 | 32|18 |32 |20|20| 11| 22|94 |70
100 SC-D10 | 32| 11] 32| 20| 21| 64| 11 | 23|112| 84 100 SC-C10 | 32|18 [ 3220 |20 | 11 | 22 [112] 84

TC Center Trunnion

—_ __ /\ -| -
= @ ) @ 8z
N \ J NE]
UL O N1 o |l &
G G
-0.1
1/2C+ TL T™M.0.4 TL
C+ UM
Applicable TC Center trunnion
bore size | parts No. c G ™ TE L ™ UM uw
32 SC-T03 93 275 16 30 16 55 87 52
40 SC-T04 93 27.5 25 30 25 63 13 59
50 SC-T05 93 27.5 25 30 25 76 126 71
63 SC-T06 96 27.5 25 30 25 88 138 86
80 SC-T08 108 33 25 35 25 114 164 104
100 SC-T10 114 33 25 40 25 132 182 128

3.017



ASXPC. oo e e

sQW
TC-M Center Trunnion with Bracket
TE
¢ —
I = D L~ | . il 2 _ -
) (2 OV 12 ¢ )
. 03 & - - ©
SR R - . I
(O]
F
‘/ o
4-6GB GL GD ™ GD
GK GM
Applicable TC-M Center trunnion bracket
boresize ' iiNo.| GD | cB GE | GH | GK GL | GM Gilj D TE ™ uw
32 SC-S03 | 15 9 66 40 80 60 70 12 16 30 55 52
40 SC-S04 | 23 12 79.5 50 110 80 86 12 25 30 63 59
50 SC-S05 | 23 12 85.5 50 110 80 99 12 25 30 76 71
63 SC-S06 | 23 12 93 50 110 80 111 12 25 30 88 86
80 SC-S08 | 23 14 122 70 120 85 137 14 25 35 114 104
100 SC-S10 | 23 14 134 70 120 85 155 14 25 40 132 128
Y-Type Rod Clevis with Pin
CT
CW, EWL:  CW -
¢ CDH9 ER by
| | %
i f,‘i 1 I | B S
- | e
1]
NS/ .
CP
R
KK
®CF WF
Applicable Y-type rod clevis with pin
boresize b tsNo. | A | Ac|cc | co| cF|cp| et culcv | cw]| b | Er | EW KK WF
32 SC-YO3 | 23 | 55 | 20 | 12 | 24 | 37 | 32 |325| 11| 8 |[115| 12 | 16 | MI0OX1.25 | 22
40 SC-YO4 | 33 | 60 | 20 | 14 | 24 | 49 | 44 | 445 11 | 12 [134 | 12 | 20 | M12x1.25 | 22
50 SC-YO5 | 33 | 60 | 18 | 14 | 28 | 49 | 44 | 445| 11 | 12 [134 | 14 | 20 | M16x15 | 24
63 SC-YO6 | 33 | 60 | 18 | 14 | 28 | 49 | 44 | 445| 11 | 12 [134 | 14 | 20 | M16X15 | 24
80 SC-YO8 | 41 | 80 | 28 | 20 | 36 | 70 | 64 | 645 11| 16 | 19 | 19 | 32 | M20x15 | 34
100 SC-Y10 | 41 | 80 | 28 | 20 | 36 | 70 | 64 | 645 11| 16 | 19 | 19 | 32 | M20x15 | 34

3.018




ASXPC. oo e e

sQW
I-Type Rod Clevis
EWS.: & CDH9 ER
i \J
: N3
=
H [l
<
f
‘ o
KK
®CF WF
Applicable I-type rod clevis
bore size
mm Parts No. A AC cc cD CF ER EW KK WF
32 SC-103 23 55 20 12 24 12 16 M10x 1.25 22
40 SC-104 33 60 20 14 24 12 20 M12x1.25 22
50 SC-105 33 60 20 14 28 14 20 M16% 1.5 24
63 SC-106 33 60 20 14 28 14 20 M16X 1.5 24
80 SC-108 41 85 30 20 36 19 32 M20% 1.5 34
100 SC-110 41 85 30 20 36 19 32 M20% 1.5 34

3.019



MMKSXPC,

Mini Cylinder (Japanese Type)
QCJ2 Series (?6~016)

SHANGHAI

How to Order

XINGYICK PNEUMATIC e
sQwW
Born?n?lze 6 10 16
Fluid Filtered compressed air
Acting type Double acting / Single acting
Max. Operatin
pregsure e O7Mpa
. @6mm: 120KPa
Min. Operating | DOUble acting: g 1omm-~ g 16mm: 60kPa
pressure . .. @6mm: 250KPa
Single acting: g1omm ~@16mm: 150kPa
Cushion Rubber cushion
Ambient °
tem?)‘en!g?ure 5~60'C
Piston speed 50~750mm/s
Stroke all
ro eranmowance 0~+1.0

*Lubrication

Pro-lubrication in factory

Port size

M5X0.8

Port location
on rear cover

Perpendicular 90°

In-line -
In-line

QC J2 10-30 *If used, turbine oil *1 (ISO VG32) is recommended.
Code
Serios Standard Stroke / Auto Switch
Bore | Standard X X
Nil: Standard Stroke Port location on rear cover S1Z8 St;?nke Auto switch | Mounting band
D: Build-in magnet R:in-line
Nil: Double acting 6 | 15304560 PBK-06
B: Basic type Bore size S : Single acting(Spring return) 15304560
D: Double clevis T : Single acting(spring extend) 10 | 75100125 PBK-10
150 AL-03R
Notes:
1. Voltage and current should not be overloaded. 16 15304560 PBK-16
2. Auto switch should not be linked directly to power, 75100125 )
should be linked in series with a load. 150 175 200
3. Auto switch should not be close to strong magnetic
bodies, or magnetic shield is used.
Construction
g - - [
Parts List
No. Description Material No. Description Material

1 Front cover Alum. Alloy 7 Rod nut Carbon steel

2 Rear cover Alum. Alloy 8 Cushion Rubber-plastic composite

3 Tube Cold-drawn stainless steel 9 Y-ring NBR

4 Rod Stainless steel 10 Combinition wiper NBR

5 Piston Alum. Alloy 11 Seal NBR

6 Mounting nut Carbon steel

3.020




ASXPC. oo e e

sQw

Dlmen3|9ns(mm) Symbol
Double Acting E]
«©
QCJZB6 " N g oA M550.8 Double acting
Q. [ =
RN
A FT. NA NB
H S+
Z+
QCJ2B10~16 2
z
S
MM NN GA M5Xx0.8 GB
[« N o M5x0.8
St & :
y N . (/)
A
A NA NB 1B
H S+ ||
Z+
Bore
size | A| B|C | D | F |GA|GB | H MM NA | NB ND NN s| T |z
mm
6 15 | 12 | 14 | 3 | 8 [145| - | 28| M3x05 | 16 | 7 6 M6x1.0 | 49| 3 | 77
10 | 15| 12|14 | 4 | 8 | 8 | 5 | 28| M4x0.7 |125| 9.5 8 M8x1.0 | 46| - | 74
16 | 15 | 18| 20 | 5 | 8 | 8 | 5 | 28| M5x0.8 |12.5/ 9.5 10 | M10x1.0 | 47| - | 75

Double Acting (Double Clevis)
QCJ2D10~16

H S+ R @ CDH9

cz MM U
) " -
CX:52 2-M5x0.8 NB Pin @ cdd9
LCA, i GB ©
T'\ h =T T

Z+ |
zZ+

4D

TH

Bore
size A B (o} (Cc?)

mm

10 15 12 | 14 | 3.3 | 3.2 | 12 4 8 18 28 | M4Xx0.7 ({125 ]225| 5 46 8 82 93
16 15 18 | 20 5 6.5 | 18 5 8 23 28 | M5%X0.8 [12.5[27.5]| 8 47 | 10 85 99

3.021

CX | Cz D GA GB | H MM NA [ NB | R S V) z 2z




///KSXPC® SHANGHAI (2

XINGYICK PNEUMATIC

sQW
Symbol
Single Acting-S (Spring Return) Single aci
QCJ2B6~10~16 MM NN #NDh8 GB. M5x0.8 (S:Spring return)
o QO M5x0.8
Y A
* ) * .
Port in line with cylinder axis
A F | .NA NB OB .
H S+
7+
Bore S z
size| A B|C|D |F [GBlH MM NA/NB| ND NN 5~ [16~|31~|46~|61~|76~101~126~ 5~ |16~|31~|46~|61~[76~ 101~126~
mm 15 |30 [45 |60 |75 |1001125 150 | 15|30 (45 |60 |75 [100 125 [150
6 |15/ 8 (14| 3|8 | - (28| M3X0.5 |3 |7 6 M6 <1 (ggig)(g:g)é;g)(gé:g) - -] - (g;g)(;ég)(;g:g)(gi:g) Sl - -] -
10 |15(12(14| 4 | 8 | 5 |28| M4X0.7 |5.5|9.5 8 M8X1 |45.5/53|65|77| - | - | - - [73.981[93|105 - | - - -
16 [15/18(20| 5| 8 | 5 (28| M5X0.8 |5.5/9.5| 10 M10X 1|45.5/ 54|66 | 78 | 84 |108[126(138[73.5 82 | 94 |106|112/136 |154|166

*( ) When auto switch is used

Single Acting-S(Spring Extend, Double Clevis)

QCJ2D10~16 cz MM H S+ U R % CDH9
M5x0.8 NB Pin @ Cdd9
CX53 oB
‘ > ()
N ) R e r
- RS j Sum——— x|
é}EE'» clevistg?:cket} ] {\k
S =S
= T
e N
. A NA - ]
[: TY
™W
Z+
S z
Bore Al B|c|colcx|cz|DlcB H| MM |NA| NB | R | U 5= [16-[31] 46-[e1-|76-[101d126 5~ [16-[a1-[46~[61~[76-] 101 126-
mm (cd) 15 |30 (45 | 60 |75 |100{125 [150 | 15 |30 |45 (60 |75 (100 | 125 | 150
10 [15[12]14]3.3]3.2/12]4 |18 20 Max07|5.5(22.5| 5 | 8 455/ 53| 65| 77| - | - | - | - [73.5] 81]93]105] - [ - | - | -
16 |15(18/20| 5 16.5/18|5(23|20|M5x0.8/5.5|27.5| 8 |10|45.5| 54 | 66| 78|84 |108/126|138|75.5| 84| 96 [108|114/138| 156|168

Single Acting-T (Spring Extend)

[ee]
o NNOB GA M5x0.8 Symbol
4
QCJZBG 2 h —\ / & 45@
e ! Single acting
A Flrl Na B (T:Spring extend)
18 H+ S+ B
Z++ .
]
QCJ2B10~16 MM NN 8 eA M5x0.8
% 2
A F | NA NB
OB H+ S+
Z++
Bore S Z
size|/AlB|Cc |D|/F|IGAI/H| MM |NAINB ND | NN |T | 5~ |16~|31~|46~|61~|76~1101-4126+ 5~ [16~|31~|46~|61~[76~ 101126
mm 15 |30 |45 |60 |75 (1001125 150 (15 |30 |45 |60 |75 (100125 1150
465 | 555 595|735 745835 87.5]1015
6 (1512|1438 14.528|M3X0.5|(16 | 3 6 M6X1 | 3 |515)|605)|645)785| - | - | - | - |795)@85)|©025) 1065 - | - | - | -

10 151214148 | 8 |28|M4X0.7[12.5/5.5| 8 M8X1 | - 148.5/56 | 68|80 - |- | -1[6.584 961108 - | - | - | -

16 (15182058 | 8 |28|M5X0.812.5/5.5| 16 [M10X1| - |48.5/57 |69 |81 87 |111[12914176.5 85| 97(109|115/139/157|169
*( ) When auto switch is used

3.022




ASXPC. oo e e

Single Acting-T(Spring Extend, Double Clevis)

QCJ2D10~16 % MM H+ S+ U R _  #CDHY
- M5x0.8 NB
CX ‘\ a GA y
—— Sy
G e H < — 4’?
=t T-tgpe -
T ! clevis bracket
~ ‘ !
. LlJrLT A NA = O
X
v | \4-¢TC Z+* L*Tg"
Bore cD S Z
size|A| B |C |(cq)CX|CZ|D|GA/H MM |NAINB|R U | 5~ [16~|31~|46~61~76~101~126~ 5~ |16~ 31~ 46~|61~| 76~ 101~ 126~
mm 15 |30 |45 |60 (75 [100(125 [150 | 15 |30 |45 |60 |75 100|125 (150
10 (15/12|14|3.3/3.2/12|4 | 8 |28/ M4X0.7[12.5/18.5/5 |8 |48.5/ 56| 68 | 80| - | - | - | - |84.5| 92 [104|116| - | - - -
16 [15/18/20| 5 16.5/18|5| 8 |28/ M5x0.8/12.5/23.5/|8 [10|48.5 57 | 69 | 81|87|111/129(141|86.5| 95 | 107|119(125|149| 167|179

Accessories
d
d

Foot Bracket 2-0LC Flange Rod End Nut r
I Mounting hole
><I >_4[‘<4? - 4{5—] ’ Cover surface level @&[
fffffffffffffffffff A :
o
| B

a0,

Mounting Nut;A

%

_ ‘ _ Cover surface level ‘@&E i @ E?

©) o % FT E)z( 2-9FC
Aﬁ%?gc;::: B Foot bracket Parts Flange Parts | Mountingnut | parts | Rod end nut
Ne- lislic|uH| x [ v| x| Ly [z| No. [rB|Fc|FX|FY|FZ/FT| No. [B[c | d No. IB|c| d |H

(. X
L L

Mounting hole
mm

v H

6 |cu-Log|13]4.5 9 12| 7| 24[16.5)32|CJ-F06| 11 |4.5/24 |14 |32]1.6/CJ-06B| 8 | 9.2 | M6x 1] 4 |CJ-06A/5.56.4|M3x0.52.4
7 4
9 4

10 |CJ-L10| 15|4.5/ 9 |12 24116.5|32|CJ-F10(13 [4.5/24 |14 |32|1.6|CJ-10B|11 |12.7| M8X1 CJ-10A| 7 |8.1/M4X0.7|3.2
16 [CJ-L16|23|5.5(14|15 33| 25 |42|CJ-F16|19 |5.5/33 |20 (42|2.3|CJ-16B|14 [16.2|M10X1 CJ-16A| 8 |9.2|M5X0.8| 4

T-type Bracket Pin of Double Clevis
Double clevis cylinder 4 TH L
Va IV 3 +0.2 n
v’ M tM
sore A7 | Y EbJL‘L’ i ! 2
SR \ o
>| . T X
ol aiens AL =
Ty ~ v
o
# TDH10 | Pin of double clevis
TY
W TT

%%egcsailzalee Parts T-type bracket Parts Pin of double clevis
mm No. | TC TD TH|TK|TN| TT | TU | TV | TW| TX | TY No. D d| L[ I | M|t
10 CJ-T10 [4.5 3.3 29 (18 |3.1] 2 9 [ 40| 22|32 |12 | CJ-J10 3.3 3 [15.2(12.2/1.2 /0.3
16 CJ-T16 |5.5 5 35120 |6.4(2.3| 14|48 | 28 |38 | 16 | CJ-J16 5 4.8 122.7/18.3/ 1.5 | 0.7

I-type Rod Clevis Y-type Rod Clevis Pin of Rod Clevis

87| ome (5 | o] L
—t—1 “ N T — mt | tm 2
‘ a
7 L1 7 L1 =
#NDH10 Al MM ¢"‘JDH10 A1 MM B —
33 | ~ ol s | /]
Z < 5 i = < 1
91 ‘ u1s?

Abpoprgcsailz)ée Parts I-type rod clevis Parts Y-type rod clevis Parts Pin of rod clevis
mm No. | A1|ND|L1| MM |U1/NX|R1| No. |A1| ND [L1] MM |U1NX|R1| No. | D | L |d| | m|t
10 CJ-110| 8 (3.3|21|M4Xx0.7] 9 |3.1| 8 |CJ-Y10| 8 | 3.3 |21|M4X0.7/10|3.2| 8 |IY-J10| 3.3 [16.2] 3 12.2/1.7/0.3
16 CJ-116] 8 | 5 |25|M5X0.8/14(6.4|12|CJ-Y16| 11 5 21|M5X0.8/10|6.5|{12|1Y-J16| 5 [16.64.812.2/1.5/0.7

3.023



MMKSXPC,

SHANGHAI

Small Size Cylinder (Japenese Type)
QCM2 Series (920~ ®40)

How to Order

QC_M2__
Code ]-
Series

Nil: Standard
D: Build-in magnet

Nil: Carbon steel rod(standard)
S: Stainless steel rod

Nil: Single rod
W: Double rod

B: Basic type

Nil: Rubber cushion

XINGYICK PNEUMATIC e
sSQw
Bore size 20 25 32 40
Fluid Filtered compressed air
Acting type Double acting / Single acting
Mo osurs 1.0MPa
Min. Operating Double acting: 0.1MPa
pressure Single acting:  0.2MPa
Cushion Rubber cushion (standard), air cushion (option)
te%rr')‘gtiga}re 5~60C
Piston speed 50~500mm/s
Strokeallowance | 250" 251~1000°  1001~1500%"
*Lubrication Pro-lubrication in factory
Port size G1/8 ‘ G1/4

*If used, turbine oil “1 (ISO VG32) is recommended.

Standard Stroke / Auto Switch

A: Adjustable air cushion
H: Low pressure hydraulic

Construction

S: Single actin
(Spngng return) 9

T: Single acting

(Spring extend)

40-100 - Bore Statndlfrd Auto switch
mm mm Auto switch MUING A uto switch g
20 2550 75 100 A-20 PBK-20
25 125150 175 |QCK2400| A-25 AL-03R PBK-25
32 |200 250 300 |QCK2422| A 35 PBK.32
500

Nil: Standard 40 A-40 PBK-40

Stroke] XC8: Adjustable stroke Option: Non-standard stroke.

0~50mm
Notes:
) ) ) 1. Voltage and current should not be overloaded.

Bore size Nil: Double acting 2. Auto switch should not be linked directly to power,

should be linked in series with a load in series.
3. Auto switch should not be close to strong magnetic
bodies or magnetic shield is used.

| —

R

/A

M SN

N
l

o |
(L \ J
Parts List
No. Description Material No. Description Material

1 Piston rod Carbon steel / Stainless steel 8 Seal glue Anaerobic glue
2 Rod end nut Carbon steel 9 8-ring NBR
5 Front cover Alum. Alloy 10 Front piston Alum. Alloy
4 | Combinition wiper PU 11 Magnet Magnetic-plastics
5 Bushing Sintered powder brass 12 Rear piston Alum. Alloy
6 Tube Cold-drawn stainless steel 13 Rear cushion NBR
7 Front cushion NBR 14 Rear cover Alum. Alloy

3.024



ASXPC. oo e e

sQw

Dimensions (mm) Symbel +— | H‘

Basic Type
QCM2B Air Cushion
Opposite side B2 ."_@ G 2-p G 2-NN WB
B1 H
G N A _
Co e :
ASY
S - - &
] w/ | | P )
A Kl LFE[ N N
H S+ F
77+
Bore
size A|AL | B1 B2 D/ E|F |G| H|H1H2 | K MM N [ NA NN P S | WA|WB |2z
mm
20 181155/ 12| 26| 8 |20|13| 8 |41| 5 | 8| 28 | 5| M8X1.25| 15| 24 |[M20X1.5| G1/8|62 |11.5/8.5 |116
25 22119.5/ 15|32 (10| 26|13| 8 |45| 6 | 8 |33.5|5.5/M10X1.25| 15| 30 |[M26X1.5| G1/8|62 |11.5| 10 |120
32 22119.5/ 15|32 (12| 26|13| 8 |45| 6 37.5|5.5|M10X1.25| 15 [34.5/M26X1.5| G1/8|64 [11.5[11.5|122
40 24| 21 | 21| 41|14 32|16 |11 |50| 7 |10|46.5| 7 | M14X1.5 |21.542.5| M32X2 | G1/4|88 | 14 | 15 |154
Single Clevis Type
QCM2E
LZ+
27+
Z+ LP
H S+ L |R
ONA N N
0 K [« f——»
oXi, :L <1i>e 2-P G @CDH10
HA -
/T~ 4 (| LI T \
EQII ) AR ANA
ASY | \/ Single clevis
\NS——/ Pt bracket
MM 2-¢LD
B1 NN
T 1T
H LF LG
LY
Bore
size | A | AL B1/CD|CX|D | E|F |G|HH1 | K | L MM N | NA NN P |[RR| S z zz

mm

20 |18(15.5(12| 8 (128 |20(13| 8|41/ 5| 28 | 5 |12 | M8X125| 15| 24 | M20X1.5 |[G1/8| 9 | 62| 115|124
25 |22(19.5{15| 8 (12 |10|26(13 | 8|45| 6 |33.5/ 5.5/ 12 | M10X1.25| 15| 30 | M26X1.5 |G1/8| 9 | 62| 119|128
6
7

32 |22(19.5/15/10|20 |12]26(13 | 8|45 37.5/5.5/12 | M10X1.25| 15 | 34.5| M26X1.5 |G1/8| 12 | 64 | 124 | 136
40 |24|21|21/10|20|14|32|16| 1150 46.5| 7 | 12| M14X15|21.5/42.5| M32X2 |G1/4| 12| 88 | 153 | 165

Single Acting Symbol
QCM2B (-S, -T) L W
Dimensions Different with Basic Type:
P P
T TN Bore | Strokerange (-S,-T)
. H. H [ size 1~50 51~75
L e (mm)
; (X o - S 2z S 2z
C H_ 20 87 | 141 112 | 166
25 87 145 112 | 170
St 32 89 | 147 | 114 | 172
Single acting (-S: Spring return) ZZ+
Single acting (-T: Spring extend) ZZ++ 40 113 179 138 204

3.025



MMKSXPC,

SHANGHAI XINGYICK PNEUMATIC tﬁ
&
Symbol
Double Rod A
QCM2W
Opposite side B2 H2 G 2-P G 2-NN MM Alrch:Buv?g"on
B1 H o [
I T //
S s —
gl j'é{ %) gl ﬁ
ko b %
- _/
MM AL 15 15, e
A KL F N  F,| KA
H S+ H+ CINA
Z2Z++
B
size | Stroke | A | AL|B1/B2| D |E| F|G|H H1H2| | |K| MM |N |[NA| NN P |s|walws|zz
mm
20 | ~300 |18 15.5 12| 26| 8 |20(13| 8 [41| 5| 8| 28 | 5 | M8x1.25| 15| 24 |M20x 1.5| G1/8 |62[11.5 8.5(144
25 | ~300 |2219.5 15| 32|10 26|13 | 8 |45 6 | 8 |33.5/5.5/M10x1.25| 15| 30 |M26%1.5| G1/8 |62[11.5 10 [152
32 | ~300 |2219.5 15| 32|12 26|13 | 8 |45 6 | 8 |37.5/5.5|M10x 1.25| 15 |34.5|M26X 1.5| G1/8 |64[11.511.5 154
40 | ~300 |24 |21|21|41]14|32/16|11|50 7 |10|46.5| 7 | M14X1.5[21.542.5 M32x2 | G1/4 |88[14.5 15 |188
Symbol
Adjustable Stroke
QCM2B -XC8
Opposite side MA MM
_ I
| = : -
Y
3 ML
(MH+50mm)+
(ZZ+50mm)++
Adjustable Extending
Range: 0~50mm
Bore size MA MH M1 MK ML MM MT zz
20 12 47 15 8 68 M8x1.25 16.5 150
25 17 49 20 10 68 M8 1.25 17.5 156
32 17 49 20 10 68 M10%1.25 17.5 158
40 22 60 25 12 72 M14X1.5 21.5 198
Single Clevis Bracket
RLR #CDH10 LV, Aolicabl
LX pplicable
o No. LD/ LE|LF|LG |LH|LP|LR|/LT| LV |LY | LZ
mm
F 20 15|30 |30 |37 [10|3.2/18. 152
K CM.E02 22 18.4/59
S 25 6.8/22|15/30 |30 |37 |10|3.2[18.4/ 59156
TLF] Le 32 9
LL?‘_J . CM-E03 251540 |40 |50 |13| 4 | 28 |75(174
Ly 40 9 |25/15/40 |40 |50 |13 28 175203

3.026




ASXPC. oo e e

sQW
Accessories
Foot Bracket Flange 220~ 32 %40
@#C2 4- JFD
i (L _ ~p T
o H d Ao
T 4-@ LD =~
L T ( 11 |—*\ B ‘
LX f 2- JFD EX
Lz XY, FT Mounting Fz
Applicable Foot bracket Flange
bore size
mm PartsNo. | X | Y | LD |LX| LZ|LH| LT | B PartsNo. | FD | FY | FX | FZ | C2| B |FT
20 CM-LO2 | 20 | 8 | 6.8|40 | 55 | 25 | 3.2 |40 CM-F02 7 - | 60 | 75 | 30| 34 | 4
25 CM-LO3 | 20 | 8 | 6.8 |40 | 55 | 28 | 3.2 | 47 CM-F03 7 - | 60 | 75 | 37| 40 | 4
32 CM-LO3 | 20 | 8 | 6.8 |40 | 55 | 28 | 3.2 | 47 CM-F03 7 - | 60 | 75 | 37| 40 | 4
40 CM-L04 | 23 | 10| 7 | 55| 75 | 30 | 3.2 | 54 CM-F04 7 | 36| 66 | 82 |47.5] 52 | 5
Single Clevis Double Clevis Trunnion
JCDH10 Z CDH10 y4
@‘ T i T (I)\ ‘H i T Tl — [ i } 577
— | o A N ! ol 1 N N 5
‘ r~ |
i ) - Y
‘ \\-a/ ‘ 7/ | | ] }
u CXio U, TX
ox:l L RR] cz | L JRR il 72
Applicable Single clevis Double clevis Trunnion
bore size | barts No.|cb|cx| 1 | L [RR| u|PartsNo| cD|cx|cz| 1 | L|RR]| u|Parts No | TD | TT | TX|TY [T2] 2
20 CM-C02| 9 |10|28|30| 9 14| cmM-D02| 9 |10 |19 | 28 |30| 9 |14| cMm-To2| 8 | 10|32 | 32|52| 36
25 CM-C03 | 9 [10[33.5/ 30| 9 |[14| cM-D03| 9 |10 |19 (33.5/30| 9 |14| cM-TO3| 9 | 10 | 40 | 40|60 40
32 CM-C03| 9 |10[37.5/ 30| 9 |14| cm-D03| 9 |10 |19 [37.5/30| 9 |14| cM-T03| 9 | 10 | 40 | 40|60 40
40 CM-CO04 | 10|15 |46.5 39| 11|18| cM-D04 | 10 | 15 |30 [46.5/39| 11 |18 | cM-To4| 10| 11 | 53 | 53|77|44.5

I-type Rod Clevis Y-type Rod Clevis Rod End Nut Mounting Nut
220~2 32 #40 220~2 32 #40
A
Q> MM @NDH10 & L&
B e H=3 [EC 1
MM gNDH10 '_ . MM NDH10 gNDH10,, |
: N S0 ENDHIO : 5
< |
TN — T A1 U1 w - N W N
Y EopaT |, Ll g e I st
z pay
A1, Lu1) A1 Uil 2 A1 ut
L1 L1 L1
Applicable I-type rod clevis Y-type rod clevis Rod end nut Mounting nut
borgmsze Parts No.|A1)E1[L1| MM |ZNDNX| R1[U1| Parts No.|A1/E1|L1| MM |@ND|NX|NZ[R1U1| PartsNo.|B| € | d |H|PartsNo.[B| C| d |H
20 CM-102 [16]20(36| M8x1.25| 9 |9 |10 [14| CM-Y02 |16|20|36|Mex125| 9 |9 |18[12/14| NT-02 [13| 15 |mex1.25/5| SN-02 [26] 30 |uaoxis|8

25~32 CM-103 [18/|20(38|M10x1.25| 9

©

10 [14] CM-Y03 |18]20(38|M10x1.25| 9

©

18(12(14] NT-03 [17[19.6|M10x1.25/6| SN-03 (32| 37 |M26x15

©

-

40 CM-104 (22|24|55| M14x1.5| 12 {16[15.520] CM-Y04 |22(24|55| M14x1.5| 12 |16|3813|25| NT-04 (22/25.4|M14X1.5/8| SN-04 |4147.3 M32x2 |10

3.027



MMKSXPC,

SHANGHAI

Small Size Cylinder (European Type)

QC75 Series (032~ ®40)

How to Order

XINGYICK PNEUMATIC

'\\:’\_)
sSQw

Symbol

T

Bore size mm

32 | 40

Fluid Filtered compressed air
Acting type Double acting
T 1.0MPa
i B 0.05MPa
Cushion Rubber cushion (standard)
teé?;gliga}re 5~60°C
Piston speed 50~750mm/s
Strokeallowance | 507" 251~1000"" 1001~1500"
*Lubrication Pro-lubrication in factory
Port size G1/8 ‘ G1/4

*If used, turbine oil “1 (ISO VG32) is recommended.

Standard Stroke / Auto Switch

QC 75 40 - 100
e | Standard stroke Max, Stroke| AU | Mounting band
Code sr:]fne andard stroke ax(mm)ro e switch ounting ban
32 A-32
Series 10 25 40 50 80 100 1000 QCK2400
40 [125 160 200 250 300 QCK2422 A-40
Nil: Standard Stroke Option: Non-standard stroke.
D: Build-in magnet
B: Basic type Bore size Notes:
L: Foot bracket F: Front flange 1. Voltage and current should not be overloaded.
G: Rear flange  T: Trunnion 2. Auto switch should not be linked directly to power, should be
linked in series with a load in series.
3. Auto switch should not be close to strong magnetic bodies or
magnetic shield is used.
Dimensions(mm)
Basic Type
QC75B
SW K BE XC+ G
\ XB . EE WA wB
WH WA T
1\
32 I TR R 2
S|
40 OI B Al T B ~ y
oL L il
KK/ u Kw L5 4-TC
AM FA N NLIL15
H S+ FB
77+
Bore
size AM| BE |C| D (E| EE [FAFBIGIWA|H|WB| K KK |[KVIKW N [NB|S |SW| TC [TD|TW WH|XB|XC|ZZ|U
mm
32 |20 (M30x1.5[12|37.5(30|G1/8|3014|9|15.5/58[10.510| M10Xx1.5|38| 7 [17(19)|34.5|68| 15|M8X110|32.5| 38|47 |97 [140/6
40 |24 |M38x1.5[14|46.5138/G1/4|35[16[1219.5/69| 13 [12|M12X1.75/50| 8 [22(25)[42.5[89| 17 |M10X112(39.5| 45|57 122[174|7

3.028




//KSXI C® SHANGHAI XINGYICK PNEUMATIC —
SQW

Accessories
Foot Bracket/ Flange Trunnion U-Type Bracket
cz . CW XB
629 T ‘ o
1O g m Ok [o\
1\ o 5 L 3 |
;N - \ s, /" y T
4-0AB Y| Cco H
TR \m XB l.CT,| CE.,. CR
us A AO CU CG
Applicable Foot bracket / Flange Trunnion U-type bracket
bore size |parts No.ABAOJAUILTINHTF TRURUS| Parts No. | NB [TD| TZ [XB|XC| Parts No.|JABCE CGCHICO[CRICT| culcw| cz |LT|xB
32 C75-L03| 7 | 7 |14|4 |28|28(52|49 66| C75-T03 |34.5/10(47.9/47 |97 | C75-E03| 7 | 9 |41|35| 4 |24|2046.8 13 55.9/ 4 |47
40  |C75-L04 | 9 |10|20|5|33|30|60|58 |80| c75-T04 [42.5 12|59.3|57 [122| c75-E04| 9 |12] 52|40| 3 |30|28/58.217 [69.3/ 5 | 57

I-Type Rod Spherical Bearing Clevis I-type Rod Clevis / DIN71751

/| DIN648
@DH9
\_/ —) ZFh8
© o PA| I o d
R — 3
UALIIN > =
ic | L ,,m,ni ] mI
- N J)—
5 ﬁﬁ N\ o €
h
Applicable I-type rod clevis / DIN648 I-type rod clevis / DIN71751
b i :
Of o 2€ Parts No. dc D | h |df bc |ba| L |[dg|R°| ic | Parts No. e b|d|F|g|c|j|a
32 KJ10DA |M10X1.5/10 |43 |20 10.5/ 14 |20[19 |13 | 14 | GKM10-20A | M10X1.5 | 10 | 40 | 10 |18 {20|12|20
40 KJ12DA (M12X1.75/12 |50 (30 |12 |16 | 22|22 |13 | 16 | GKM12-24A | M12X1.75 | 12 | 48 | 12|23 |24 (15|24

3.029



MMKSXPC,

Small Size Cylinder
XQGAXx Series (®12~®32)

Material: Precisely drawn stainless steel tube

SHANGHAI XING

Cover: Double rolled-in construction

Cushion: Non-adjustable cushion pad

YICK PNEUMATIC R

Y >
6”353;}'/
Specifications
Acting type Double acting ‘ Single acting
Fluid Filtered compressed air
Max. Operating pressure 0.8MPa
Min. Operating pressure 0.06MPa ‘ 0.2MPa
Fluid temperature -10~+60C
Ambient temperature 5~60C
Piston speed 50~500mm/s
Stroke allowance 0~250+1.0(mm); 251~500+1.5(mm)
Standard Stroke
Acting type Borrg msize Standanqcrii1 stroke Max.msnyoke
12
16 25, 50, 80. 100. 125. 160 160
Doubl ti 20
e ; 25. 50. 80. 100. 125. 160. 200. 250. 320 320
5
32 25, 50, 80. 100. 125, 160. 200. 250. 320. 400. 500 500
Construction .
Mounting
Code Description
SD Basic
LB Foot bracket
FA Front flange
| 1 I o™ FB Rear flange
T TA Front trunnion
J B Rear trunnion
s/
CA Single clevis
YC Y-type rod clevis
Parts List
No. Description No. Description
1 Nut Tube
2 Piston rod Cushion pad
5 Nut 8 Piston
4 Front cover Y-ring
5 Seal 10 Rear cover

3.030




ASXPC. oo e e

sQW
Dimensions (mm)
Symbol
SD Basic (XQGAx Cylinder)
ZB+
Z+
i.
AM . WF G 2-EE G .1 Y
KY, —‘ BF |PL /. _,PL
ul ¥ ‘ 2 &C}
o d -/
mR | NS A
3
Boresize | om| B |BF | D| EE |G KK KV | KW | KY | MM | PL | WF | Z, | zB
12 16 | M16X1.5 | 17 | 20 [M5x0.8| 9 | M6x1 | 24 | 8 5 6 | 45| 22 | 48 | 86
16 16 | M16X1.5 | 17 | 20 |M5%0.8| 10 | M6x1 | 24 | 8 5 6 5 | 22 | 52 | 9
20 20 [M22x15| 18 | 28 | G18 |15 | M8x1.25 | 32 | 8 6 8 | 75 | 24 | &7 | 111
25 22 [M22x15| 21 [335| G1/8 |16 |M10x125| 32 | 8 8 10| 8 | 28 | 70 | 120
32 23 | M27x2 | 21 | 375| G1/8 |16 |M10x125| 36 | 95 | 8 12| 8 | 28 | 72 | 123

CA Single Clevis (XQGAXx Cylinder)

ZB+

Z+ BF
AM WF G G
EW-0.1
Ky BF |PL 2-EE PL ®CD H8
KW /‘
Py i ' i
N 8 -
N e e
o 4 ol o
&’/ = AN
|
s
S

Boresize | om| BE BF | CD | D EE |EW| G KK KW|KY | L | L |[MM| PL| WF| Z | zB
12 16 [M16X15 17 | 6 | 20 |M5X0.8| 12 | 9 | M6X1 8 | 5 | M | 20| 6 | 45| 22| 48 | 103
16 16 [M16x1.5/ 17 | 6 | 20 |[M5x0.8| 12 | 10| M6X1 8 | 5| M| 22| 6| 5| 22/ 52107
20 20 (M22x1.5/ 18 | 8 |28 | G1/8 |16 | 15| M8x125 | 8 | 6 | 12 | 24 | 8 | 7.5 | 24 | 67 | 129
25 22 (M22x1.5/ 21 | 8 |335| G1/8 |16 | 16| M10x1.25| 8 | 8 | 12 | 26 | 10 | 8 | 28 | 70 | 141
32 23 | M27x2 | 21 | 10 |37.5| G1/8 |20 | 16| M10x1.25| 95| 8 | 15 | 20 | 12 | 8 | 28 | 72 | 144

3.031



ASXPC. oo e e

sQw

LB Foot Bracket (XQGAx Cylinder)

ZB+

AM WF Z1+

KY BF,, G .G, OKD

AR

BB
KK

e
|

\
|
=

>MM

E
z (L

XS SA+ 2-0AB TR

us

Boresize | \g|AM AO|AR|AT/AU| BE |[BF| EE |G| KK |KD|KYMMNH PL/SATRUS/WFXS[z1zB| Parts No.

12 55]16| 6 |13 13 |M16X1.5(17 M5X0.8 9| M6X1 |16.1 6 |20|4.5/28|32|42| 22|32|48/103] GX-LB12

16 55]16| 6 |13 13 |M16X 1.5/ 17 M5X0.810] M6X1 |16.1 6 |20| 532|32|42| 22|32|52[107| GX-LB12

20 6.5(20| 8 |20 16 |M22X1.5(18 | G1/8 |15 M8X1.25|22.1 7.5/43|40|54| 24|36|671129) GX-LB20

25 6.5(22| 8 |20 16 |M22x 1.5/ 21| G1/8 |16|M10x1.2522.1 10|25| 8 |46|40|54| 28|40|70(141| GX-LB20

AW W W W
@ [0 | O |01 |G,
©
N
a

32 6.5|23| 10| 20 19| M27X2 (21| G1/8 |16|M10X1.2527.1 12|35| 8 |42|40|55| 28|43|72[144| GX-LB32

FA.FB Front, Rear Flange (XQGAXx Cylinder)

FA.FB Flange
zB+
AM ZF+ E 4-0FB E
KY w MF 2.EE MF R
Pt PL, |, o N
i /Q\ Q| OF
s 1 A SIS s LYY of s e
| M e
> = _—
- S
& B \“G Va Fan
1 | | 2-0FB W O
BF |.G G KD

Boresize \oAm| BE |BF|E| EE |FB|G| KK | KD KY/MF/MM| PL| R |TF/UF| W |ZB |ZF | PartsNo.
12 |16|M16x1.5|17|30|M5x0.8(5.5/9 | M6x1 |16.1| 5| 3 | 6 |45 - | 40| 53|19(103 |73 | GX-FA12
16 | 16|M16x1.5|17|30 M5x0.8|5.5 /10| M6x1 [16.1) 5|3 | 6 | 5 | - |40 53 |19|107 |77 | GX-FA12
20 |20|M22x15 18|40 G1/8 |6.5/15| M8x1.25 (221 6 | 3 | 8 |7.5| - |50| 66 |21|129 | 94 | GX-FA20
25  |22|M22x15|21]40| G1/8 |6.5(16|M10x1.25(22.1| 8| 3 [10| 8 | - | 50| 66| 25|141 |101| GX-FA20
32 |23| M27x2 |21]45| G1/8 |6.5(16|M10x1.25(27.1| 8| 3 [ 12| 8 | 20 | 60| 80 | 25 144 |103| GX-FA32

3.032



ASXPC. oo e e

sQW
TA, TB Front, Rear Trunnion (XQGAx Cylinder)
TA.TB Trunnion
ZB+
AM WF Z1+ TY
KY, TG 2-EE G T oTC
JPL / PL a
— =
R - 5
T " o~
—~ e ;
¥ Q- —¢ 4 N
= ] —
=
KB e T2 T2 TX N
Boresize | am| e | G KK KY | MM | PL | T | TC |TD| TX | TY | TZ | WF | 21 |ZB| PartsNo.
12 16 |M5x0.8| 9 | M6x1 | 5 | 6 | 45| 7 [161| 5| 30 | 40 | 30 | 22 | 48 |103| GX-TA12
16 16 (M5x0.8| 10| Mé6x1 | 5 | 6 5 | 7|161| 5|30 | 40 | 30 | 22 | 52 [107| GX-TA12
20 20| G1/8 [15| M8x125| 6 | 8 | 75 (10221 | 8| 32 | 52 | 32 | 24 | 67 |129| GX-TA20
25 22| G1/8 [16|M10x125 8 | 10 | 8 [11]221| 9| 40 | 60 | 40 | 28 | 70 |141| GX-TA25
32 23| G1/8 |16 |M10x1.25 8 | 12 | 8 |11 /271 | 9| 40 | 60 | 40 | 28 | 72 |144| GX-TA32
Y-Type Rod Clevis
KK OCK
ER
' N \
u N =1 I (]
4 | I —1 \J)
AV LE
CE
Parts No. Bore size AV CE CK cL CcM ER E, KK LE
GX-Y12,GX-Y16 12,16 11 21 5 12 6.5 12 14 M6 X1 10
GX-Y20 20 16 40 9 18 9 12 30 |M8x125| 16
GX-Y25,GX-Y32 25,32 18 40 9 18 9 12 20 |M10x1.25/ 16
Pin of Rod Clevis
D E E D
J 5
C
Parts No. Bore size A B c D E
GX-YP12, GX-YP16 12,16 5 4.8 16.6 15 0.7
GX-YP20, GX-YP25, GX-YP32| 20, 25, 32 9 8.6 25 1.8 1.2

3.033



ASXPC. oo e e

sQW
Small Single Acting Cylinder
XQGAxD(D,) Series (®12~®32) Construction

f 1A

Bore size: ©32
o o iiﬁm@ffﬁ oo~

Stroke: 25~80

s
Mounting EHﬂ_u‘H:J

Code Description Parts List
SD Basic No. Description No. Description
LB Foot bracket 1 Nut 7 Guide bushing
FA Front flange 2 Piston rod 8 Piston
FB Rear flange 3 Nut 9 Y-ring
TA Front trunnion 4 Front cover 10 Cushion pad
B Rear trunnion 5 Tube 11 Rear cover
CA Single clevis 6 Spring
Acting type Borrg rﬁ°.ize Standargg stroke Max.msgroke
12 25. 50
16
80
Single acting 20 95. 50
25
32 25, 40, 50. 80 80
Dimensions(mm)
SD Basic (XQGAxD Spring Return Single Acting Cylinder) Symbol
. ]
AM WFE Z,
BF G EE G
KY N .
= Laf R =
¢ ¢ A= AR E
‘S
2 KW
NN 1
BEEEEE oy BE BF D EE G KK KW KY MM PL WF
12 16 M16X1.5 17 20 M5X0.8 9 M6 X1 8 5 6 4.5 22
16 16 M16X1.5 17 20 M5 0.8 10 M6 X 1 8 5 6 5 22
20 20 M22X1.5 18 28 G1/8 15 M8X1.25 8 6 8 7.5 24
25 22 M22X 1.5 21 33.5 G1/8 16 M10X1.25 8 8 10 8 28
&2 23 M27 X2 21 37.5 G1/8 16 M10X1.25| 9.5 8 12 8 28
Stroke 25 40 50 80
Boresize | 7z ZB F.(N) z, ZB F.(N) Z, ZB F,(N) z, zB F.(N)
12 78.5 116.5 36.2 - - - 118 156 36.2 - - -
16 90 128 64.3 - - - 136 174 64.3 - - -
20 110.5 154.5 100.5 - - - 162.5 206.5 100.5 - - -
25 116 166 1571 - - - 171 221 157.1 - - -
32 116 167 257.4 145 236 257.4 169.5 220.5 257.4 227.5 278.5 257.4

Note: Thrust F1 is theoretical force at operating pressure 0.5MPa.

3.034



//KSXI C® SHANGHAI XINGYICK PNEUMATIC —
sSQW

SD Basic (XQGAxD, Spring Extend Single Acting Cylinder)

Symbol

W

ZB

AM
BF |PL EE G 1
KY /
- T
~ ,,>_:|- i 1
& < F\j D ()) E s
- LH ||
s ]
s KW G
Bore size | py BE BF D EE G KK KW KY MM PL
12 16 | M16X15 | 17 20 | M5x0.8 9 M6 X 1 8 5 6 45
16 16 | M16Xx15 | 17 20 | M5x0.8 | 10 M6 X 1 8 5 6 5
20 20 | M22x15 | 18 28 G1/8 15 M8 1.25 8 6 8 75
25 22 | M22x15 | 21 33.5 G1/8 16 | M10x1.25| 8 8 10
32 23 | M27x2 | 21 37.5 G1/8 16 | M10x1.25| 95 8 12
Stroke 25 40 50 80
Boresize | 7 zB F,(N) z, zB F,(N) z, zB F,(N) z, ZB | FyN)

12 78.5 141.5 27.1 - - - 118 206 271 - - -
16 90 153 55.3 - - - 136 224 | 553 - - -
20 1105 | 1795 | 844 - - - 1625 | 2565 | 84.4 - - -
25 116 191 131.9 - - - 171 271 | 131.9 - - -
32 116 192 | 2212 | 145 236 | 2212 | 1695 | 2705 | 2212 | 2275 | 3585 | 2212

Note: Thrust F1 is theoretical force at operating pressure 0.5MPa.

3.035



ASXPC. v s e

sQw

Small Double Piston Rod Cylinder
XQGAXx2 Series (¢12~032)

The small double rod cylinders are based on
XQGA«cylinders. On the two sides, the length
of rods, the thrust and pull fores, the moving
directions, the speeds and strokes are all
identical.

Specifications, standard stroke and dimen
sions are the same as those of the small
cylinder XQGAx-

Mounting
Code Description
SD Basic
LB Foot bracket
FA Front flange
TA Front trunnion
SD Basic (XQGA«: Cylinder) Symbol

Dimensions(mm) JEE%

AM ZB++ AM
WF Z1+
KY, BF | PL / 2-EE pLl  BF .
(=T m .
i pr—— v | ?, ‘ | —\ X
w ¥ ﬂl R0 A
YV :I- _0( /AN | .
o M —
- =
= =
=
° KW G G & 3 ° «
Boresize | Am BE BF | D EE © KK KW | KY | MM | PL | WF | 2. | zB
12 16 | M16x1.5 | 17 | 20 M5x0.8 9 M6x1 8 5 6 | 45| 22 | 48 | 92
16 16 | M16X1.5 | 17 | 20 M5x0.8 10 M6x1 8 5 6 5 22 | 52 | 96
20 20 | M22x1.5 | 18 | 28 G1/8 15 | M8x1.25 8 6 8 | 75| 24 | g7 | 115
25 22 | M22x1.5 | 21 |33.5 G1/8 16 | M10x1.25 | 8 8 | 10 | 8 | 28 | 70 | 126
32 23 M27 X 2 21 | 375 G1/8 16 |M10x1.25 | 95 | 8 | 12 | 8 | 28 | 72 | 128

3.036



ASXPC. oo e e

sQw

Small Auto Switch Cylinder
XQGAxKn Series (012~ 32)

The auto switch cylinders (XQGAxKn, n: switch, number)are

the cylinders ( XQGAx, ® 12~ ® 32) equipped with magnets

and auto switches.

i "
Their specifications and dimensions are respectively %.‘
= -

the same as those of their original cylinders.

Standard Stroke Mounting
Bore size Standard stroke Max. Stroke Code Description
12 SD Basic
25, 50, 80. 100. 125. 160 160
16 LB Foot bracket
20
25, 50. 80, 100. 125, 160. 200. 250. 320 300 FA Frontflange
25 FB Rear flange
32 25, 50, 80. 100. 125. 160. 200. 250. 320. 400. 500 500 TA Front trunnion
B Rear trunnion
CA Single clevis
Dimensions(mm)
SD Basic (XQGAxKn Cylinder)
Symbol P
AM WF Zi+ 1 RN
KY BF || G 2-EE G
PL/ 34 PL
= L — D
T : I |
wl o 1 © o
ol S N ] B &
Shuil J | = |
=
=
© KW I
sEE sk |y BE BF | D EE G KK KV | KW | KY |MM | PL [ RN | WF| Z1
12 16 | M16x1.5 | 17 | 20 | M5x0.8 | 9 M6x1 | 24 | 8 | 5 | 6 | 45| 23 | 22| 51
16 16 | M16x1.5 | 17 | 20 | M5x0.8 | 10 M6x1 | 24 | 8 | 5 | 6 | 5 | 27 | 22| 56
20 20 | M22x15 | 18 | 28 G1/8 15 | M8x1.25| 32 | 8 | 6 | 8 | 75| 38 | 24| 70
25 22 | M22x1.5 | 21 |335 G1/8 16 | M10x1.25| 32 | 8 | 8 |10 | 8 |36.5| 28| 73
32 23 | M27x2 | 21 |37.5| G1/8 16 | M10x1.25| 35 |95 | 8 |12 | 8 | 44 | 28| 75

3.037




MMKSXPC,

SHANGHAI XINGYICK PNEUMATIC tﬁ
P W
Aluminium Alloy Small Size Cylinder
QMAL Series (920~ ®40)
Bore size mm 20 25 32 40
r Eluid Filtered compressed air
Acting type Double acting
Max. Operating 1.0MPa
r _pressure .
T 0.1MPa
Cushion Rubber cushion
— (oAmEiert 5—60C
Fluid temperature -10~+60C
Piston speed 30~800mm/s
Port size G1/8 | cua
*If used, turbine oil*1 (ISO VG32) is recommended.
How to Order
QMAL- - -20X50- - Standard Stroke / Auto Switch
. Permitted| Auto .
Code Borg nzsue Standar:g‘ stroke Max.msrgroke Strz?nke switch | Mounting band
) . 20 255075100 125 150 175200 225 250 300 500 800 PAB - 20
Series | Stroke N Standard - |™"95 1255075 100 125 150 800 | 1200 |\ oon | PAB-25
) ' 9 32 175 200 225 250 300 PAB - 32
W: Double rod Bore size 40 350 400 450 500 1000 1500 PAB - 40

CA: Single clevis

CM: Threaded rear end
U: Boss cut rear end

Nil: Basic type
LB: Double end bracket

FA: Front flange
SDB: Single clevis bracket

Construction
L= g! =7 7| Jl
AN , )
| E W
—_—
Parts List
No. | Description Material No. Description Material
1 Rod Carbon steel 9 Cushion PU
2 Nut Carbon steel 10 8-ring NBR
3 Rod seal NBR 1 O-ring NBR
4 Grand Carbon steel 12 Bushing ring F4
5 Bushing F4 13 Piston Aluminium alloy
6 Front cover Aluminium alloy 14 Gasket Carbon steel
7 O-ring NBR 15 Ing%n;gmelx. Carbon steel
8 Tube Aluminium alloy 16 Rear cover Aluminium alloy

3.038




ASXPC. oo e e

sQw

Dimensions (mm)
Double Acting (Basic Type) Symbol

CA Single Clevis E]

Qs E . F G G S AY
, AN
' N4

Boresize| A | B|C | D|E|F |G |H|I|J K L |M|P Q R|[S|U|V|W| X |AR|AX|AY
20 131/ 40|70 | 21| 28|12 (16 |20|12|5 | M8Xx1.25 | M22x1.5/10| 8 |16 | 19|12 |30| 8 | 6 | G1/8 | 7 | 33|29
25 (135 44|70 | 21| 30| 14 (16 | 22|15| 6 | M10X1.25| M22X1.512| 8 |16 | 19|12 |34|10| 8 | G1/8 | 7 | 33|29
32 (141 44|70 | 27| 30| 14 [16 | 22|15| 6 | M10X1.25| M24x2.0|12|10| 16 | 25|15 | 39|12 (10| G1/8| 8 |37 |32
40  |165| 46| 92| 27| 32| 14|22 | 24|17| 6 | M12X1.25| M30X2.0(12|12 |20 | 25 |15 | 49|16 | 14| G1/4 | 9 | 47 | 41

CM Type Threaded Rear End

A1+
B C+ D1 AY
E F G G
H M GI2 2-X G/2 R1
—_— [4—

J AR

i ] N
I PI 2| x ‘//f-ﬁ\
O °F &ﬁ
_ \ N~—""

Boresize/ a1 | B ([C |D1|E | F |G| H| I |J K L |M|R1|U|V |W| X |AR|AX|AY
20 (12240 |70 |12 |28 | 12| 16| 20 | 12 | 5 | M8x1.25 |[M22x1.5/10 |10 | 30| 8 | 6 | G1/8| 7 | 33| 29
25 (12844 |70 | 14 |30 | 14| 16| 22 | 15 | 6 [M10x1.25|M22x1.5/12 |12 | 34 | 10 | 8 | G1/8| 7 | 33 | 29
32 |128 |44 |70 | 14 |30 | 14 | 16 | 22| 15 | 6 |[M10X1.25|M24x2.0/12 | 12| 39 | 12 | 10 | G1/8| 8 | 37 | 32
40 (15246 |92 | 14|32 | 14| 22| 24 | 17 | 6 [M12Xx1.25|M30x2.0|12 | 12 | 49 | 16 | 14 | G1/4| 9 | 47 | 41

3.039



MMKSXPC,

SHANGHAI XINGYICK PNEUMATIC tﬁ
o€
U Type Boss-Cut Rear End
A2+
B C+ AY
E F G 2-X G
H M G/2 / fﬁ’
J AR
T ] 1 ~
)
e 2 /63\
S N
K/ Waside/ 3lL
Boresizel p2| B | C | E|F |G | H| I |4 K L M| U| V| W/| X |AR|AX| AY
20 |110| 40 | 70 | 28 | 12 | 16 | 20 | 12 | 5 |M8x1.25|M22x1.5[10 30| 8 | 6 | G1/8 | 7 | 33| 29
25 | 114| 44 | 70| 30 | 14 | 16 | 22 | 15 | 6 |M10x1.25| M22x1.5| 12 | 34 | 10 G1/8 | 7 | 33| 29
32 |1M4| 44 | 70 | 30 |14 |16 | 22 | 15 | 6 |M10X1.25|M24x2.0|12 | 39|12 | 10| G1/8 | 8 | 37| 32
40 |138| 46 | 92 | 32 | 14 | 22 | 24 | 17 | 6 |M12Xx1.25|M30x2.0| 12 | 49|16 | 14| G1/4 | 9 | 47| 41
FA Type Front Flange
@20"'@25 A2+ BE
B C+ BF
E F G G AY
H G/2 2-X G/2| |
n AR W /
M ‘ )
sl 1:‘:1 11‘:‘ i ) o
[S) @ B % <| o
ﬁ/V 4 side/ J_. BB 2-®BP
@32 ~ 340 BE
BF 4- ©BP
AY
|
| _
) ~
A\ A\
&) 8% 8
O T ©
Boresize|  partsNo. |A2 |B|C|E|F|G|H|I|J K L U|V|W| X |AR|AX|AY|BB/BC|BDBE BF|BP
20 MAL-FA20  |110 |40|70|28/12/16|20|12| 5| M8x1.25 |M22x1.5|30|8 |6 | G1/8 | 7 |33|29| 4 | 38| - |64|50|6.5
25 MAL-FA25  |114 |44|7030[14/16|22|15| 6| M10x 1.25 |M22x 1.5 |34|10| 8 | G1/8 | 7 |33|29| 4 | 38| - |64|50|6.5
32 MAL-FA32  |114 |44|7030[14/16|22|15| 6| M10x 1.25 | M24 X 2.0 |39|12|10| G1/8 | 8 |37 |32| 4 | 47|33|72|58|6.5
40 MAL-FA40 138 |46/92/32/14|22/24/17| 6| M12 X 1.25 | M30x 2.0 |49|16/14| G1/4 | 9 |47 | 41|4.5/50|36|84|70/6.5

3.040




ASXPC. oo e e

sQW
LB Type Foot Bracket At
@20 ~ @40 5 e o1 AY
E F G 2-X G L | AJ
H G/2 G/2
J AR j// / /
|
. By TTRA Z
X —-—-—-—- 5 % |
S | 7/ .
el 4 B : I;:
T \—" T e - e i
by \
K[| W4 side/ |Al AL AL |AQ AF
AB AC+ AE 4-0AP
AA+
Boresizé) o1 | B [ C |D1 | E| F[G | H| I |J K L ul v, @ w| x
20 122 | 40 | 70 | 12 | 28 | 12 |16 | 20 | 12 | 5 M8X125 | M22x15 | 30 | 8 | 6 | G1/8
25 128 | 44 | 70 | 14 | 30 | 14 |16 | 22 | 15 | 6 | M10x1.25 | M22x15 | 34 | 10 | 8 | G1/8
32 128 | 44 | 70 | 14 | 30 | 14 | 16 | 22 | 15 | 6 | M10x1.25 | M24x20 | 39 | 12 | 10 | G1/8
40 152 | 46 | 92 | 14 | 32 | 14 | 22 | 24 | 17 | 6 | M12x1.25 | M30X20 | 49 | 16 | 14 | G1/4
Bore size Parts No. AA | AB | AC AE AF | AH | AJ | AL | AP | AQ | AR | AT | AX | AY
20 MAL - LB20 116 | 25 | 100 | 54 40 | 25 | 17 | 15 | 65 | 8 7 | 323 | 29
25 MAL - LB25 116 | 29 | 100 | 54 40 | 25 | 17 | 15 | 65 | 8 7 | 3233 | 29
32 MAL - LB32 136 | 19 | 120 | 59 45 | 32 | 19 | 25 | 65 | 8 8 37 | 32
40 MAL - Lb40 158 | 21 | 142 | 64 50 | 36 | 23 | 25 | 65 | 8 9 | 4 | 47 | #1
SDB Type Single Clevis Bracket
A+
@20 ~ @40 CcB+ D
B C+ D
| E F G 2-X G S Ho
‘\ H M, G/2 / 53_/2 OPhg
il o
4-0CP olFy pyph “ ‘
i : 6\ 2
>{
o
CA W 4 side L CF
CE o CD
Boresizel o | B/ Cc | D|E|F |G [H|I |J K L (M/PlQ|R|S|U|V | W| X
20 (131| 40|70 | 21| 28| 12|16 |20 12| 5 | M8X1.25 |M22x1.5/ 10| 8 | 16 |19 [ 12| 30| 8 | 6 | G1/8
25 |135| 44|70 | 21| 30| 14 | 16 |22 /15| 6 |M10X1.25|M22x1.5/ 12| 8 | 16 |19 |12 | 34 | 10| 8 | G1/8
32 (141 44|70 | 27| 30| 14|16 |22 (15| 6 |M10X1.25/M24X2.0/ 12 | 10| 16 | 25 | 15 | 39 | 12 | 10 | G1/8
40 |165| 46| 92 | 27| 32| 14 | 22 |24 |17 | 6 |M12x1.25/M30%2.0| 12 | 12| 20 | 25 | 15 | 49 | 16 | 14 | G1/4
Boresize|  p, s No. CA cB cD CE CF CH cP ca | cT
20 MAL - SDB20 51 122 48 67 32 32 6.5 22 3
25 MAL - SDB25 51 126 48 67 32 32 6.5 22 3
32 MAL - SDB32 51 129 52 67 36 36 6.5 24 4
40 MAL - SDB40 55 153 56 71 40 40 6.5 28 4

3.041



MMKSXPC,

Double Rod Basic Type

SHANGHAI

XINGYICK PNEUMATIC

N—
SLaV

@20 ~ @40 Symbol
A++
B C+ B+
E _F G | F H
H M |Gl 2-X G/2
3 AR /o
/ 4
- Pl — —
= 1 | I O JE I IS SR | S N
1 i
e/ ./
*®
> o >
(S = o
K / W4 side LL L W4 side | K
Bore size A B|C|E|F|G|H/|I|J K L M|U|V |W| X | AR|AX|AY
20 150 | 40| 70 | 28 12|16 | 20 |12 |5| M8X1.25 | M22x1.5 | 10 (30| 8 | 6 |G1/8| 7 | 33|29
25 158 | 40| 70 | 30 |14 |16 | 22 |15 |6 | M10X1.25 | M22X1.5 | 12 (34|10 | 8 |G1/8| 7 | 33 | 29
32 158 | 40| 70 | 30 |14 |16 | 22 |15 |6 | M10X1.25 | M24Xx2.0 | 12 (39|12 |10|G1/8| 8 | 37 | 32
40 184 | 46| 92 | 32|14 |22 | 24 |17 | 6| M12X1.25 | M30X2.0 | 12 |49 |16 |14 | G1/4| 9 | 47 | 41
Y-Type Rod Clevis I-Type Rod Clevis
®NC H9 ONC H9
N .
. AN
: }F o ' @%ﬂ :
|
NJ NJ
NQ NQ
[
‘ ONNh8
Rjp— N TSI
25 2l T 3 8| rp Sk
\ /
NP NG NH NF NG NH
NE ND NE ND
Boresize | parts No. Parts No. |NA|NB|NC|ND |NE | NF |NG NH NJ [NK | NL|NM|NN|NP|NQ
20 MAL-Y20 MAL-20 |16 | 8 | 8 |30 12|11 | 15| M8x1.25 | 10 |14 |21 | 8 | 8 |15 |42
25~32 | MAL-Y25~32 | MAL-I25~32 | 19 | 10 | 10 | 40 |12 | 13 | 20 | M10X1.25| 12 |16 | 25| 10 | 10 | 20 | 52
40 MAL-Y40 MAL-40 | 24 | 14|10 | 45|12 |13 | 25 | M12X1.25| 15 |22 | 30 | 14 | 10 | 20 |62

3.042




//KSXPC@ SHANGHAI XINGYICK PNEUMATIC QLZ)

General Double Acting Cylinder
XQGA(B) Series (¢32~®320)
Cushion: Non-cushioned (XQGA), //&é
Cushioned (XQGB)
Material: ®32~ ©200 high quality aluminum
alloy tube o _
®©250~ ® 320 high precisely round _
steel tube

Features:

Cylinder tube —High quality and high precisely drawn aluminum alloy tube, anodized inner surface,
30 1 m thick, hardness MHV400.
Cylinder cover—Die-casting.

Piston rod —Pre-rolled high strength surface, hard chrome-plating, precisely ground, anti-corrosion
and anti-wear.
Seal—High quality, advanced structure, long service life. Cylinder can start at low pressure and can
operate without additional lubrication.
Threaded air hole— On both covers of cylinder to make the selection of air inlet port easy (except
®125, ®160, 200, ©250, ©320).

Specifications

Fluid Filtered compressed air
Max. Operating pressure 1.0MPa
Min. Operating pressure 0.1MPa
Fluid temperature -10~+60C
Ambient temperature 5~60TC
Piston speed 50~500mm/s
Stroke allowance 0~250+1.0 251~1000+1.5 1001~2000+2.0(mm)

Standard Stroke

Bore size Standard stroke Max. stroke Cushion stroke
mm mm mm mm
32 12
40 500 15
50 600 20
63
80
100 25,50,80,125,160,200,250,320,400,500 1000 25
125 600,700,800,900,1000,1100,1200,1500 1200 40
160 1500
200 2000 50
250 55

11
320 00 60

3.043



ASXPC. oo e e

SLaV

Symbol

) ]

Construction

L —
P
Parts List
No. Description No. Description

1 Nut 1" Piston ring
2 Piston rod 12 O-ring
& Combination wiper 13 Magnet
4 Bushing 14 Rear piston
5 Front cover 15 Rear cover
6 Sealing pad 16 Tie rod
7 Cushion seal 17 Nut
8 Tube 18 O-ring
9 Front piston 19 Adjusting screw
10 Y-ring

Mounting
No. Description No. Description
SD Basic TC Center trunnion
LB Foot bracket CA Single clevis
FA Front flange CB Double clevis
FB Rear flange IC I-type rod clevis
TA Front trunnion YC Y-type rod clevis
B Rear trunnion

3.044



ASXPC. oo e e

sQW
Dimensions(mm)
SD Basic (XQGA, XQGB Cylinder)

DD 4-EE Cushion adjusting screw 8-Uv

i T GBI

o x . r’%ilit‘é

: WA \=18

@ EI ' @' © @J//=

= t‘ ]

‘ K OEOV

A Hh Cihnind()

V[ KK KK ‘
BB BD L+

B arei e A AA B BB BD DD EE KK L MM | UV v
32 40 30 | 245 | 22 20 | M10x125 | Rcl/8 26 97 12 M5 9
40 53 38 | 355 | 30 33 | M14x15 | Rcl/4 27 99 16 M6 12
50 62 46 | 405 | 35 37 | M18x15 | Rc3/8 27 101 20 M6 15
63 78 57 | 405 | 35 37 | M18x15 | Rc3/8 27 101 20 M8 15
80 94 73 | 465 | 40 47 | M22x15 | Rclf2 34 121 25 M8 18
100 14 89 | 515 | 45 64 | M27x15 | Rclf2 36 132 30 | M10 | 20
125 140 | 110 60 54 65 M27 X 2 G1/2 46 160 32 | M12 | 45
160 180 | 140 65 72 80 M36x 2 G3/4 50 180 40 | m16 | 58
200 220 | 175 75 72 95 M36 % 2 G3/4 50 180 40 | M16 | 60
250 270 | 220 90 84 105 | M42x2 G1 52 200 50 | M20 | 67
320 340 | 270 | 110 96 120 | M48x2 G1 58 220 60 | M24 | 82

LB Foot Bracket (XQGA, XQGB Cylinder)

BB BD L+ OA
DD V | KK | 4-EE Cushion adjusting screw |, KK | 8-Uv
T T
4
3 Ch} | @ ~
ﬂ-:: = : ::: <
I
A‘O‘ ’ SA+ A:;L 4-OAB
Boresize| 5 | Aa| B |BB|BD DD EE |KK| L [MM|UV |V | AB|AH |AO|AT| R | SA|ZA| Parts No.

32 40 | 30 [24.5/22| 20 |M10x1.25/Rc1/8| 26| 97 |12 | M5| 9 | 8 | 40 | 10| 3 | 26 | 117| 40 | G-LB32
40 53| 38 |35.5/30| 33 | M14x 1.5 |Rc1/4| 27| 99 | 16 | M6 | 12| 10 | 40 | 7 | 4 | 36 | 165| 53 | G-LB40
50 62 | 46 |40.5|35| 37 | M18x 1.5 |Rc3/8| 27 | 101|20 | M6 | 15| 10 | 45 | 8 | 4 | 45 |165| 62| G-LB50
63 78 | 57 |40.5/35| 37 | M18x 1.5 |Rc3/8| 27 [101| 20 | M8 | 15| 12 | 55 | 13| 5 | 60 |175| 78 | G-LB63
80 94 | 73 |46.5/40| 47 | M22x1.5 |Rc1/2| 34| 121|25 | M8 | 18| 15 | 60 |13 | 5 | 71 [195| 94| G-LB80
100 | 114| 89 |51.5|45| 64 | M27x1.5 |Rc1/2| 36 | 132| 30 [M10| 20| 15 | 75 |17 | 5 | 85 | 210|114 G-LB100
125 | 140| 110| 60 | 54|65 | M27x2 | G1/2| 46| 160| 32 [M12| 45| 16 | 90 | 18| 8 | 90 |250 | 140| G-LB125
160 | 180|140 65 |72|80 | M36x2 | G3/4 | 50 | 180 | 40 [M16| 58| 18 | 115|20 | 8 | 115|300 | 180, G-LB160
200 |220|175| 75 |72| 95| M36x2 | G3/4| 50| 180| 40 |M16|60 | 22 | 135| 30 | 10 | 135|320 |220| G-LB200
250 [270|220| 90 [84]105| M42x2 | G1 | 52|200| 50 |[M20| 67 | 28 | 165 | 37 | 20 | 165|350 | 270| G-LB250
320 |340| 270| 110 |96|120| M48x2 | G1 | 58 |220| 60 |M24| 82| 35 | 200 | 40 | 23 | 200|390 | 340| G-LB320

3.045



ASXPC. oo e e

sQw

FA Front Flange (XQGA, XQGB Cylinder)

5y R 4-0FB
DD | 4-EE Cushion adjusting screw
I (A f?ﬂ
© l:
N
H HEWIE s \
m§ { — wiow | ﬁ% g <
o3 S| F i &y ol o
i il
i i lo o
Py F'
! o) (o
V| KK KK
BB .| BD L+ E
Boresize| n | pAA| B | BB |BD| DD EE |KK| L /[MM/ UV |V | E | F|FB| R | TF | UF| PartsNo.

32 40 | 30 (245 20 | 20 |M10X1.25|Rc1/8| 26 | 97 | 12| M5 | 9| 45 | 8 |68 | 20 | 60 | 80 G-FA32

40 53 | 38 |35.5| 30 | 33 | M14X1.5 |Rc1/4| 27 | 99 | 16 | M6 | 12| 64 | 10| 9 | 40 | 85 | 104 G-FA40

50 62 | 46 [40.5| 35 | 37 | M18X1.5 |[Rc3/8| 27 | 101| 20 | M6 | 15| 78 | 12| 9 | 45 | 104 | 124 G-FA50

63 78 | 57 |40.5| 35 | 37 | M18X1.5 |[Rc3/8| 27 [101| 20 | M8 | 15| 95 | 12| 11 | 60 | 120 | 146 G-FAG3

80 98 | 73 |46.5| 40 | 47 | M22X1.5 |Rc1/2| 34 121 25| M8 | 18| 118 | 16| 14 | 71 | 145 | 174 G-FA80

100 114| 89 |51.5| 45 | 64 | M27X1.5 |Rc1/2| 36 |132| 30 |[M10| 20| 138 | 18| 14 | 85 | 170 | 200 G-FA100

125 140|110 | 60 | 54 | 65 | M27X2 | G1/2| 46 |160| 32 |M12|45| 140 | 20| 16 | 90 | 180 | 224 G-FA125

160 180|140 | 65 | 72 | 80 | M36Xx2 | G3/4| 50 |180| 40 |[M16|58| 180 | 20| 18 | 115 | 230 | 280 G-FA160

200 220175 75 | 72 | 95 | M36X2 | G3/4 | 50 | 180| 40 |M16|60| 220 | 25| 22 | 135 | 270 | 320 G-FA200

250 2701220 90 | 84 | 105 | M42X2 G1 | 52 |200| 50 |M20|67| 270 | 25| 26 | 180 | 330 | 390 G-FA250

320 340|270 110 | 96 | 120 | M48X2 G1 | 58 |220| 60 |M24 | 82| 340 | 30 | 33 | 240 | 400 | 470 G-FA320

FB Rear Flange (XQGA, XQGB Cylinder)

R 4-OFB F
DD 8-Uv 4-EE Cushion adjusting screw |
< < =
5 <:(| = D Ele) § | — o |
N
V| KK ki L1
E BB,|, BD L+ —
Boresize| o | AA | B [BB|BD| DD EE [KK| L [MM|UV |V | E |F |FB| R|TF | UF| PartsNo.
32 40 | 30 |24.5/ 20 | 20 [M10X1.25|Rc1/8| 26 | 97 | 12 | M5 | 9 | 45 | 8 |6.8| 20| 60 | 80 G-FA32

40 53 | 38 |35.5/ 30|33 | M14X1.5|Rc1/4| 27 | 99 | 16 | M6 | 12| 64 |10 | 9 | 40| 85 | 104 G-FA40

50 62 | 46 |40.5| 35|37 | M18X1.5 |Rc3/8| 27 | 101 | 20 | M6 | 15| 78 |12 | 9 | 45| 104 | 124 G-FA50

63 78 | 57 |40.5/ 35|37 | M18X1.5 |Rc3/8| 27 101 | 20 | M8 | 15| 95 |12 | 11 | 60 | 120 | 146 G-FAB3

80 94 | 73 |46.5/ 40 | 47 | M22X1.5 |Rc1/2| 34 [121| 25 | M8 | 18 | 118 |16 | 14 | 71 | 145 | 174 G-FA80

100 114 | 89 |51.5|/ 45 | 64 | M27X1.5 |Rc1/2| 36 | 132 | 30 |M10| 20 | 138 |18 | 14 | 85 | 170 | 200| G-FA100

125 140 | 110 | 60 | 54 | 65 | M27X2 | G1/2 | 46 | 160 | 32 |[M12| 45 | 140 |20 | 16 | 90 | 180 | 224| G-FA125

160 180 | 140 | 65 | 72 | 80 | M36X2 | G3/4 | 50 | 180 | 40 |M16| 58 | 180 | 20 | 18 | 115| 230 | 280| G-FA160

200 220 (175| 75 | 72 | 95 | M36X2 | G3/4 | 50 | 180 | 40 |M16| 60 | 220 | 25 | 25 | 135| 270 | 320| G-FA200

250 270|220 | 90 | 84 |105| M42Xx2 G1 | 52 200 | 50 |M20| 67 | 270 | 25 | 26 | 180| 330 | 390| G-FA250

320 340 | 270 | 110 | 96 |120| M48X2 G1 | 58 | 220 | 60 |M24| 82 | 340 | 30 | 33 | 240| 400 | 470| G-FA320

3.046



ASXPC. oo e e

sQw

TA Front Trunnion (XQGA, XQGB Cylinder)

DD XN MG 4.gg Cushion adjusting screw 8-uv (Y]
\
TT
TN « ! i
o T D) € : 9
S| e
Sl & =i
o it
V| KK KK, [JAA
BB,|, BD L+ LA

Boresize| o | AA | B | BB | BD DD EE |[KK| L [MM{UV |[V| D | T |TT| U | XN | MG| Parts No.
32 40 | 30 |24.5| 20 | 20 |M10X1.25/Rc1/8|26| 97 [12| M5 | 9| 9 | 44 [9.5| 60 [21.75/4.75| G-TA32
40 53 | 38 |35.5| 30 | 33 | M14X 15 |Rc1/4|27 | 99 |16 | M6 | 12| 16 | 65 |21 | 101|22.5(10.5| G-TA40
50 62 | 46 |40.5| 35 | 37 | M18X 1.5 |Rc3/8| 27| 101 |20 | M6 | 15| 16 | 80 |24 | 116| 25 | 12 G-TA50
63 78 | 57 |40.5| 35 | 37 | M18X1.5 |Rc3/8| 27 | 101 |20 | M8 | 15| 20 | 100 | 24 | 144| 25 | 12 G-TA63
80 98 | 73 |46.5| 40 | 47 | M22X1.5 |Rc1/2| 34 [ 121 | 25| M8 | 18| 25 | 112 |30 | 168 32 | 15 G-TA80
100 114 | 89 |51.5| 45 | 64 | M27X1.5|Rc1/2| 36 | 132 | 30 |M10|20|31.5/ 136 |38 | 203| 45 | 19 | G-TA100
125|140 | 110 | 60 | 54 | 65 | M27X2 | G1/2 | 46 | 160 | 32 |M12|45| 25 | 160 |30 | 210| 50 | 15 | G-TA125
160 | 180|140 | 65 | 72 | 80 | M36X2 | G3/4 | 50 | 180 | 40 |M16 58| 32 | 200 |38 | 264| 61 | 19 | G-TA160
200 220 |175| 75 | 72 | 95 | M36x2 | G3/4 |50 | 180 | 40 |M16|60| 32 | 250 |38 | 314| 73 | 22 | G-TA200
250 270 |220| 90 | 84 | 105| M42x2 | G1 |52|200 |50 |M20|67| 40 | 320 |60 |400| 75 | 30 | G-TA250
320 | 340|270 | 110 | 96 | 120 | M48x2 | G1 |58|220 |60 | M24|82| 50 |400 |70 |500f 85 | 35 | G-TA320

TB Rear Trunnion (XQGA, XQGB Cylinder)

DD Cushion adjusting screw MG U 8-Uv
P

® §I i ()
els %) =
T -t <]
L] Ll :
V | KK KK, TT T AA
BB, BD L+ LA
Boresize| A | AA| B [BB | BD| DD EE |KK| L ([MM|{UV| V | D| T |[TT| U | MG | PartsNo.

32 40 | 30 |245| 20 | 20 |[M10X1.25|Rc1/8| 26 | 97 | 12 | M5 | 9 9 | 44 195| 60 [4.75 G-TA32
40 53 | 38 |355| 30 | 33 | M14X1.5 |Rc1/4| 27 | 99 | 16 | M6 | 12 | 16 | 65 | 21 | 101 |10.5 G-TA40
50 62 | 46 |40.5| 35 | 37 | M18X1.5 |Rc3/8| 27 | 101 | 20 | M6 | 15 | 16 | 80 | 24 | 116 | 12 G-TA50
63 78 | 57 |40.5| 35 | 37 | M18X1.5 |Rc3/8| 27 | 101 | 20 | M8 | 15 | 20 | 100 | 24 | 144 | 12 G-TA63
80 98 | 73 |46.5| 40 | 47 | M22X1.5 |Rc1/2| 34 | 121 | 25 | M8 | 18 | 26 | 112 | 30 | 168 | 15 G-TA80
100 114 | 89 |51.5| 45 | 64 | M27X1.5 |Rc1/2| 36 | 132 | 30 |[M10| 20 |31.5/ 136 | 38 | 203 | 19 G-TA100
125 140 | 110 | 60 | 54 | 65 | M27Xx2 | G1/2 | 46 | 160 | 32 |[M12| 45 | 25 | 160 | 30 | 210 | 15 G-TA125
160 180 | 140 | 65 | 72 | 80 | M36x2 | G3/4 | 50 [ 180 | 40 |[M16| 58 | 32 | 200 | 38 | 264 | 19 G-TA160
200 220 | 175| 75 | 72 | 95 | M36X2 | G3/4| 50 | 180 | 40 |M16| 60 | 32 | 250 | 38 | 314 | 22 G-TA200
250 270|220 | 90 | 84 | 105 | M42X2 G1 | 52 | 200 | 50 |M20| 67 | 40 | 320 | 60 | 400 | 30 G-TA250
320 340 | 270 | 110 | 96 | 120 | M48X2 G1 | 58 | 220 | 60 |M24| 82 | 50 | 400 | 70 | 500 | 35 G-TA320

3.047




MIKSXPC,

g

SHANGHAI XINGYICK PNEUMATIC QW
SRS
TC Central Trunnion (XQGA, XQGB Cylinder)
DD 4-EE Cushion adjusting screw ] 8-Uv
T o
H}H H;H
s X é
o J— .
931 l =
,,,,,,,,,,,,,,, 1 e
VKK, T KK CIAA
BB BD L+ CJA
Boresize | o | Ap | B [BB/BD| DD EE |KK| L |[MM| UV | V| D| T | TT| U | PartsNo.
32 40 | 30 |24.5|22| 20 [M10x1.25|Rc1/8| 26| 97 | 12 | M5 | 9| 9 | 44 | 95| 60| G-TC32
40 53| 38 |35.5|30| 33 | M14x1.5 |Rc1/4| 27| 99 | 16 | M6 | 12| 16 | 65 | 21 | 101| G-TC40
50 62| 46 |40.5|35| 37 | M18x1.5 | Rc3/8| 27 | 101| 20 | M6 | 15| 16 | 80 | 24 | 116| G-TC50
63 78| 57 |40.5|35 37 | M18x1.5 | Rc3/8| 27 | 101| 20 | M8 | 15| 20 | 100 | 24 | 144| G-TC63
80 94| 73 |46.5|40| 47 | M22x1.5 |Re1/2| 34| 121| 25 | M8 | 18| 25 | 112 | 30 | 168| G-TC80
100 [114| 89 |51.5|45| 64 | M27x1.5 | Rc1/2| 36 | 132 | 30 | M10| 20 [31.5/ 136 | 38 | 203| G-TC100
125 (140|110 | 60 |54| 65| M27x2 | G1/2 | 46 | 160 | 32 |M12| 45| 25 [160 | 30 | 210| G-TC125
160 |180| 140 | 65 | 72| 80 | M36x2 | G3/4 | 50 | 180 | 40 |M16| 58| 32 | 200 | 38 | 264 G-TC160
200 |220| 175| 75 | 72| 95| M36x2 | G3/4 | 50 | 180 | 40 |M16| 60| 32 | 250 | 38 | 314| G-TC200
250 |270| 220 | 90 | 84/105| M42x2 | G1 |52 200| 50 |M20| 67| 40 | 320 | 60 | 400/ G-TC250
320 [340| 270 | 110 | 96/120| M48x2 | G1 |58 |220| 60 |M24|82| 50 | 400 | 70 | 500/ G-TC320
CA Single Clevis (XQGA, XQGB Cylinder)
DD 8-UVv 4-EE Cushion adjusting screw BL
i" ®CD10
NHE = :r
e|2 &
GI } MR
Ll o
[ TITH
VL KK KK, |
BB BD L+
Boresize | Ao | AA | B [BB|BD| DD EE |[KK| L |[MM| UV | V | BL | CD| EW | MR | Parts No.
32 40 | 30 |24.5| 22|20 |M10x1.25|Rc1/8|26| 97 | 12| M5 | 9 | 23 | 10| 9 | 10 G-CA32
40 53 | 38 [35.5|30|33| M14x1.5 |[Rc1/4| 27| 99 | 16| M6 | 12 | 38 | 10 | 15 | 10 G-CA40
50 62 | 46 |40.5|35|37 | M18x1.5 |Rc3/8| 27| 101 | 20| M6 | 15| 37 | 12 | 18 |11.5| G-CA50
63 78 | 57 |40.5|35|37| M18x1.5 |Rc3/8|27| 101 | 20| M8 | 15| 47 | 16 | 25 |14.5| G-CA63
80 94 | 73 |46.5|40 |47 | M22x1.5 |Rc1/2| 34| 121 | 25| M8 | 18 | 57 | 20 |31.5/16.5| G-CA80
100 114 | 89 |51.5|45|64 | M27x1.5 |Rc1/2| 36| 132| 30 | M10| 20 | 64 | 25 |35.5(20.5| G-CA100
125 140 | 110 | 60 |54 |65| M27x2 | G1/2 | 46| 160 | 32 |M12| 45| 50 | 25 | 70 | 25 | G-CA125
160 180 | 140 | 65 | 72|80| M36x2 | G3/4 | 50| 180 | 40 |M16| 58 | 55 | 30 | 90 | 30 | G-CA160
200 220 | 175| 75 | 72| 95| M36x2 | G3/4 | 50| 180 | 40 |M16| 60 | 60 | 30 | 90 | 30 | G-CA200
250 270 | 220 | 90 |84 |105| M42x2 | G1 |52|200| 50 M20| 67 | 70 | 40 | 110 | 40 | G-CA250
320 340 | 270 | 110 | 96 |120| M48x2 | G1 |58|220| 60| M24| 82| 80 | 45 | 120 | 45 | G-CA320

3.048




MIKSXPC,

g

SHANGHAI XINGYICK PNEUMATIC Sam
sQy
CB Double Clevis (XQGA, XQGB Cylinder)
cs 0]
cw, -0.5 cw DD 8-Uv 4-EE Cushion adjusting screw BL
|
m— i HHTR ©CD H10
/ b
Cﬂ§ 4 - N -
9§L7 @ G
s i MR
T i 1 A
CJAA V| KK KK,
A BB | BD L+
Boresize | Ao | AA| B [BB[BD| DD EE |KK| L [mm| uv|v|BL|CB|CD|cW|MR| PartsNo.
32 40 | 30 |24.5|22| 20 [M10X1.25|Rc1/8] 26 | 97 | 12| M5 | 9 | 23 9 10 5 10 G-CB32
40 53| 38 |35.5/30| 33 | M14x1.5|Rc1/4/ 27| 99 | 16| M6 |12| 38 | 15 | 10 | 7.5| 10 G-CB40
50 62 | 46 |40.5|35| 37 | M18X1.5|Rc3/8| 27 | 101 | 20| M6 | 15| 37 | 18 12 9 [11.5 G-CB50
63 78 | 57 [40.5| 35| 37 | M18X1.5 |Rc3/8| 27 | 101 | 20| M8 | 15| 47 | 25 16 |12.5/14.5 G-CB63
80 94 | 73 |46.5|40| 47 | M22X1.5|Rc1/2| 34 | 121 | 25| M8 | 18| 57 |31.5| 20 | 16 |16.5 G-CB80
100 114| 89 |51.5|/45| 64 | M27x1.5|Rc1/2| 36 | 132 | 30 | M10| 20| 64 | 35.5| 25 | 18 |20.5 G-CB100
125 140| 110 | 60 | 54| 65 M27x2 | G1/2 |46 | 160 | 32| M12|45| 50 | 70 | 25 | 25 | 25 G-CB125
160 180| 140| 65 | 72|80 | M36x2 | G3/4|50|180| 40| M16|58| 55| 90 | 30 | 35 | 30 G-CB160
200 220 175| 75 | 72| 95| M36x2 | G3/4|50|180| 40| M16|/60| 60 | 90 | 30 | 35 | 30 G-CB200
250 270] 220| 90 | 84|105| M42Xx2 G1 | 52]200| 50| M20| 67| 70 | 110 | 40 | 40 | 40 G-CB250
320 340|270 | 110 | 96120 M48x2 G1 | 58| 220| 60| M24|82| 82 | 120 | 45 | 50 | 45 G-CB320

3.049




ASXPC. oo e e

sQw

I-Type Rod Clevis

= ®CD H10

oD

7

L~
< S
i 5
OCF DD-6H |
Bore size A BA cA cB cb CF D DD Parts No.
40 15 20 37 15 10 21 20 M14X1.5 G-140
50 18 23 44 18 12 25 22 M18X 1.5 G-150
63 22 27 49 25 16 28 28 M18x1.5 G-163
80 25 32 58 31.5 20 32 32 M22x 1.5 G-180
100 25 32 59 35.5 25 38 39 M27x1.5 |  G-1100
125 28 37 68 45 25 39 39 M27 X2 G-1125
160 36 48 86 58 30 50 46 M36x 2 G-1 160
200 36 55 105 58 30 52 48 M36% 2 G-1200
250 48 65 125 63 40 58 64 M42x 2 G-1250
320 55 75 150 80 45 68 72 M48X 2 G-1320
Y-Type Rod Clevis o1
CB
b: . oD
5
L] 8}
\J -
5 N\ [
DD-GH|
OCF

Boresize | ca cB cc co CF cT D DD Parts No.
40 37 15 15 10 21 30 20 M14x1.5 G-Y40
50 44 18 16 12 25 36 22 M18%1.5 G-Y50
63 49 25 18 16 28 50 28 M18X1.5 G-Y63
80 58 31.5 22 20 32 63 32 M22% 1.5 G-Y80
100 59 35.5 25 25 38 71 39 M27x1.5 |  G-Y100
125 68 45 27 25 39 90 39 M27 X2 G-Y125
160 86 58 31 30 50 116 46 M36% 2 G-Y160
200 105 58 32 30 52 116 48 M36X 2 G-Y200
250 125 63 40 40 58 126 64 M42x 2 G-Y250
320 150 80 44 45 68 160 72 M48X 2 G-Y320

3.050




ASXPC. oo e e

sQW
General Single Acting Cylinder
XQGAD(D,) Series (®32~®63)
Stroke: 25~80, Standard Stroke

Mounting type: The same as those of the general Boresize” || Standard Stroke™ | Max. Stroke
double acting cylinder e
) 40 25,40,50,80 80
Mounting 50
Code Description 63
SD Basic
LB Foot bracket S . f .
A Front flange pecifications
FB Rear flange Fluid Filtered compressed air
TA Front trunnion Max. Operating pressure 1.0MPa
B Rear trunnion Min. Operating pressure 0.25MPa
TC Center trunnion Fluid temperature -10~+60C
CA Single clevis Ambient temperature 5~60TC
CB Double clevis Stroke allowance +1.0mm
Dimensions(mm)
SD Basic (XQGAD Spring Return Single Acting Cylinder)
Symbol
DD Cushion adjusting screw % 8-Uuv
i l i . .
=~
s EI —1 @'7 @3
° ‘ \k/
i ] i
V.|, KK KK CAA
BB BD L DA
Boresize | A AA B BB BD DD EE KK MM uv v
32 40 30 24.5 22 20 M10X1.25| Rc1/8 26 12 M5 9
40 53 38 35.5 30 33 M14X1.5| Rc1/4 27 16 M6 12
50 62 46 40.5 35 37 M18X1.5| Rc3/8 27 20 M6 15
63 78 57 40.5 35 37 M18X1.5| Rc3/8 27 20 M8 15
Strok
i 25 40 50 80
S L Fi(N) L F.(N) L Fi(N) L Fy(N)
32 141 257 170 257 195 257 252 257
40 156 402 185 402 208 402 280 402
50 165 628 205 628 230 628 320 628
63 175 998 221 998 244 998 350 998

3.051



ASXPC. v s e

sQw

SD Basic (XQGAD, Spring Extend Single Acting Cylinder)
Symbol

DD 2-EE Cushion adjusting screw 8-uv
i } i 5 -
) gl 0 (_ / M)
°|3 )Y 7,
|
T . B
V .| KK KK AA
BB BD L A
Boresize | A AA B BB DD EE KK MM uv v
32 40 30 245 22 M10Xx1.25| Rc1/8 26 12 M5 9
40 53 38 35.5 30 M14X15| Rcl1/4 27 16 M6 12
50 62 46 40.5 35 M18X1.5| Rc3/8 27 20 M6 15
63 78 57 40.5 35 M18X1.5| Rc3/8 27 20 M8 15
il 25 40 50 80
B°r§n§ize DB L F,(N) BD L F,(N) BD L F,(N) BD L F,(N)
32 45 141 221 60 170 221 70 195 221 100 252 221
40 58 156 338 73 185 338 83 208 338 13 280 338
50 62 165 528 77 205 528 87 230 528 17 320 528
63 62 175 897 77 221 897 87 244 897 17 350 897

Note: Thrust F,and Pull F,are theoretical forces at operating pressure 0.5MPa.

3.052



ASXPC. oo e e

sQw

General Double Piston Rod Cylinder
XQGA2(B2) Series ($32~®320)

The double rod cylinders are based on XQGA,
XQGB general cylinders. On the two sides, the
lengths of rods, the thrust and pull forces, the
moving directions, the speeds and strokes are
all identical.

Specifications, standard stroke and dimension:

are the same as those of the general double ac:

ting cylinder.
Mounting
Code Description
SD Basic Sym bol
LB Foot bracket [ T[] [ 1]
FA Front flange L,—LJ L,—/ML,J
TA Front trunnion
Dimensions(mm)

SD Basic (XQGA2, XQGB2Double Piston Rod Cylinder)

DD 4-EE Cushion adjusting screw 8-Uv
/ |
T i T i l i
FE=opE 0| BE)
e
I i i L i i
\ KK KK V
BB BD L+ BD+ BB DA
Boresize | 5 AA B BB BD DD EE KK L MM uv v
32 40 30 245 | 22 20 |M10x1.25| Rc1/8 | 26 97 12 M5 9
40 53 38 355 | 30 33 |M14x1.5 | Re1/4 | 27 99 16 M6 12
50 62 46 | 405 | 35 37 | M18x1.5 | Re3/8 | 27 101 20 M6 15
63 78 57 | 405 | 35 37 | M18x1.5 | Rc3/8 | 27 101 20 M8 15
80 94 73 | 465 | 40 47 | M22x15 | Rc1/2 | 34 121 25 M8 18
100 114 89 515 | 45 64 |M27x1.5 | Re1/2 | 36 132 30 M10 | 20
125 140 | 110 60 54 65 | M27x2 | G1/2 | 46 160 32 M12 | 45
160 180 | 140 65 72 80 | M36x2 | G3/4 | 50 180 40 M16 | 58
200 220 | 175 75 72 95 | M36x2 | G3/4 | 50 180 40 M16 | 60
250 270 | 220 90 84 105 | M42x2 | G1 52 200 50 M20 | 67
320 340 | 270 | 110 96 120 | M48x2 | G1 58 220 60 M24 | 82

3.053



ASXPC. oo e e

sQw

Adjustable Stroke Cylinder
XQGAL(L1) Series (»32~®320)

Piston rod: Adjustable structure
Adjustingrange: 0~50mm

Dimensions and mountings:

The same as XQGA:(without CA, CB mountings).

Specifications
Fluid Filtered compressed air
Max. Operating pressure 1.0MPa
Min. Operating pressure 0.1MPa
Fluid temperature -10~+60C
Ambient temperature 5-60C
Piston speed 50~500mm/s
Stroke allowance 0~250+1.0 251~1000+1.5 1001~~2000+2.0(mm)
Adjusting method Manual

Standard Stroke

Bore size Standard stroke Max. Stroke Cushion stroke
mm mm mm mm
32
40 500
50
= 600

25,50,80,100,125,160,200,
80 250,320,400,500,600,700 1000
Ly 800,900,1000,1100,1200 0750
129 1500,2000 1200
160 1500
200 2000
250
1100
320

3.054



MMKSXPC,

Dimensions(mm)

SHANGHAI

Extension Adjustable Type (XQGAL Cylinder)

LA++

Symbol

XINGYICK PNEUMATIC

N—
sQw

T

4-EE ST+
N L
mg*‘ S p | B—
861 ‘ ‘“‘K_H -
I [0
\ KK KK
DD/ | BB BD, L+ Cushion adjusting screw A
Bore size Adjustable extending
mm A | AA B | BB | BD DD EE KK | L | MM | uv | V LA | st
32 40 | 30 | 245 | 22 20 M10X 1.25 Rc1/8 26 | 97 12 | M5 9 233
40 53 | 38 | 355 | 30 33 M14X 1.5 Rc1/4 27 | 99 16 | M6 | 12 | 262
50 62 | 46 | 405 | 35 37 M18% 1.5 Rc3/8 27 | 101 | 20 | M6 | 15 | 279
63 78 | 57 | 405 | 35 37 M18X 1.5 Rc3/8 27 | 101 | 20 | M8 | 15 | 279
80 94 | 73 | 465 | 40 | 47 M22X 1.5 Rc1/2 34 | 121 | 25 | M8 | 18 | 318 |00
100 14 | 89 | 515 | 45 64 M27 X 1.5 Rc1/2 36 | 132 | 30 | M10 | 20 | 355
125 140 | 110 | 60 54 65 M27 X 2 G1/2 46 | 160 | 32 | M12 | 45 | 419
160 180 | 140 | 65 72 80 M36 X 2 G3/4 50 | 180 | 40 | M16 | 58 | 493
200 220 | 175 | 75 72 95 M36 X 2 G3/4 50 | 180 | 40 | M16 | 60 | 520
250 270 | 220 | 90 84 | 105 M42 X 2 G1 52 | 200 | 50 | M20 | 67 | 580
320 340 | 270 | 110 | 96 | 120 M48 X 2 G1 58 | 220 | 60 | M24 | 82 | 640
Note: ST—adjustable stroke
Retraction Adjustable Type (XQGAL. Cylinder) Symbol
LA(+2ST)+
4-EE Cushion adjusting screw ST
T TTT
o T 1 ol
o Q O
) B Ny =
2 NI 1T
e / Vv KK KK
DD BB BD, L+
Bore size Adjustable returning
mm A AA B BB | BD DD EE KK L MM | UV Vv LA | St
32 40 | 30 | 245 | 22 20 M10X%1.25 Rc1/8 26 | 97 12 | M5 9 164
40 53 | 38 | 355 | 30 33 M14X 1.5 Rc1/4 27 | 99 16 | M6 | 12 | 190
50 62 | 46 | 405 | 35 37 M18X 1.5 Rc3/8 27 | 101 | 20 | M6 | 15 | 216
63 78 | 57 | 405 | 35 37 M18% 1.5 Rc3/8 27 | 101 | 20 | M8 | 15 | 216
80 94 | 73 | 465 | 40 47 M22X 1.5 Rc1/2 34 | 121 | 25 | M8 | 18 | 280 |00
100 114 | 89 | 515 | 45 64 M27 X 1.5 Rc1/2 3 | 132 | 30 | M10 | 20 | 310
125 140 | 110 | 60 54 65 M27 X 2 G1/2 46 | 160 | 32 | M12 | 45 | 336
160 180 | 140 | 65 72 80 M36 X 2 G3/4 50 | 180 | 40 | M16 | 58 | 420
200 220 | 175 | 75 72 95 M36 X 2 G3/4 50 | 180 | 40 | M16 | 60 | 442
250 270 | 220 | 90 84 | 105 M42 X 2 G1 52 | 200 | 50 | M20 | 67 | 495
320 340 | 270 | 110 | 96 | 120 M48 X 2 G1 58 | 220 | 60 | M24 | 82 | 558

Note: ST—adjustable stroke

3.058




//KSXPC@ SHANGHAI XINGYICK PNEUMATIC QLZ)

Valve Cylinder

XQGAF(B)F Series (#32~®320)

SD Basic

The valve cylinders are cylinders (XQGA, XQGB, XQGAD,
XQGAD1) equipped with solenoid direction control valves.

Silencers or throttling silencers can be connected to the

exhaust ports to control the speed and reduce noise.
The valve cylinders simplify air circuits and are easy for use.
The dimensions of valve cylinders are respectively identical to those of the original cylinders.

Refer to the list for the matching of cylinders valves and fittings.

Specifications
Acting type Double acting ‘ Single acting
Fluid Filtered compressed air
Max. Operating pressure 1.0MPa
Min. Operating pressure 0.1MPa ‘ 0.25MPa
Fluid temperature -10~+60C
Ambient temperature 5~60C
Piston speed 50~500mm/s
Stroke allowance 0~250+1.0 251~1000+1.5  1001~2000+2.0(mm)

Matching List

. Max. Stroke Model of valve
Boresize |  Standard stroke Fitting model
mm mm Double acting | Single acting For double acting For single acting
32 500 XQ240440 XQ230440 32090410
40 80 32090613
50 25 40 50 ig;gggi? XQ230640
o 80 100 125 600 32090817
80 160 200 250 XQ251041 XQ251040 32091021
320 400 500 1000
100
- 600 700 800 1200
—— 900 1000 1100 ——— XQ251540 32091221
160 1500 -
1200 1500 2000
200 2000 XQ251541
250
1100 32091421
320

3.056



ASXPC. oo e e

sQw

Dimensions(mm)

SD Basic (XQGAF, XQGBF Cylinder)
Symbol

=k \

LB+

.. B
@u&uﬂ!u@ ﬁl&
e "o ||

o0 (=

S
S

V| KK Cushion adjusting screvs/ KK

BB |, BD L+
Boresize | o | AA | B | BB | BD DD KK | L |MM | RN | UV | V EE LB

32 40 | 30 |245| 22 | 20 | M10X1.25 | 26 | 97 | 12 | 112 | M5 | 9 G1/8 | 165
40 53 | 38 | 355 30 | 33 | M14x15 | 27 | 99 | 16 | 125 | M6 | 12 G1/4 |186.5
50 62 | 46 |40.5| 35 | 37 | M18x1.5 | 27 | 101 | 20 | 140 | M6 | 15 G1/4 |188.5
63 78 | 57 | 40.5| 35 | 37 | M18x1.5 | 27 | 101 | 20 | 156 | M8 | 15 G1/4 |188.5
80 94 | 73 | 46.5| 40 | 47 | M22x1.5 | 34 | 121 | 25 | 184 | M8 | 18 G3/8 | 208
100 114 | 89 |51.5| 45 | 64 | M27x1.5 | 36 | 132 | 30 | 204 | M10| 20 G1/2 | 237
125 140 | 110 | 60 | 54 | 65 | M27x2 | 46 | 160 | 32 | 230 | M12 | 45 G1/2 | 260
160 180 | 140 | 65 | 72 | 80 | M36x2 | 50 | 180 | 40 | 179 | M16 | 58 G1/2 | 278
200 220 | 175 | 75 | 72 | 95 | M36x2 | 50 | 180 | 40 | 319 | M16 | 60 G1/2 | 278
250 270 | 220 | 90 | 84 | 105 | M42x2 | 52 | 200 | 50 | 370 | M20 | 67 G1/2 | 280
320 340 | 270 | 110 | 96 | 120 | M48Xx2 | 58 | 220 | 60 | 440 | M24 | 82 G1/2 | 295

Note: The dimensions of valve cylinders are respectively identical to those of the original cylinders but the "LB" and "RN" depend on the
valves used.

3.057



MMKSXPC,

SD Basic (XQGADF Spring Return Single Acting Cylinder)

SHANGHAI

XINGYICK PNEUMATIC

Symbol

=
sQw

| 2-EE %
I \1 R P‘
@2 8-UVv DD MH 11
z , © 'O
@ u 2 e
g BI | /@7
i -
O0AA V.| KK Cushion adjusting screw KK, |
oA BB BD L
Bore size A AA B BB | BD DD EE | KK | MM | UV v RN
32 40 30 | 245 | 22 20 | M10x1.25 | G1/8 | 26 12 | M5 9 112
40 53 38 | 355 | 30 33 M14x1.5 | G1/4 | 27 16 | M6 12 | 125
50 62 46 | 405 | 35 37 M18x1.5 | G1/4 | 27 20 | M6 15 | 140
63 78 57 | 40.5 | 35 37 M18x1.5 | G1/4 | 27 20 | M8 15 | 156
Stroke 25 40 50 80
el L F1(N) L F1(N) L F1(N) L F1(N)
32 141 257 170 257 195 257 252 257
40 156 402 185 402 208 402 280 402
50 165 628 205 628 230 628 320 628
63 175 998 221 998 244 998 350 998

Notes: 1. Thrust F1 is the theoretical force at operating pressure 0.5MPa
2. The dimensions of XQGADF are respectively identical to those of the original cylinders but the "LB" and "RN" depend on the
valve used.

3.058




ASXPC. oo e e

SLaV

SD Basic (XQGAD1F Spring Extend Single Acting Cylinder)

Symbol
—WW
==h\
Al 2 %
\R P
L 1 1T 1T
@@ IR 7)@
5 8-Uuv DD A _
= |
! - @ g v 17 L
g =2 |
S 2 3 ¥
O AA v Kk | Cushion adjusting screw KK
oA BB | BD | ! L .

Bore size A AA B BB DD EE KK MM uv v RN
32 40 30 245 | 22 M10x1.25 | G1/8 | 26 12 M5 9 112
40 53 38 355 | 30 M14x15 | G1/4 | 27 16 M6 12 125
50 62 46 405 | 35 M18x1.5 | G1/4 | 27 20 M6 15 140
63 78 57 405 | 35 M18x1.5 | G1/4 | 27 20 M8 15 156
Stroke 25 40 50 80
SOERD BD | L |Fi(N) | BD | L |Fi(N)| BD | L |FiN)| BD | L |Fi(N)

32 45 | 141 | 221 60 | 170 | 221 70 | 195 | 221 | 100 | 252 | 221
40 58 | 156 | 338 73 | 185 | 338 83 | 208 | 338 | 113 | 280 | 338
50 62 | 165 | 528 77 | 205 | 528 87 | 230 | 528 | 117 | 320 | 528
63 62 | 175 | 897 77 | 221 | 897 87 | 244 | 897 | 117 | 350 | 897

Notes: 1. The Pull Fz2is the theoretical force at operating pressure 0.5MPa.
2. The dimensions of XQGAD1F are respectively identical to those of the original cylinders but the "RN" depends on
the valve used.

3.059



ASXPC. oo e e

sQW

General Auto Switch Cylinder
XQGA(B)Kn Series (#32~®200)

The auto switch cylinders (XQGAKn, XQGBKn, n: switch
number) are the cylinders (XQGA, XQGB, ®32~®200,

equipped with magnets and auto switches.

Their specifications and dimensions are respectively

the same as those of their original cylinders.

Standard Stroke Mounting
Bore size Standard stroke Max.msr}roke Cushlcr)nr?n stroke Code Description
32 12 SD Basic
500
40 15 LB Foot bracket
Front flange
50 600 20 FA g
63 25. 50. 80. 100. 125. 160. 200, FB Rear flange
80 250, 320. 400, 500, 600. 700 1000 ) TA Front trunnion
100 800, 900. 1000, 1100, 1200, 1500 B Roar trannion
125 1200 TC Center trunnion
160 1500 40 CA Single clevis
200 2000 50 CB Double clevis
Dimensions(mm)
SD Basic (XQGAKn. XQGBKn Cylinder) Symbol
—— ——
\ \ ‘ \ 7 ‘
\ \ \ Gl

DD 34 Cushion adjusting screw 4-EE RY RY 8-Uv

al | S—— R o /
oE ] o : HoH
1 L LISy
Vv K‘K K‘K DAA
BB BD L+ OA
Boresize | A | AA | B | BB | BD DD EE KK | L |[MM | RN | RV | RY | UV | V
32 40 | 30 |24.5| 22 | 20 | M10x1.25 | Rc1/8 26 | 97 |12 | 47 | 54 | 27 | M5 | 9
40 53 | 38 |355| 30 | 33 | M14x1.5 Rc1/4 27 | 99 | 16 | 60 | 67 |33.5| M6 | 12
50 62 | 46 |40.5| 35 | 37 | M18x1.5 Rc3/8 27 | 10120 | 69 | 76 | 38 | M6 | 15
63 78 | 57 |40.5| 35 | 37 | M18x1.5 Rc3/8 27 | 101 |20 | 85 | 92 | 46 | M8 | 15
80 94 | 73 |46.5| 40 | 47 | M22x1.5 Rc1/2 34 | 121 | 25 | 101 | 108 | 54 | M8 | 18
100 114 | 89 |51.5| 45 | 64 | M27x1.5 Rc1/2 36 | 132 | 30 | 121 | 128 | 64 | M10| 20
125 140 | 110 | 60 | 54 | 65 | M27x2 G1/2 46 | 160 | 32 | 147 | 154 | 77 | M12 | 45
160 180 | 140 | 65 | 72 | 80 | M36x2 G 3/4 50 | 180 | 40 | 187 | 194 | 97 | M16 | 58
200 220 | 175 | 75 | 72 | 95 | M36x2 G 3/4 50 | 180 | 40 | 227 | 234 | 117 | M16 | 60

3.060



ASXPC. oo e e

sQw

Japenese Type Cylinder

Symbol
QMB Series (»32~®100) JE]
EEIDEED 32 \ 40 \ 50 \ 63 \ 80 \ 100
Fluid Filtered compressed air
Acting type Double acting
Operatip\ng)r(iressure 1.0MPa
Operatir'¥|gin|5ressure 0.1MPa
Cushion Air cushion
Ambient temperature 5~60°C
Piston speed 50~500mm/s
e 0~250"¢°  251~1000"¢° 1001~1500%°
*Lubrication Pro-lubrication in factory
Port size G1/8 ‘ G1/4 ‘ G3/8 ‘ G1/2

*If used, turbine oi 1 *1 (ISO Vg32) is recommended.

Standard Stroke / Cushion Stroke /

How to Order Auto Switch
Bore Cushion ; ;
- - - : Standard stroke Auto switch Mountin
Q M —_— B —— 40 1_Q sn!]zme i stnr]?nke parts [¢]
Code Stroke TNH: Standard 22 188 BT.03
XC8: Adjustable 40 255075100 18.8
stroke QCK2400
Series Bore size 0-50mm 50 125150 175 21.3 BT05
200 250 300
Nil: Air cushion 63 400 500 213 QCK2422
o H: Low pressure hydraulic 80 30.3
M N: Without cushion BT-08
D: Built-in magnet 100 29.3
2: E?Silc ty’ie_ EEo Option: Non-standard stroke
. : Single clevis : Front flange Notes:
Nil: Single rod D: Double clevis L: Foot bracket otes:
T . A " 1. Voltage and current should not be overloaded.
W: Double rod T: Center trunnion  G: Rear flange 2. Auto switch should not be linked directly to power, should be
linked in series with a load in series.
3. Auto switch should not be close to strong magnetic bodies or
. . magnetic shield is used.
Dimensions (mm) 4. For trunnion, please consult factory.
Basic Type Air cushion W X Port size swW MM <G, 2P <G
QMB / e -
PR =1 I
e
¢ w DI
e 9 ]
=Tl 1
ul LKy e
I MA,
A E N 2X4-J N
oc
H S+
0B 77+
Bore | Standard
Sr:]fne stroke |A |[OB|[JC/D |E|F | G [H | | J K |IMA|MB MM N P | S| X |W|zZz|SW| U
mm
32 ~500 |22 46 (32.5/12|30|13| 13 |47[19.5| M6X1.0| 6 |16 | 4 M10X1.25 26 |G1/8| 84 | 4 |6.5|135| 15| 6
40 ~500 (30|52 |38|16|35|13|14 |51|27 | M6X1.0| 6 |16 | 4 |[M14X15|26 |G1/4| 84| 4 | 9 |135|21 | 7
50 ~600 |35| 65 |46.5/20|40|14|15.5/58| 32 | M8X1.25|/7 |16 | 5 | M18X1.5|29.5G1/4| 94 | 5 |10.5/156| 24 | 8
63 ~600 |[35| 75 |56.5/20|45|14|16.5/58| 32 | M8X1.25/ 7 |16 | 5 | M18X1.5|29.5/G3/8| 94 | 9 |12 |156| 24 | 8
80 ~1000 (40|95 |72|25|45(20|19 |72| 37 | M10X1.5/10[16 | 5 | M22X1.5| 35 |G3/8|114|11.5| 14 {190| 30 | 10
100 ~1000 |40(114| 89 |30|55|20|19 |72| 37 | M10X1.5/10(16 | 5 |M26X1.5| 35 |G1/2|114| 17 |15 |190| 36 | 12

3.061



ASXPC. oo e e

sQW
Double Rod
QMBWB
MM — — MM Borrﬁmsize 2y H VD F MM
- | ‘ ]— 32 178 | 47 4 13 | M10Xx1.25
[l v _ _ _ _ Al },
L= _|_ 40 186 51 4 13 | M14X15
—— | b
L = = == 50 210 | 58 6 14 | M18x1.5
K Lo o, |, 63 210 58 6 14 | M18%X1.5
A F F K A
" D e 80 258 72 8 20 | M22x1.5
Lt 100 258 | 72 8 20 | M26X1.5
Accessories
Foot Bracket Front Flange Single Clevis
4-OFD ®CDH9
| pre— — |
. 5 e T =TT
. ATTF . e O @568 T &
= Z % i { i g v | JJ i QV
- =E - - Pany ‘
2 - N = Y
T / T TIT
ar \4-0LD LX FX LU,
Y, X Lz FE |IFT FZ CX L ,RR
Bore Foot bracket Front flange Single clevis
size
Mm PartsNo. |LD|LH| LT |[LX| LY |LZ| X |Y PartsNo. | B |FD|FE|FT|FX |FY|FZ| PartsNo. |[CD|CX| L RR|U
32 | MB-L03 | 7 |30|32|32| 53 |50 |22| 9| c95-F03 |50 3 /10|64 (32|79| MB-CO3 |10 | 14 |23|10.513
40 | MB-LO4 | 9 |33|3.2|38| 59 |55 |24|11| C95-F04 |55 3 (10| 72(36(90 | MB-Co4 | 10| 14[23| 11 |13
50 | MB-LO5 | 9 |40|3.2|46|725|70 |27 |11| c95-F05 |70 2 12| 90|45[110] MB-C05 |14 | 20|30/ 15 |17
63 | MB-LO6 |12 |45|3.6|56|82.5|80 |27 |14| C95-Fo6 |80 2 [12/100|50(120] MB-C06 |14 | 20|30 15 |17
80 | MB-LO8 |12 |55|4.5|72(102.5/100|30|14| C95-F08 |100|12| 4 |16|126/63(153] MB-C08 |22 | 30 |42 23 |26
100 | MB-L10 |14 |65|4.5|89| 122 [120|32|16| C95-F10 |120|14 |4 |16|150|75[178] MB-C10 |22 | 30|42]| 23 |26
Double Clevis Double Clevis Bracket
0B O®CDH9 DB
‘ ‘ ‘ ; ©DDHY X
@I__@ _ EE 1l — o T8
| | i T } DT
| [T =54 A
©ulik f f z N\
o i
X Z+ L RR DC Do8 4-0DR 6: DL |DU
cz 27+ DE DA
Bore Double clevis Double clevis bracket

$12€ I partsNo. |08| L [RR| U [cp|ex|cz| z [ zz | partsno. [7B]pAIDE|DC|DD|DE[DH|DL/DO[DRDS| DT|DU DX A [ B

32 MB-D03 | 46|23 |10.5/ 13| 10| 14 | 28 |154|{164.5| MB-E03 |46 |42|32|44|10(62|33 (22| 9 6.6/ 7 | 15|10 |14|25|45
40 MB-D04 | 52|23 |11 [13| 10| 14|28 |158| 169 | MB-E04 |52 |42|32(44/10(62|33|22| 9 |6.6| 7 | 15|10 |14|25/45
50 MB-D05 | 65|30 15|17 | 14|20 |40 |182| 197 | MB-EO5 |65 |53|43|/60|14/81/45|30110.5 9 |8 | 18(11.5/20/40/60
63 MB-D06 | 75|30 15|17 | 14|20 |40 182|197 | MB-E06 |75 |53|43|60|14/81/45|30110.5 9 |8 | 18[11.5/20/40/60
80 MB-D08 | 95|42 |23 | 26| 22| 30 | 60 |228| 251 MB-E08 |95 (73|64 |86|22(111/65|45|25|11|10| 22 | 14 |30{30(55
100 | MB-D10 [114/42| 23 | 26| 22 | 30 | 60 | 228 | 251 MB-E10 [114|73|64|86|22[111/65 |45| 25 |11 |10| 22 | 14 |30|30|55

3.062




ASXPC. oo e e

sQW

Center Trunnion Center Trunnion Bracket
Z + (1/2 Stroke) ) 70 IE 70
‘ | 2
5  m— —H 2 ‘
@ o ‘ BN °,
S E(IQER EE[[ o
e . |
| ! =t
Sy CEN a2 R e
il K il 0
X TY TU TL T
TZ 1T TC 4-OTR/ TA
Bore Center trunnion Center trunnion bracket

size
mm Parts No. TD|TT |TX | TY | TZ2 | 2 PartsNo. |TA|TC|TE|TF|TH|TL|TO|TR|TS| TT|TU|TX |TY| Z |[TD

32 | MB-TO3 | 12|17 |50 | 49 | 74 | 89 | MB-S03 |62 62|74 |47|35|45|12| 7 10| 13 |8.5/ 50 |49 |89 |12
40 | MB-T04 | 16|22 |63 |58 | 95 | 93 | MB-S04 [80|79|95|60|45|60 17| 9 |12| 17 |10| 63 |58 |93 |16
50 | MB-TO5 | 16 |22 | 75| 71 | 107|105 | MB-S05 |80 |91|107|60 |45 |60 |17| 9 |12| 17|10| 75 |71 |105| 16
63 | MB-TO6 | 20 |28 |90 | 87 | 130|105 | MB-S06 [100({110{130| 78|60 |70 |20| 11 | 14| 22| 15| 90 |87 |105/ 20
80 | MB-T08 | 20 | 34 |110| 110|152 |129 | MB-S08 [100[130[150| 78 |60 | 70 |20| 11 | 14| 22| 15| 110 [110/129 20
100 | MmB-T10 | 25|40 |[132]136| 182|129 | MB-S10 [120]/155/180/100/ 75 | 90 | 25|13.5 17| 24 | 15 | 132 |136/129| 25

I -Type Rod Clevis Y-Type Rod Clevis with Pin
MM _®ONDHY o A
| . AN &, 2-0d %
4&’ b=l [ = ) MM  ©NDH9 = T i
‘ A1l | Ut
PREAXN - 111 M |
NX L w iR L
]
ut
i
Bore I-type rod clevis Y-type rod clevis with pin
size

mm PartsNo. | A |A1|E1|L1 MM  INDNX| R1 |U1| PartsNo. | D
32 MB-103 |40| 14 |20{30{M10X1.25/10|14| 12 |16] MB-Y03 |10
40 MB-104 |50|19|22{40| M14X1.5|10|14|12.5{19] MB-Y04 |10
50 MB-105 |64 |24 28|50 M18X1.5|14|20|16.5|24] MB-Y05 |14
63 MB-106 |64 |24 28|50 M18X1.5|14|20|16.5|24] MB-Y06 |14
80 MB-108 |80 | 26 |40|60| M22X1.5|22|30|23.5|34| MB-Y08 |22
100 MB-110 |80 | 26 |40|60| M26XX1.5|22|30|23.5|34] MB-Y10 |22

E1 |1 L1 L MM M |[ND|NX|NZ|R1|U1
20 | 36| 30|44 | M10X1.25| 4 (10|14 |28 10|16
22 136|40|44| M14X1.5| 4 (1014 |28 11|19
28 |51|50(60| M18X1.5 4.5/ 14|20 (40| 14|24
28 |51/ 50|60 | M18X1.5 4.5/ 14|20 |40 14|24
40 | 726582 M22X1.5| 5 | 22|30 |60 |20 34
40 | 726582 | M26X1.5 | 5 | 22|30 |60 | 20|34

A DA IO

Weight Calculation

. QC95/QMB Series QC95 Series
Bore size
mm 32 40 50 63 80 100 125 160 200
Basic type 0.50 0.69 1.19 1.47 273 3.70 7.3 17.2 20.1
Foot bracket 0.74 0.88 1.41 1.81 3.4 6.08 93 19.4 238
Basic weight Flange 0.79 1.06 1.64 2.26 4.18 7.01 11.8 25.6 28.3
Single clevis 0.75 0.92 1.53 2.1 3.84 6.87 9.0 20.3 30.0
Double clevis 0.76 0.96 1.62 2.26 413 7.39 9.5 21.0 31.0
Central trunnion 0.79 1.05 1.67 2.27 4.28 7.37 10.2 19.5 33.0
Adder per 50mm stroke 0.11 0.16 0.26 0.27 0.42 0.56 0.7 0.95 1.25
. I-type clevis 015 | 023 | 026 | 026 | 0.60 0.83 1.3 1.8 1.8
Accessories .
Y-type clevis 0.22 0.37 0.43 0.43 0.87 1.27 1.5 4.0 4.0

Example: QC95SB50 - 125(Basic type: bore size 50, stroke 125mm) Weight: 1.19+0.26 X 125/50=1.84kg

3.063



ASXPC, oo evn vevnne L

Compact Cylinder (New Japanese Type)

QCQS Series (»12~®25)

sSaw

Bore size mm 12 ‘ 16 ‘ 20 ‘ 25

Fluid Filtered compressed air

Acting type oG AT, SR axind
Operati't\\ng)r(iressure 1.0MPa
fluﬁmte’iggggant?.lre 5~60°C

Rod end thread Female (standard) male (option)

Cushion Without
Stroke allowance mm 0~+1.0

*Lubrication Pro-lubrication in factory

Mounting type

Through hole (standard),
Both ends tapped (option)

Port size M5X0.8
How to Order * If used, turbine oil “1 (ISO VG32) is recommended.
QC QS B 12-10 Standard Stroke / Auto Switch
Bore Standard stroke )

Code size Auto switch

0 mm | Single acting| Double acting
Series Stroke 12 510 51015

L . Nil: Rod end female thread 16 202530 AL-07R
Nil: Standard Bore size (Standard) 20 510 15 20 25 |(Groove mounted)
D: Built-in magnet M: Rod end male thread L== 510

25 3035404550

Nil: Single rod Nil: Through hole /| Nil: pouble af;tlng Note: Refer to “Auto Switch” for dimensions and
W: Double rod Both ends tapped S: Single acting (Spring return) specifications.
K: Non-rotating rod (Standard) T: Single acting (Spring extend)

Note:
Build-in magnet is applicable to double acting cylinder only.

Dimensions (mm)

Double Acting
Symb0| Double acting

]

Order example:

1. Bore size ® 16, stroke 10, double acting, rod end fe-
male thread through hole.
Model: QCQSB16-10

2. Bore size 25, stroke 50, double acting, built-in magnet,
rod end male thread through hole.
Model: QCDQSB25-50M

Single Acting

Single actin Single actin
Symb°| (S:Sp%ing retugrn) (T:Spﬂng exte%d)

A | TV

2-M5X%0.8 Auto switch 2X4-808B H Screw depth C 2-M5X%0.8 Auto switch
Q Minimum bend radius ~ Counter bore 2% 4-0A Q Minimum bend radius
> of lead wire:10 depth RB Depth RA f— of lead wire:10
F
r—b
H H g i BN HH
; &
z|< S S —— 1] [
o 42 +l|w DI <3
& 3 s 7.9 o
/) s z 1770 =
- 1 I
- =S———==H ) TE T FF
T
Gasket | L B+ M+0.2 Gasket L B
4 pes. A+ 4 pes. A
Bore size iz
mm c D E H | K M N OA OB | RA | RB T
12 6 6 25 M3x0.5 32 5 | 155| 3.5 M4X0.7 6.5 7 4 0.5
16 8 8 29 M4Xx0.7 38 6 19.5 | 35 M4<0.7 6.5 7 4 0.5
20 7 10 36 M5X0.8 47 8 | 255| 5.4 M6X1.0 9 10 7 1
25 12 12 40 M6x1.0 52 10 28 5.4 M6x1.0 9 10 7 1

3.064



MMKSXPC,

Double Acting

SHANGHAI

XINGYICK PNEUMATIC

N—
sQw

i Basic t Built-i t
Ab%;:_gcsa}lza(lee Sl e asic type uilt-in magne
mm mm A B F L Q A B
12 5~30 20.5 17 5 3.5 7.5 25.5 22
16 =30 20.5 17 5 3.5 7.5 25.5 22
20 =50 24 19.5 5.5 4.5 9 34 29.5
25 5~50 27.5 22.5 5.5 5 1 37.5 32.5
Single Acting (Spring Return)
. Basic type Built-in magnet
Applicable
bore size Stroke range A B A B
mm mm F L
5 10 5 10 5 10 5 10
12 25.5 30.5 22 27 5 3.5 30.5 35.5 27 32
16 510 25.5 30.5 22* 27 5 3.5 30.5 35.5 27 32
20 29 34 245 | 29.5 5.5 4.5 39 44 34.5 | 39.5
25 32.5 37.5 27.5 | 32.5 5.5 5 425 | 475 | 375 | 425
Single Acting (Spring Extend)
. Basic type Built-in magnet
Applicable
bore size Stroke range A B L A B
mm Mm Q
5 10 5 10 5 10 5 10 5 10
12 30.5 40.5 22 27 8.5 13.5 7.5 35.5 45.5 27 32
16 510 30.5 40.5 22* 27 8.5 13.5 7.5 35.5 45.5 27 32
20 34 39 245 29.5 9.5 14.5 9 44 49 34.5 39.5
25 37.5 42.5 27.5 32.5 10 15 11 47.5 47.5 37.5 42.5
Male Thread Rod End Male Thread Rod End
(Double Acting / Single Acting: Spring Return) (Single Acting: Spring Extend)
Applicable
H ( boresize |C H L | X H (
—\ mm —
/ 12 9 | M5x0.8 | 14 [10.5 0 !
L/ \ 16 10| M6x1.0 |15.5] 12 ' \
Rod end nut ?( — 20 12| M8x1.25[18.5 14 Rod end nut (i
L 25 15|M10Xx1.25|22.5(17.5 L
®20~% 25 el
pplicable L
bore size | C H X
mm 5 [ 10
12 9| M5X0.8 | 19 | 24 | 10.5
16 10| M6X1.0 [20.5/25.5| 12
20 12| M8X1.25 |23.5/28.5| 14
25 15|M10X1.25|27.5/32.5|17.5
Characteristics Special Cylinder Symbol
1. Easy mounting: Through hole and both ends tapped are offered <EE|7
simultaneously.
2. Space saving: Auto switch is mounted in the groove of cylinder Type Model

tube.

3. Multi side mounting: Auto switch can be mounting on any side.

Double piston rod

QCUOQSWB bore size-stroke

3.065




ASXPC, oo evn vevnne L

sSaw

Compact Cylinder (Japanese Type)

QCQ2 Series (»12~®100) Boresize mm | 12|16 | 20| 25|32 | 40| 50| 63| 80 | 100
Fluid Filtered compressed air
. ubl ting /
Acting type Single acting: Sprlng et ,Spring extend
Max. O ti
S beuag 1.0MPa
Min. |Single acting  0.25 0.18 ‘0.17‘0.15‘0.13‘ -
OPeratindn, e aging  0.07 0.05
pressure
MPa | Double rod| 0.10 0.07
fluﬁmg:ﬁggﬁgt%re 5~60°C
Rod end thread Female (standard)  male (option)
Cushion Without
Stroke amlrlr?wance 0~+1.0
*Lubrication Pro-lubrication in factory
Mounting type Bolh ends tapsed (optioh)
Port size M5x08 | G1/8 | G174 | cass

* |f used, turbine oil “1 (ISO VG32) is recommended.

How to Order Standard Stroke / Auto Switch
: Standard stroke mm
Bore size i
_ Single Doubl Auto switch
Q C Q2 —_—— 1_2_ 19 —_—— mm acti%g ag'ltjin;
12 51015
Code
16 202530
. 510
Series 20
_ = 5101520
g!lﬁigﬁnﬂanggnet 253035 AL-72R
: Nil: Rod end female thread 32 )
e (standard 404550 (Rail mounted)
Nil: Single rod Stroke M: Rod end male thread 40 51020
W: Double rod 1020
D: Double acting 29 1015
A: Both ends tapped Bore size S: Single acting(spring return) 63
B: Through hole (standard) T: Single acting(spring extend) 20 Nil 20253035
404550
Note: 100

. ) ) Notes: 1. Bujlt-in magnet is applicable to double acting
When a magnetic cylinder is mounted by through hole, the two screws only.

2. S | ti lind ithout t t
should be put diagonally, or non-magnetic screws being used. W'Qr (\e,v?tﬁ g]l?tg)é\l,\r,],t;]r without maghet canno

Construction )
Parts List

? Q¢ 7 No . | Description Material

J x 1 Tube Alum. alloy

2 Piston Alum. alloy

[\ﬁ - 3 Piston rod Carbon steel

,@ [ =, o i 4 Collar Alum. alloy
( — . 5 Retainer Steel

6 Bushing F4

7 Spring Steel
8 Plug Brass

3.066



ASXPC. oo e e

sQw

: . QCQ2A/QCDQ2A
Dimensions (mm) Both Ends Tapped

Double Acting Symbol
QCQ2B/QCDQ2BH—U
o120 25 +— ]

Minimum bend radius

O-thread @Through hole

Auto switch 20(20) of lead wire:10
10(11)
HS i
Depct[]eg Borrﬁ msnze (o) R
o 12 M4Xx0.7 7
5 _l% 16 M4x0.7 7
X1.
CW . ” 7N ﬁ A 20 M6Xx1.0 10
1Sl EJ‘\E \Y) 25 M6X1.0 10
< % \: 32 M6 1.0 10
40 M6X1.0 10
Q LL. K
L B+ \_2.p < M 50 M8x 1.25 14
A+ Port size E
63 M10X1.5 18
80 M12X1.75 22
100 M12X1.75 22
#32~3100 Rod End Thread —)
H
g
Q, 2P OF < 8] HScrew  4-@N Through hole J
Depth C 8-@ 0 Counter bore C
X K
g, £ L R
B
R - swe| C | X |D H L |k
8 /A \?f\ = AN S w mm
e LS ] .z 12 | 9 [10.5/ 6 | M5X0.8 | 14 | 5
16 | 10 | 12 | 8 | M6X1.0 |15.5| 6
Minimum bend K 20 12 14 10| M8X1.25 118.5 8
radusorleadwlrefio| | w02 | 25 | 15 |17.5|12|M10x1.25/22.5/10
L B+ Auto switch E R J
e s 32 |20.5|/23.5|/16| M14X1.5|28.5/14
40 |20.5/23.5/16| M14X1.5|28.5(14
Notes:
50 | 26 |28.5|20| M18%1.5
1. Standard stroke available at 5mm intervals. 33.5117
2. Unless specified dimensions of through hole and both ends tapped 63 | 26 |28.5/20| M18X1.5/33.5/17
cylinders are identical. 80 |32.5(35.5|25| M22X1.5(43.5(22
3. For 5mm stroke cylinder, only one auto switch may be mounted. 5
100 |32.5/35.5|30| M26X1.5[43.° |27

Bore | stroke . \ .

sr:]fneran?rgeAABBDEFFHCIJKLMN (0] P |Q|S|U |V zZ
12 | 5-30 |20.5/31.5/ 17|28 |6 |32 5 |65|M3x05|6 | - | - | 5|35|22|35| 65535 | M5x0.8 | 7.5|355(19.5/25 | -
16 | 5~30 | 22 | 34 (18.530.5/ 8 |38 |55/ 55| M4x07 | 8 | - | - | 6 |35| 28|35 | 65%35 | M5x0.8 | 8 |41.5(225/29| -
20 | 5~50 | 24 | 36 |19.5(31.5/10 |46.8/5.5/5.5| M5%0.8 | 7 | - | - | 8 |45| 36|55 9R7 M5X0.8 | 9 | 48 |24.5/36 | -
25 | 5~50 |27.5(37.5/22.532.5/12 |52|5.5/5.5 | M6x1.0 |12| - | - | 10| 5 | 40|5.5 9R7 M5x0.8 | 11 |53.5(27.5/40 | -
32 o5 | 30 | 40 | 23|33 16|45 50| 7.5 |M8x1.25| 13 |60 |45 14| 7 | 34|55 |  9A7 M e e|58.5/315) - | 18
40 | 5~50 |36.5/46.529.539.5/16 |52 | 8 | 8 |M8x1.25|/13 |69 | 5 | 14| 7 | 40|5.5 9R7 G1/8 | 11 | 66 |35 |- |18
50 | 10~50 |38.5|48.5/30.5140.5/20 | 64 |10.510.5\M10x1.5| 15|86 | 7 | 17| 8 | 50|6.6 11578 G1/4 |105) 80 | 41 | - |22
63 | 10~50 | 44 | 54 | 36| 46 |20 | 77 |10.510.5|M10x 1.5 15 |103| 7 | 17| 8 | 60| 9 | 147105 G1/4 | 15 | 93 |47.5| - |22
80 | 10~50 |53.5/63.5/43.553.5/25 | 98 |12.512.5|M16x2.0| 21 [132| 6 | 22|10 | 77| 11 | 17.5%135 G3/8 | 16 |112.5/57.5| - |26
100 | 10~50 | 65 | 75 | 53| 63 (30 |117| 13| 13 |M20Xx2.5| 27 |156|6.5| 27|12 | 94| 11 | 17.55R135 G3/8 | 23 |132.567.5 - |26

*Dimensions of magnetic cylinders

3.067



MMKSXPC,

SHANGHAI XINGYICK PNEUMATIC ‘;:Tm
Single Acting-S(Spring Return) Symbol %
QCQ2BO-UIS
E?zr: A 8 D|E F H CllI |J|K|L|M|N o P Q |z
mm | 5st 10st|20st| 5st [10st|20st, 5st [10st 5st ‘105t 20st
12 [25.5(30.5 - [22 |27 | - |6|32| 5| 5 |M3X05|6| - | - | 5[3.5|22|3.5 |6.5Depth3.5| M5%0.8 75| -
16 |27|32| - [23.5]285| - |8|38(55/55/M4x07|8 | - | - 3.5|28 | 3.5 |6.5Depth3.5| M5x0.8 -
20 |29|34| - [2451295| - [10/46.8/5.5/55|M5X08| 7 | - | - 45|36 |55| 9Depth7 | M5x0.8 -
25 [32.5/37.5| - [27.5[32.5| - [12|52|55/55|M6X1.0[12| - | - | 10| 5 |40 |5.5| 9Depth7 | M5X0.8 1 -
32 |35|40| - |28(33 | - |16/ 45 |55/ 7.5|M8x1.25/ 13|60 |4.5| 14| 7 |34 |55 9Depth7 '\/'05§< 1(/38 10.5(18
40 141.5/46.5/56.534.5(39.5(49.5/16| 52 | 8 | 8 |M8xX1.25(13(69 | 5 | 14| 7 |40 |55 | 9Depth7 G1/8 1|18
50 | - |48.5/58.5| - |40.5/50.5|20| 64 [10.510.5|M10x1.5/15|86 | 7 | 17| 8 |50 |6.6 | 11Depth8 | - | G1/4 |10.5/22
Notes: 1) Single acting(spring return) cylinder dimensions as double acting cylinder.
2) Above A or B figures include stroke length.
Single Acting-T Symbol . A L
(Spring Extend) Born e 5st | 10st | 20st | 5st | 10st| 20st
QCQ2BO-OT Q. P Porsize 12 305 | 405 - 85 | 135 | -
16 32 42 - 8.5 13.5 -
20 34 44 - 9.5 14.5 -
) 25 375 | 475 - 10 | 15 -
N 32 40 50 - 12 17 -
40 46.5 56.5 66.5 12 17 27
L A 50 - 58.5 78.5 - 18 28
Double Acting-W(Double Rod)
QCQ2WB/QCDQ2WBLI—0] #32-¢100 Symbol %
P12~225 Auto switeh 2F Portsize BEN <% 2p portsize
lll—gﬂl ] n
o —— o O]5
e &[] i
Q La, l.c, <C,|
L B+ L+ L B+ L+
A++ A+
Approximate Cylinder Weight.
(Double Acting, Single Rod)
Borrt: msize St:]%ke A A* B B* Bor:msize Ba;se !_’nn(:;? (r%e;ttrg:; Imt:f:z:\?i?ggrer:: e
12 5~30 32.2 39.4 25.5 32.4 12 33 7 2
16 5~30 33 43 26 36 16 50 11 3
20 5~50 35 47 26 38 20 70 21 7
25 5~50 39 49 29 39 25 97 21 17
32 5~50 445 54.5 30.5 40.5 32 134 22.5 40
40 5~50 54 64 40 50 40 250 22.5 40
50 10~50 56.5 66.5 40.5 50.5 50 363 38 80
63 10~50 58 68 42 52 63 607 40 80
80 10~50 71 81 51 61 80 1352 91 160
100 10~50 84.5 94.5 60.5 70.5 100 2102 106 270

Note: Refer to QCQ2B/QCDQ2B magnetic cylinders for other dimensions.

3.068




MMKSXPC,

Compact Cylinder (European Type)
QCN Series (©16~®100)

SHANGHAI

XINGYICK PNEUMATIC

N—
SLaV

Bore size mm

16 | 20 | 25| 32 | 40 | 50 | 63 | 80 100

Fluid Filtered compressed air
. Double acting / Single actin%:
Acting type Spring returri, Spring exten
Max.
Operating pressure 1.0MPa
Ambient and °
fluid temperature 5~60C
Rod end thread Female (standard) male (option)
Cushion Without
Stroke z#h?wance 0~+1.0

*Lubrication

Pro-lubrication in factory

Through hole (standard),
Both ends tapped (option)

M5x0.8| G18 | G14 | Gas
*If used, turbine oil 1 (ISO VG32) is recommended.

Mounting type

Port size

How to Order Standard Stroke / Auto Switch

f Standard stroke
Borg rElze . : m Auto switch
QC N 25 -1 Single acting | Double acting
Code J 16 51015
202530
Series 20 510
QCK2400A
Nil: Standard H:Double holl d 25 101520
: :Double hollow ro
D: Built-in magnet a2 253035 | (Groove mounted)
o Nil: Rod end female 404550
Nil: Single rod Stroke thread (Standard) 40 51020 QCK2422A
W: Double rod M: Rod end male thread - 10 20 (Groove mounted)
. . 101520
B: Through hole . Nil: Double acting 63
(standard) Bore size S: Single acting(Spring return) 253035
A: Both ends tapped T: Single acting(spring extend) 80 - 40 45 50
Note: lloe

When a magnetic cylinder is mounted by through hole, the two
screws should be put diagonally, or non-magnetic screws are

Notes: 1. Built-in magnet is applicable to double acting only.
2. Single acting cylinder without magnet cannot work

used. with auto switch.
Construction Dimensions of Mounting Auto Switch
B A
Parts List
00 No.|Description| Material
1 Rod Carbon steel i q A =
) / /@/@/“3 2 | Rod seal NBR [ \®
H ‘u: H 3 Collar Alum. Alloy
4 Retainer Steel
‘ﬂ 5 Tube Alum. Alloy Bore size mm A B Bore size mm A B
6 Piston Alum. Alloy 16 26.8 | 24 50 44 24
U—L 7 Seal NBR 20 28.8 | 24 63 52 24
8 Bushing F4 25 31.3 | 24 80 60.5 | 24
9 O-ring NBR 32 35.3 | 24 100 71 24
10 Rear Alum. Alloy 40 39.5 | 24

3.069



MMKSXPC,

Dimensions (mm)
Double Acting

SHANGHAI

XINGYICK PNEUMATIC

\\—=

Symbol

sQw

QCNB Be
216~ 2100 Ly 26 T |
I — M
| |
fa \
© . _
‘ 9]
] I -
w - EKDI 7«r - - 1|
St —
L TREY
=———=E O —— © 33
] P W R A ‘ J
z Q
Y N
Bore Vv
size | A|B|C |A* B C*DE|F| G| H|J|] L|M N|PQ R|[S|T|U W|Y|Z
mm Hole | Thread
16 (32| - [35.5/42| - |455 6| - | 5| M5 |M3|6.5 31|28 |28 |11/ 20/ 20|10|17|5.8|3.7| M4 [6.5/9 [3.4
20 |35| - |42 |45| - | 52|10| - |8 | M5 |M5|10| 35|32 |32 |11|22/22|11|19|7.5|4.6| M5 |7 [10|4.6
25 (35| - |42 (45| - |52 (10| - | 8 |G1/8| M5 |10|44.5/ 39 | 37 |18| 26/28 | 14 | 25|7.5|4.6| M5 [7.5/104.6
32 37|42 |49 |47| 52| 59 (12| 23 |10|G1/8| M6 |12 | 54 | 48 | 45 |18| 32/ 36| 18 | 30|8.5|5.55| M6 | 9 |16(5.7
40 |40| 47 | 55 |45| 52 | 60 (16| 29 |13|G1/8/ M8 |14 | 60 |54.5/54.5/18| 40| 40| 20 | 33|8.5 |5.55| M6 [9.5|16|5.7
50 |4046.5| 55 [45|51.5| 60 [16|35.5/13|G1/4| M8 |14 | 72 | 64 | 64 |22| 50/ 50| 25 | 40(10.5| 7.4 | M8 |10|16(6.8
63 |42|50.5| 59 |47 |55.5| 64 |20| 43 |17|G1/4|M10{15| 88 | 80 | 80 |22| 62|62 | 31 | 48113.5/9.3| M10 |10 |20
80 |52|60 (71.5/57| 65 (76.5/25| 50 |22|G3/8/M12/20|110|100|100|26| 82|82 | 41 | 60(13.5/ 9.3 | M10 |15|20
100 |52| 60 |71.5/57| 65 |76.5/25| 56 |22 |G3/8|M12/20|134|124|124|26|103103|51.5/ 72|16.5/11.2| M12 |15|25| 11
*Dimensions of magnetic cylinder
Single Acting-S(Spring Return) Symbol
o A |
A+ P
#16~ 350 G W
i m
\
1 \\} I _
l | @
‘ T -
77—————T—7 =(Q 7«7 - - =
— —1TH
——— N\ |
i N | | |
I
z
Y Q
C+ N
Bore Vv
size Al C|D E F G H J L M N| P Q| R|S |T|U Wi Y|2Z
mm Hole|Thread
16 221 23| 6 - M5 | M3 | 65| 31 | 28 | 28 | 11|20 |20 | 10 |17|5.8|3.7| M4 |6.5/9 |3.4
20 25126 | 10| - M5 | M5 | 10 | 35 | 32 | 32 | 11|22 |22 | 11 |19|7.5|46| M5 | 7 |10|4.6
25 25126 | 10| - G1/8| M5 | 10 |44.5| 39 | 37 | 18|26 |28 | 14 |25|7.5|4.6| M5 |7.5/10|4.6
32 32133(12| 23 | 10| G1/8| M6 | 12 | 54 | 48 | 45 | 18|32 |36 | 18 | 30 |8.5|5.55| M6 | 9 |[16|5.7
40 35|36 |16 (29.5| 13| G1/8| M8 | 14 | 60 |54.5|54.5/ 18|40 |40 | 20 | 33 |8.5|5.55| M6 [9.5/16|5.7
50 35|36 |16 |35.5| 13| G1/4| M8 | 14 | 72 | 64 | 64 | 22|50 |50 | 25 | 40 |10.5/7.4| M8 [10|16|6.8

3.070




ASXPC. oo e e

sQw

Single Acting-T(Spring Extend) Symbol
acks o
316~350
W G P
e Ty
\
© i
(%]
(1 -
CES I — 2“31 A&
\j\/ —]—
€1 — | =
FE=— [ A ) B
b
A+
J B+ Q
C++
B
elale|clo|le | FlelnH|lolL|m| NipPlal rRls|Tlul Y Jwylz
mm Hole| Thread
16 | 27| - |305/ 6| - | 5| M5 | M3| 65| 31| 28 | 28 | 11| 20| 20 | 10| 17 |5.8|3.7| M4 |6.5/9|3.4
20 [30| - | 37 |10| - | 8| m5| M5 10| 35| 32| 32| 11| 22| 22| 11| 19|7.5/46 M5 | 7|10/4.6
25 |30 - | 37 10| - | 8| G1s| M5| 10]445] 39 | 37 | 18] 26| 28 | 14| 25| 7.5/ 4.6| M5 |7.5/10]4.6
32 | 32| 37| 44 | 12| 23 | 10| g1/8| M6 | 12| 54 | 48 | 45 | 18| 32| 36 | 18| 30| 8.5|5.55 M6 | 9 |16/5.7
40 | 35| 42 | 50 | 16|29.5| 13| G1/8| M8 | 14| 60 |54.5|54.5/ 18| 40| 40 | 20 | 33 | 8.5|5.55 M6 |9.5/16/5.7
50 | 35|41.5 50 | 16|35.5| 13| GU4| M8 | 14| 72 | 64 | 64 | 22| 50| 50 | 25 | 40 |10.5| 7.4| M8 |10|16/6.8

Double Acting - M(Male Thread) Symbol
QeNB ]
216~2100
Single Acting - M(Male Thread) Symbol
QCNBO-000M A |
216~250
Bore size D AM
16 M6X 1.0 16
\ @ 20 M8X1.5 20
a . . I i
) 25 M8X1.25 20
| 32 M10X1.25 22
40 M12X1.25 24
50 M16X1.5 32
AM 63 | single M16X 1.5 32
80 |2\ M20% 1.5 40
100 M20X1.5 40

3.071



MIKSXPC,

Double Piston Rod Cylinder

QCNWB
216~2100

2-G

SHANGHAI

PE

A+

B+

XINGYICK PNEUMATIC

Symbol

2D

Double Hollow Piston Rod Cylinder (Dimensions are the same of the above)

QCNWBO-OOOH

=
saw

220~2100
: :
|l |l
M M
\ \
=t
IS
= !
BOl'n?mSIZG 16| 20| 25| 32| 40| 50|63 | 80 (100
K - 125/25/ 3|44 |6 6 | 6
Bore Vv
size|A| B|C |A*B* |[C*D|E |F| G H|J|L | M| NP Q|  R|S|T|U Wi X|Y |2z
mm Hole|Thread
16 |37| - |44|47| - |54|6| - | 5| M5 |M3|6.5| 31 |28 | 28|11/20|20|10|17/5.8/3.7| M4 [6.5/3.5/9 (3.4
20 |40| - | 54|50| - |64 (10| - | 8| M5 |M5|10| 35|32 | 32|11122|22|11|19/75/46| M5 |7 | 7 |10/4.6
25 |40| - | 54 (50| - (64 [10| - | 8 |G1/8/ M5 |10 |44.5/ 39 | 37 |18 26|28 |14 |25/7.5/4.6| M5 |7.5 7 |10[4.6
32 |42| 52| 66 |52|62 |76 (12| 23 | 10|G1/8 M6 |12 | 54 | 48 | 45 |18|32|36| 18 |30/8.5(5.55| M6 |9 | 7 |16/5.7
40 |45| 59| 75 (50|64 (80 |16|29.5 13|G1/8/ M8 |14 | 60 [54.5/54.5/18| 40| 40| 20 | 33|8.5|5.55| M6 (9.5 8 [16|5.7
50 |45| 58| 75 (50|63 |80 [16|35.5/ 13|G1/4| M8 |14 | 72 | 64 | 64 |22/ 50| 50| 25 |40/10.5/7.4| M8 |10(8.5/16|6.8
63 |47| 64| 81 (52|69 |86 |20| 43 | 17|G14|M10/15| 88 | 80 | 80 |22| 62| 62| 31 |48/13.5/9.3| M10 |10(8.5|20
80 |52 68| 91 (57|73 |96 |25| 50 | 22|G3/8|M12/20 | 110|100(100|26| 82| 82| 41 |60[13.5/9.3 | M10 |15[11.520
100 |52| 68| 91 |57 |73 |96 |25| 56 | 22|G3/8|M12|20 | 134|124|124|26|103/103/51.5/ 72[16.5[11.2| M12 |15/11.525| 11

*Dimensions of magnetic cylinders

3.072




ASXPC. v civerier sviiane L

saQw
Compact Type Short Stroke Cylinder
QADVU Series @16~2100)

Bore size mm 16 ‘ 20 ‘ 25‘ 32‘ 40‘ 50‘ 63‘ 80‘100
Fluid Filtered compressed air
Acting type Double acting
Max. O ti
TS Beiang 1.0MPa
oparmiing?2be &g 0.12 | 0.10 0.08 0.06
P Sure| Double rod( 0.13 | 0.12 0.10 0.08
Cushion Rubber cushion
Ambi
tem?erl'ga}re 5~60°C
Piston speed 50~500mm/s
allowante mm 0~250"°  251~400'}"
*Lubrication Pro-lubrication in factory
Port size M5 ‘ G1/8 ‘G1/4
*If used, turbine oil “1 (ISO VG32) is recommended.
How to Order Auto Switch
Bore size mm Auto switch
QADVU _ -63-50-_-_-_- 16
20
Code| 25
HUA: tI?oubkletend 32
Seri Strok racke X
eries roxe FUA: Front rear flank 40 AL-30R
SUA: Double clevis (Groove mounted)
Nil: standard Bore size 50
L: With guide plate S2: Double rod 63
S20: Double hollow rod
80
Nil: Rod end female thread (standard) Nil: Standard
A: Rod end male thread D: Build-in magnet 100
Construction Standard Stroke
@ Bore size mm Standard stroke (mm)
16 510 1520253040
20
510 15 20 25 30 40 50
VALY 5
/] 32
N\ b 40
50
& T e 10 15 20 25 30 40 50 60 80
63
] K &
== L 100
Parts List
No. Description Material No. | Description Material
1 Rod Carbon steel 8 Front Piston Aluminium alloy
2 Rod seal PU 9 Magnet Magnetic plastics
3 Bushing F4 10 Rear Piston Aluminium alloy
4 Front cover 6063Aluminium 1 O-ring NBR
5 Tube 6063Aluminium 12 Rear cover 6063 Aluminum
6 O-ring NBR 13 Nut HPb59-1
7 8-ring NBR

3.073



MMKSXPC,

Dimensions (mm)
Basic Type
QADVU-16~25-[1-[]
QADVU-16~25-1-[1-D

SHANGHAI

XINGYICK PNEUMATIC

QADVU-32~100-[]-[]
QADVU-32~100-J-[]-D
9D

Symbol

1

\\—=

QW

a
-~

+@<»
D3 ®D1 e
i ,_I v D1
H - S T
L] L sl \4 - |
o4 || T 3t 2 s
w - w —— —
= - r'1- TR il j==m - Ty =
ul [ S II ] w| B0 “ﬁ'_r || . I‘
¢ps | | & 02 t #D8 \‘_L b2, |
SwW, Terd
5 ] s &
} N
e IS e W
MR 72\ | T pst
/Ay | i
t &/ i \&
L2 L1
L »
L2
QADVUL-16~25-1-[] QADVUL-32~100-]-[]
QADVUL-16~25-1-[1-D QADVUL-32~100-1-[1-D
sw %D ?D9 o swW ,, 9D ?D9
| #D1 | L] |
TN |_I_ I ?D1
i i ] (mn
= 1 48 Al = mm Ld
I+ O " T —— I EAd T
4 = = ] % * - v Bil; o~
I " 3 [ JET o [ [l -
»D8 & D2, | f @L* ET D2
3
L3, @D4 | | =
SO & (Staiin
-5 = Q“ LJ gl 3 Jj: 7777777 7\ {i S
- % s - 3] g HE & a9
\@G'T' 1 \&%/ Hl
i 1 -O &
D5/ ?U : @ JE)J D5
5 = =
‘ L1
L
L2
Boresize p |p,| D,| D, |D,| D; [D,H,D,D,H{ E, | F | F, | H |H, |H, |H, | L | L |L|L|SW T|T,|T,
16 8 [32/M4|M4| 3| M3 |6 |4] 8 | M5|8 | 30| 38 |42.5/18.5/48.5/ 29 | 21| 30 | 9.9 8 | 4|42
20 |10 (42| M5|M5| 4 | M4 | 6 |5| 10 | M5| 8 | 30 | 38 |42.5/18.5/50.5| 36 | 24 |37.5/ 12 10| 4 |57
25 10 [42/M5|M5|5 | M5 | 6 | 5| 14 | M5| 8 |31.5/39.5| 45 |18.5| 53 | 40 | 29 |41.5/15.6 10| 4 |48
32 |12 |52/ M6|M6| 5| M5| 6 | 6| 17 |G1/8 8 |36.544.5/50.5/21.5/60.5/ 50 | 36| 52 |19.8/ 10| 12 | 4 | 6.1
40 |12 |52/ M6|M6|5 | M5 | 6 | 6|17 |G1/8 8 |37.5/45.5| 52 |21.5| 62 | 60 | 42 |62.5/23.3/ 10| 12| 4 | 6.1
50 |16 |g2|M8|M8| 6 | M6 | 6 |8 22 |G1/8 8 |37.5/45.5| 53 | 22 | 65 | 68 | 50| 71 (29.7/ 13| 12| 4 | 7.6
63 |16 |8.5/M10| M8 | 6 | M6 | 8 (10| 22 |G1/8 8 | 42 | 50 |57.5/24.5|69.5| 87 | 62| 91 [35.4/ 13| 12| 4 | 7.6
80 |20 |g.5|M10{M10| 8 | M8 | 8 |12| 28 |G1/8/8.5|47.5| 56 | 64 |27.5| 78 |107| 82 | 111| 46 | 17| 14 | 4 | 8.7
100 |25 |g5/M10{M12| 10 |[M10| 8 |12| 30 |G1/4/10.5| 56 |66.5|76.5/32.5/90.5| 128 | 103| 133|56.6/ 22| 16 | 4 |10.3

3.074




ASXPC. oo e e

sQw

Accessories (QADVU)

HUA Foot Bracket o - -
16~ 7100 1L @m@ﬁ
o 2O |
| : N
Jo—op . >0
- : [ ‘ i
o sl
L10+ B1
FUA Front, Rear Flange
16~ 25 ?»32~»100 4-052

S2

L13+

L13+

H3

L13+

H6
H5

L13+

SUA Double Clevis
016~925 »32~?100
Bore size| Max. Stroke
Mm (SUA Double clevis)
PD1H9
16
L Q) E—— LT < 20 :gmm
: mm
Tl ge-oH-C
: — 25 50mm
1 32 100mm
B7 H4
L 40 100mm
L14+ 50 100mm
63 100mm
Note: o 80 150mm
When SUA double clevis is used, Max. stroke should not be exceeded.
100 150mm
Boresize g, |B,|B,| B, | B, [B, |B,| C, | D, |H | H|H [ H | H | H | L |Ly|Li|L,|Ly|L.|R|S|S,
16 21129 - | - | - | - |12]17.75| 6 | 3 | 22| 10| 6 | 55|43 | 10|64 | 51 (47548 |54 | 6 | 55|55
20 [24(36| - | - | - | - |16p2.259 8 | 4 | 27| 10| 6 |70 | 55| 14| 70| 541|625 48 |58 | 8 |6.6/|6.6
25 29 40| - | - - | - |162225 8 | 4 | 29| 10| 6 | 76 | 60 | 14 |71.5/55.5/6.25|49.5/59.5| 8 | 6.6| 6.6
32 36503226 (45|54 | - [2625 10| 5 | 34| 10| 9 |80 | 65| 13 |80.5/62.5/8.25/54.5/66.5| 11 | 66| 7
40 42160|36|28 |52 62| - |28.25/ 12| 5 [405 10| 9 |102| 82 | 16 |85.5/65.5/8.25|55.5(70.5| 13| 9 | 9
50 50(68|45(32|60|70| - |32.25 12 | 6 | 47 | 12| 11 |110| 90 | 16 |93.5/69.58.25|57.5(72.5| 13 | 9 | 9
63 62(87|50| 40|70 |82 | - |38.75 16 | 6 |56.5/ 15| 11 [130|110| 21 [104| 77 11.75 65 [ 82 | 17 | 11| 9
80 82107/ 63| 50 | 90 {102| - [41.75 16 | 8 |68.5 15| 13 [160|135| 23 |116| 86 11.75 71 | 92 | 17 | 11 | 12
100 (103|128 75| 60 |110|126| - |44.75 20 | 8 | 81| 15| 15 |190|163 | 26 (132.999.511.7581.5107.5 21 |13.5 14

3.075



ASXPC. oo e e

sQw

Accessories (QADVUL)

FUA Flange
716~ 25 » 32~ $100
4-PS2
T‘L — - {} ,,,,,
g sHEERN
o o | [HI—O
— — — | T
C) s | <> oo I O ©)
oT® * T
o i —
Ha D- SO+
B2 L13+ —
B3 H3
B2 L13+
SUA Double Clevis
?16~9 25 ©»32~?100
PD1HY —
O @ L
] | ©
am n B S >V
—il-o-——o 11 O) ' Tk ﬁb o 1Q)
oo = = 7't
- ) ﬂ‘JT\\ I s | —] _I é
hs il Q) T HT [
B7 N L le H4
L14+ B4 L
B5
B6 L14+
Boresize g, | B, | B, | B, | B, | B | D | H | H | H | H | L |L |L | R |s,
16 29 - - - - 12 6 10 6 55 43 10 58.5 | 64.5 6 5.5
20 36 - - - - 16 8 10 6 70 55 14 60.5 69 8 6.6
25 40 - - - - 16 8 10 6 76 60 14 63 73 8 6.6
32 50 32 26 45 54 10 10 9 80 65 13 70.5 | 825 11 7
40 60 36 28 52 62 - 12 10 9 102 82 16 72 87 13 9
50 68 45 32 60 70 - 12 12 1 110 90 16 77 92 13 9
63 87 50 40 70 82 - 16 15 1 130 110 21 845 | 1025 | 17 9
80 107 63 50 90 102 - 16 15 13 160 135 23 93 114 17 12
100 128 75 60 110 126 - 20 15 15 190 163 26 | 1055|1315 | 21 14

3.076



ASXPC. v s e

sQw

Special Design

QADVU-...-A-[] QADVU-...-[1-S2 QADVU-...-A-[1-S2  QADVU-...-A-[]1-S20
Symbol Symbol
K1 K1
+’—'+‘ - —» - ,k
K1
— pa b
1 ~
b ; [ D3| | T L 1
H L i L] Hl [
| [ . .
. s b o
= I | L] I - _— T . -
- 7 L [ 1 [ 1 [
NI [] =\ IL
[ o6
D7
Born? n;e.lze D, D, H, H, K, T,
16 3.2 - 425 47 M8 20
20 3.8 - 425 47 M10%1.25 22
25 3.8 - 45 50.5 M10X1.25 22
32 45 - 50.5 56.5 M10%1.25 22
40 45 - 52 58.5 M10X1.25 22
50 6 - 53 60.5 M12X1.25 24
63 6 - 57.5 65 M12x1.25 24
80 8.0 G1/8 64 72 M16X1.5 32
100 1.7 G1/4 76.5 86.5 M20X 1.5 40

3.077



MMKSXPC,

SHANGHAI

Small Square Cylinder
XQGAxo Series (920~ d25)

Single piston rod
Double acting

Material of tube and end coversis aluminum

Square cover
Threaded cover
Cushion pad

Various mountings

XINGYICK PNEUMATIC

N—
sQw

Specifications
Fluid Filtered compressed air
Max. Operating pressure 0.8MPa
Min. Operating pressure 0.06MPa
Fluid temperature -10~+60C Standard Stroke
Ambient temperature 5~60C Borrg msize Standargg stroke Max.mSn?roke
Piston speed 50~500mm/s 20 20,50,80,100,125 320
Stroke allowance 0~250+0.5 251~320+1.5(mm) 25 160,200,250,320
Dimensions(mm)
XQGAxo Cylinder
Symbol
AM WF Zi+ oCD 4-RE
KY BF G 2-EE G
KW | PL r PL
i
. N I e N
i i i i
w :<I (1 ﬁﬁ
! °l &
-/ a1
KV
WD)
Bore size | aApm BE BF /CD| D | EE| EL | G KK KV | KY |[KW | PL | RE | WF |24
20 20 M20X1.5 16 8 29 |G1/8| 7.5 27 M8 32 6 8 5 22 |59
25 24 M24 X 2 18 8 36 |G1/8| 95 33 | M10X1.25 | 32 115 24 |71

3.078




MMKSXPC,

Light Cylinder

XQGAy(By) Series (®40~®63)
Round body

Threaded covers

Lightand nice appearance

SHANGHAI

XINGYICK PNEUMATIC

=
-

-
— )

N—
SLaV

Specifications
Acting type Double acting ‘ Single acting
Fluid Filtered compressed air
Max. Operating pressure 1.0MPa
Min. Operating pressure 0.1MPa 0.25MPa
Fluid temperature -10~+60TC
Ambient temperature 5~60C
Piston speed 50~500mm/s
Stroke allowance 0~250+1.0 251~600+1.5(mm)

Double Acting Cylinder Standard Stroke

Bore size Standard stroke Max. Stroke Cushion stroke
mm mm mm mm
gl 25, 50. 80. 100. 125, 500 15
50 160. 200. 250. 320.
400. 500. 600 600 20
63
Dimensions(mm)
SD Basic (XQGAy. XQGBy Cylinder) Symbol
[ \ [ i
‘\ ‘\ ‘\ /T‘\
BB BD L+ el
E’: V KK EE KK
KY M & Cushion adjusting screw ﬁl;
/| |
i ”H
BE & ol 2 s
e 1 < i e e
7\_/ |
J \ Opposite Opposite
side DE side KV
Bore size A B BB | BD| D DD | DE|DF| EE |[KK KV |KY | KW| L | MM| PL | V
40 M30x2 | 30 | 24 | 32 | 50 | M12x1.25| 12 Rc1/8| 20 | 46 [12.8| 10| 94 | 14| 10 | 22
50 M36x2 | 36 | 32 | 36 | 60 | M16x1.5| 18 Rc3/8| 24 | 55 [15.8| 12 |108| 20| 12 | 25
63 M36x2 | 36 | 32 | 36 | 71 | M16x1.5| 18 Rc3/8| 24 | 55 [15.8| 12 |109| 20| 12 | 25

3.079




SHANGHAI

MMKSXPC,

Light Single Acting Cylinder
XQGAyD(D1) Series (940~ ®63)

XINGYICK PNEUMATIC

S ——
sQw

Single Acting Cylinder Standard Stroke

Bore size Standard stroke Max. Stroke
mm mm mm
40
50 25. 40. 50. 80 80
63
Dimensions(mm)
SD Basic (XQGAyD Spring Return Single Acting Cylinder) Symbol @]
BB BD L 2
KY Ef \i KK Cushion adjusting screw  EE KK
&Y L
e
"\ 3 ‘
=3 1 é e e
—/ | |
DD Opposite
side KV
Bore size A B |BB | BD| D DD EE KK | KV | KY | KW | MM | PL | V
40 M30x2 30 24 32 50 M12x1.25 Rc1/8 20 46 12.8| 10 14 10 22
50 M36x2 36 32 36 60 M16x1.5 Rc3/8 24 55 15.8| 12 20 12 25
63 M36x2 36 32 36 71 M16x1.5 Rc3/8 24 55 15.8| 12 20 12 25
S 25 40 50 80
B -
orn%snze L F1(N) L F1(N) L F1(N) L F1(N)
40 150.5 402 179.5 402 202.5 402 274.5 402
50 171 628 211 628 235.5 628 326 628
63 178.5 998 224.5 998 248 998 352.5 998
SD Basic (XQGA,D: Spring Extend Single Acting Cylinder) SymbLEM
BB BD L 2
KY, \Y KK EE Cushion adjusting screw KK
KW |PL
e
\
|
Y (1]
~ - 'l ‘ I
§ T !—\ g/ m| o
< 2 ] Wi e| &
L
DD Opposite
. side KV
Born?msue A B BB D DD EE KK KV KY KW | MM PL Vv
40 M30X2 | 30 24 50 M12X1.25 Rc1/8 20 46 12.8 10 14 10 22
50 M36X2 | 36 32 60 M16X1.5 Rc3/8 24 55 15.8 12 20 12 25
63 M36X2 | 36 32 71 M16X1.5 Rc3/8 24 55 15.8 12 20 12 25
Stroke 25 40 50 80
B°r§ms'ze BD L F2(N) BD L F2(N) BD L F2(N) BD L F2(N)
40 57 150.5 338 72 179.5 338 82 202.5 338 112 274.5 338
50 61 171 528 76 211 528 86 2355 | 508 116 326 | 528
63 61 178.5 897 76 224.5 897 86 248 897 116 352.5 897

Note: Thrust F1 and Pull F2 are theoretical forces at operating pressure 0.5MPa.

3.080




//KSXI C® SHANGHAI XINGYICK PNEUMATIC —
SQW

Light Double Piston Rod Cylinder
XQGAy2(By2) Series (®40~®63)

Identical thrust, pull, moving direction, piston speed and stroke at the two sides.

Dimensions(mm)
SD Basic (XQGA,. XQGB,. Cylinder) Symbol
— —#
BB BD L+ BD+ BB
XY, \Y KK 2-EE  2-Cushion adjusting screw KK v Ky,
KW | PL PL| KW,

i
3t
i

J
)
@
pll )
|

f\—' L)— — =
/ Y
2-DD Opposite 2KV
side KV
Bore size A |BB|BD | D DD EE KK | KV | KY | KW | L | Mm | PL | V
40 M30x2 | 24 | 32 | 50 | M12x125| Rcl/8 | 20 | 46 | 128 | 10 | 94 | 14 | 10 | 22
50 M36x2 | 32 | 36 | 60 | M16x15 | Rc3/8 | 24 | 55 | 158 | 12 | 108 | 20 | 12 | 25
63 M36x2 | 32 | 36 | 71 | M16x15 | Rc3/8 | 24 | 55 | 158 | 12 | 109 | 20 | 12 | 25

3.081



ASXPC. oo e e

sQW
Twin-rod Cylinder
QTN Series (10~ 032)

Bore size mm 10 | 16 20 | 25 | 32
Fluid Filtered compressed air
Acting type Double acting
Max. Operating pressure 0.8MPa
M’M‘/ Min. Operating pressure 0.1MPa
o Cushion Rubber cushion
Ambient temperature 5~60°C
Fluid temperature -10~+60°C
Piston speed 100~500mm/s
Non-ratating accuracy +0.15°
*Lubrication Pro-lubrication in factory
Portsize M5X0.8

*If used, turbine oil 1 (ISO VG32) is recommended.

How to Order Standard Stroke / Auto Switch
Bore size . Aut
Q TN 16 _ _5_ - z Standanr;nd1 stroke Max er}roke sw?tgh
10 10,20,30,40,50,60,70 70
16 AL-30R
10,20,30,40,50,60,70, -
Code Stroke| = 80,90,100,125,150 150 (Groove mouniec)
Nil: Standard 25 S
Series Bore size D: Build-in magnet 32

Note: Other strokes made to order

Construction

ok
7
I I N e pe § ¥ (20 e {DY——_
T T T 1
Parts List
No. Description Material No. Description Material

1 Plate Aluminium alloy 10 Rod Carbon steel
2 Rubber cushion NBR 1 Housing Aluminium alloy
3 Adjusting screw Carbon steel 12 Rubber cushion NBR
4 | Hex. Socket head screw Carbon steel 13 Y-ring NBR
5 Retaining ring Steel 14 Piston Aluminium alloy
6 Rod seal NBR 15 Magnet Magnetic plastics
7 Front cover Aluminium alloy 16 O-ring NBR
8 O-ring NBR 17 Retaining ring Steel
S Bashing F4 18 Rear cover Aluminium alloy

3.082



ASXPC. oo e e

sQw

Dimensions (mm)

Basic Type
QTN Opposite side W E 4-0P (®©10 Cylinder)2-M3x0.5
/ Both sides recessed holes (®16~ ®25 Cylinder)2-M4 X 0.7
®P1 Depth H
1 1 HE far\ I | ] 1
L © ‘ o
_ ,,T, ([ SN T EEE——— { @ J
i
° o + )
- ol - +— dg= I e — —1 O — - —
= =€ ©O—° |}
St e ©
1 /@ :i:iiiiiiiiii:ﬁi::ii::ii::ii:’ | @’
PR e A4 ==
<]
T .Fl 15 D+ M
B C+
A+
H - ..
| Hi]
N 2-Y LN1,|
. E
Born?mS|ze A B C D F G
10 | 20 | 30 | 40 | 50 | 60 | 70 | 80 | 90 | 100 | 125 | 150
10 58 | 12 | 46 | 10 |30 | 30 | 35 | 40 | 45 | 50 | 55 - - - - - 6.5 | 34
16 68 | 15 | 53 | 20 |30 | 35 | 40 | 45 | 50 | 55 | 60 | 65 | 70 | 75 | 875| 100 | 8 | 47
20 78 | 20 | 58 | 20 |35 | 35 | 40 | 45 | 50 | 55 | 60 | 65 | 70 | 75 | 87.5| 100 | 10 | 55
25 81 | 19 | 62 | 30 |40 | 40 | 45 | 50 | 55 | 60 | 65 | 70 | 75 | 80 |925| 105 | 10 | 66
32 108 | 30 | 78 | 35 |45 | 50 | 55 | 60 | 65 | 70 | 75 | 80 | 85 | 90 |1025| 115 | 17 | 83

Boresize| y | J K| L|M| N [NMM[P|P1| Q|  R| S| T | V| WwW]|Y
10 | 35| 18| M3Xx05Depth5 | 34 | 41| 16| 15 |10 (34| 6 | 26 | 35| 42 | 17| 6 | 5 | M5
16 6 | 24| M4X07Depth5 | 47 | 53| 20| 20 |10 |45| 75| 34| 4 | 54| 21| 8 | 7 | M5
20 6 | 28| M4x0.7Depth5 | 55 | 61| 24| 25 |12 |45| 75| 44| 55| 62 | 25| 10 | 85| M5
25 7 | 34| M5X08Depth6 | 66 | 72| 29| 30 |12 |45| 75| 56| 6 | 73| 30| 12| 10 | M5
32 10 | 42 | M8x1.25Depth 10 | 83 | 94 | 38 (40,*35| 14 |55| 9 | 72| 8 | 96 | 40 | 16 | 14 | G1/8

*When $=10: N=35

When in the exhaust position, the valve

Dimensions (Plate and Rod End) may be padlock secured.

2-PB PD

ﬁ
%—\@“* 2 £ 3

/“ I
F 2-d / K 2-PA

V18

|
OV H9

PC L PE
I
|
|

M
&

)
1
o)

Boresize| J K|L|m PA PB | F |PC PD PE| V | W
10 18 | M3x0.5Depth5 | 34 | 41| 16 | P4ZRegessednole. | M3x 05| 65| 1 | M4x0.7Depth7 | 3 | 6 | 5
16 24 | M4x0.7Depth5 | 47 | 53| 20 | P4FRegessedNole. | vmaxo7| 8 | 1 | M4X0.7Depth10 | 3 | 8 | 6
20 | 28| M4x0.7Depth5 | 55| 61|24 | GIFEBSEIIL® | Max0.7| 10 | 1 | MBX1Depth12 | 3 | 10| 8
25 34| M5x0.8Depth6 | 66| 72|29 ®GIFEBSSGIAL® | Max0.7) 10| 1 | M6x1Depth12 | 3 | 12 | 10
32 | 42| M8x125Depth 10| 83 | 94|38 | PR RERESEUN® | Mex1 | 17 | 2 |M8x1.25Depth 15| 3 | 16 | 14

3.083



MMKSXPC,

Stopper Cylinder
QRSQ Series (»20~®50)

How to Order
QRS Q

Code|

20 - 15

Stroke

Bore size

Series

Nil: Standard B: Through hole

D: Build-i (standard)
mlélgnlent A: Both ends
tapped

D: Double acting
B: Double acting (with built-in spring)
T: Single acting  (Spring extend)

Nil: Round bar (©20-050)

K: Non-rotating (®20-50)

R: Roller (®20-»50)

L: Lever (with built-in shock absorber, non-adjustable.)( ® 32- ® 50)

B: Lever (with built-in adjustable shock absorber.) (®32-®50)

C: Lever (with built-in adjustable shock absorber, with cancel cap)
(P 32-050)

D: Lever (with built-in adjustable shock absorber, with locking me-
chanism) (® 32-®50)

E: Lever (with built-in adjustable shock absorber, with cancel cap
and locking mechanism) (® 32- ® 50)

Operating Range for

SHANGHAI

Symbol

XINGYICK PNEUMATIC

N—
sQw

Double acting

] ] —

Single acting Single acting
(S:Spring return) (T:Spring extend)

Bore size

e s 20 | 32 | 40 | 50
X Double acting, Double acting(built-in spring) /
Acting type Single acting(Spring extend)
Round bar, Round b hamfered. roll
Rod end ’ ound bar, chamfered, roller,
configuration chargwlll‘ged, lever type (with built-in shock absorber)

fluid temperature

Fluid Filtered compressed air
Max. Operatin
pregsure 9 1.0MPa
Ambient and 5~60°C

Cushion

Both sides rubber cushion

Stroke allowance

+1.5(mm)

*Lubrication

Pro-lubrication in factory

Mounting

Through hole, Both ends tapped

Port size

G1/8

*If used, turbine oil “1 (ISO VG32) is recommended.

Standard Stroke / Auto Switch

Bore size Standard stroke Auto switch

mm mm

20
101520

32 AL-72R

40 (Groove mounted)
202530

50

Order example:

1. A cylinder with: bore size 20, stroke 15, through hole, double acting (with built-in

spring), non-rotating.

Model: QRSQB20-15BK
2. A cylinder with: bore size 40, stroke 30, built-in magnet, both ends tapped, single
acting (spring extend), lever (with built-in shock adjustable absorber, with cancel

cap).
Model: QRSDQA40-30TC

Each Rod End Configuration
Roller Type / Round Bar Type / Lever Type
Chamfered Type (with Built-in Shock Absorber)
200 200
—_ QR$QISOHTIIL .
e 100 QR$QII40MTTIL
QRSQ[150HTTRK
50 = 50
= 40 QRSQ[140HIRK =
=130 =2 QR$QI32[TIL
2 25 ORSQI 2 IRK S N\
£ 20 P T = 20
5 {5|___QRSQD20 I TRK 5 N
2 2 \
< 10 Z 10
g ) g
- -
5 5
1 5 10 1520 30 1 5 10 20 30
Load speed V(m/min) Load speed V(m/min)

3.084

Lateral Load and
Operating Pressure

Round Bar Type /
Chamfered Type/roller Type

1.0

=3

0.9 5:5 /

T 08 o Sk
J

% 0.7 » U??/
§ 0.6 / JCb/ /
o & 1
> 05 / / // @
% 0.4 / // 0?‘50 T
2 .1 /1 /]
o 03 L

ool / /f/ —

o P

0 100 200 300 400 500 600 700 800
Lateral load (N)




///KSXPC® SHANGHAI (2

XINGYICK PNEUMATIC

saQw
Dimensions (mm
Round Bar Type( ) Both Ends Tapped: QRS QA
- 20 2-1/8 <§> 2-®5.5 Through hole, 138
qQ)F;(S)\:\ QBZO D \:\ 4-09 (égg&te; bore ®N Through hole O Thread
N Y
o av U — —_
I'n' > 1 O > A
N )
REN i & P R R
| \idh sgpee Ao BSiroke
22+ 45+ \
B7++ Boresize | g N lo} R
mm
20 45 55 M6 X 1 10
QRSLIQBLI-I[] 32 48 | 55| M6x1 | 10
D32~ D050 Q 2P <5y _ ﬁ 40 525| 55| M6x1 | 10
3 | 50 54 6.6 | M8X1.25| 14
i >
59 = 3
)
C,| 10011) 4-®N Through hole
\ Width across flats: K 20(22) 8-® 0O Counter bore
H+ B+ [M+0.2 Auto switch
At++ E
Non-rotating Type Both Ends Tapped: QRSLIQA
20 - 8 2-055Th h hol 136
QRS[1QB20-[11K A e Couie bos |
CD 20 depth 7 ®N Through hole O Thread
o v L (N Auto switch
§ ‘élv\* T | =
H ~_
% R YA
REN ﬁ 27 ) .\E] AN
22 Width across flats: 22 L?o/%:\/) B+Stroke
22+ 45+ Bl
67++ =
Borﬁ rglze B N lo} R
20 45 5.5 M6 X 1 10
QRSLJQBLI-LILIL] o . , 32 48 | 55| M6x1 | 10
®32~®50 N 4 40 | 525| 55| Mex1 |10
I
‘ > 50 54 | 6.6 | M8x1.25| 14
o,
6 ‘Sl : X zw
2
c E ﬁ “__| Auto switch 10‘1—1’
i Width across flats: K 20(22) 4-®N Through hole
H+ B+ [IM+0.2 8-0 0O Counter bore
A++ E
Borrﬁn']size A B/ C/ D E|F |G |H | J K M N (0] PG| Q R | T|U|V | W|Z

32 68 | 48 |15(20(45|75| 8 | 20|60 (45|32 |34 | 55| 9Depth7 | 1/8 | 20 |10 | 36 |31.5| 20 |58.5/ 18
40 80.5/52.5/18 (25|52 | 8 |10 |28 |69 | 5 | 41 | 40 | 55| 9Depth7 | 1/8 |245|10 |44 | 35 |28 | 66 | 18

50 82 | 54 |21|25|64| 8 |10 28|86 | 7 |50 |50 | 6.6 |11Depth8| 1/8 |245|14 |56 | 41 |28 | 80 |22

Notes: 1. Dimensions for models without a auto switch are the same as the above.
2. The figures show the dimensions of auto switch AL-72R.
3. Parenthesized numbers indicate the dimensions of AL-72R.
4. The figures show an extended piston rod.

3.085



ASXPC. oo e e

5QW
Roller Type
10 20, 2-G18 8 2-©55 Through hole_ (136 .
QRSI1QB20-C1 IR 82055 Through ho Both Ends Tapped: QRS[ QA
depth 7
®20 Tt = Auto switch ®NThroughhole O Thread
35
] — [ i
BN e
2,1, 22 Width across flats: 22
33+ 45+ LR, R,
78++ B+Stroke
Bore size
QRSLIQBLI-LILIR mm B | N o R
032~ D50 oS Q 2-p £ z 20 45 | 55 M6X1 | 10
K 5 a 32 48 | 55 | Mex1 | 10
i L Q) 40 525| 5.5 M6 X1 10
. glwi T IR /ﬁ--\ 50 | 54 | 66 |M8x125 14
Y
-
c 1$ 11
Lo \i Width across flats: K 20(22 4-®N Through hole
H+ B+ M+0.2 8-® 0 Counter bore
At+ E Auto switch
Boresizel A | B (C|D|E|F|G|H|I |[J |K|[L|M|N o Pe|Q|R|S|T | U|V| W X|Z
32 87 |48 15|20 |45|7.5|8 [39|60 |45(32|3 |34 |55|9Depth7 | 1/8 | 20 |10 |18| 36 |31.5/20|58.5 8 |18
40 105.5/52.5/ 182552 | 8 |10 (53|69 | 5 |41 |4 |40 |5.5|9Depth7 | 1/8 |24.510 |24 44| 35|28 | 66| 9 |18
50 107 | 54 | 21|25|64 | 8 (10|53 |86 | 7 |50 | 4 |50 |6.6 |11 Depth 8| 1/8 [24.5(14 |24|56| 41 28| 80| 9 |22

Lever Type (with built-in shock absorber, non-adjustable.)
QRSLIQB32-[]]L

19, .
D32 rg. Do 2018 20, Both Ends Tapped: QRS QA
o TS 5
9 @ 18]« ®N Through hole O Thread
: «©
i
9 = “
o I s p—— —1
4-95.5 Through hole, Auto switch Width across 15, — 1
8-®9 Counter bore flats: 32 20 R R
depth 7 +0. 48+ 72.5+ PRAN e
45 120.5++ B+Stroke
QRSD QBD_DDLSG a5 Boz‘e s)ize B N 0 R
. mm
~ 31, A
®40~®50 N 75 % 20618 .Q n j\ ©20 32 48 | 55| Mex1 |10
z /
I - ‘ n 40 525 | 55 M6 X 1 10
A : ] 6 ) ‘\24‘
2, - : I g 50 54 6.6 |IM8X1.25| 14
EI
= Hz — = - — =
= - v
d .
10(11) \ Width across flats: K
4-®N Through hole, 20(22 Auto switch C
8-® O Couter bore [IM+0.2 VvV,
E B+ H+
Boresizek A | B [C|D|E|F|H |1 | J|K| M| N o Q| R|T|U|V | w)| 2z
40 152.5/ 52518 | 25|52 | 8 | 100 | 69 5 | 41 40 | 55 |9Depth7 |245| 10 | 44 35| 28 66 | 18
50 154 | 54 (21|25 |64 | 8 |100 | 86 7 |50 | 50 | 6.5 |11 Depth8|245| 14 | 56 41 | 28 80 | 22

Notes: 1. Dimensions for models without a auto switch are the same as the above.
2. The figures show the dimensions of auto switch AL-72R.
3. Parenthesized numbers indicate the dimensions of AL-72R.
4. The figures show an extended piston rod.

3.086



ASXPC. v s e

sQW

Lever Type (with built-in adjustable shock absorber)
QRSLIQB32-[1[1B
®32

19 Both Ends Tapped QRSLIQA

14 Adjusting bolt *7. . 2-G1/8 20 X %10.5 @15

8 [ty j © 0 ®N Through hole O Thread

g, "l i P . & / 20°
s

=
N
T
ﬁ
Al

l—» >
I.I B+stroke
4-05.5 Through hole/ | 10(17),| // 15, Bore size
8-®9 Counter bore 0(22 Auto switch idth across flats: 32, 20 mm B N o R
]34+0.2 48+ 72.5+ 32 48 55 | M6X1 | 10

45 120.5++
40 52.5 55 | M6X1 | 10
50 54 6.6 [M8X1.25 14

QRS[JQB[-[[IB
D40~ D50

31 135 20
75 z 7.5 Adjusting bolt f’ 2-G1/8 Q /
—— el
‘ g
2, ! S
o, I
=
| w PP =
Y :
USA o °
4
4-®N Through hol 10(11) . o c
! Aut tch Width across flats: K
8-® 0 Counter bore ‘20(222 uto switc v
(M+0.2 B+ He
E A++

Lever Type (with built-in adjustable shock absorber, with cancel cap)
QRS[LJQBLI-LILIC
®32~ 050

*Dimensions of models with cancel cap are the same as the above.

Boresize) A | B |C|D|E|F| H| I |[J]| K| M|N o Q  R|T|U|V | w)| z
40 |152.5/52.5| 18 | 25 | 52 | 8 | 100| 69 | 5 | 41 | 40 | 55 |9Depth7 /245 10 | 44 | 35 | 28 | 66 | 18
50 | 154 |54 |21 | 25| 64| 8 | 100 86 | 7 | 50 | 50 | 6.5 [11Depth 8/ 24.5| 14 | 56 | 41 | 28 | 80 | 22

Notes: 1. Dimensions for models without a auto switch are the same as the above.
2. The figures show the dimensions of auto switch AL-72R.
3. Parenthesized numbers indicate the dimensions of AL-72R.
4. The figures show an extended piston rod.
5. The > section is subject to the adjusting bolt adjustment. The above figures show those when the absorbing effects are the best.

3.087



ASXPC. v s e

sQw

Lever Type (with built-in adjustable shock absorber, with locking mechanism.)
QRSLIQB32-L]LID

®32
0 Both ends tapped: QRS IQA
14,,| Adustingbolt 7.5 2-G1/8 , 20 X5, %105 015
0| 0 ®N Through hole O Thread
2 ‘fi & 9
6 . = 2 g 30°
o h
o 2 e S - / _— —
< g 4 v
2 . E SN
i R R

B+Stroke
4-05.5 Through hole/ | 10(11) 15, i
8-®9 Counter bore 0(22 Auto switch {Widih across flats: 32 20 Boresize| g N o R
e 38202 A8t 72.5¢ 32 48 | 55| M6x1 | 10

45 120.5++
40 525 | 55 | M6X1 10

50 54 6.6 |[M8X1.25| 14
QRSLIQBLI-ILID
®40~®50
36
31
75 z 7.5 Adjusting bolt f’ 2-G1/8 Q
2/
(o}
| )1 = T = 2
U4
gﬁgggfﬁt; Sg: 10(1210(22 Auto switch Width across flats: K VC
OM+02 ] B+ H+
E A++

Lever Type (with buit-in adjustable shock absorber, with cancel cap and locking mechanism.)

QRSLJQBLI-LILJE
®32~ D050 TH-

*Dimensions of models with cancel cap are the same as the above.

Boresizeek A | B | C | D|E|F|H| I [J|[K|M|N o Q R | T|U|V wW|zZ
40 (1525525 18 | 25| 52 | 8 | 100| 69 | 5 | 41 | 40 | 55 | 9Depth7 |245| 10 | 44 | 35 | 28 | 66 | 18
50 |154| 54 | 21| 25| 64| 8| 100| 86 | 7 | 50 | 50 | 6.5 |11 Depth8/245| 14 | 56 | 41 | 28 | 80 | 22

Notes: 1. Dimensions for models without a auto switch are the same as the above.
2. The figures show the dimensions of auto switch AL-72R.
3. Parenthesized numbers indicate the dimensions of AL-72R.
4. The figures show an extended piston rod.
5. The ¢ section is subject to the adjusting bolt adjustment. The above figures show those when the absorbing effects are the best.

3.088




Clamp Cylinder Symbol
QCKA Series (040~ ®63) ﬁ

Bore size mm 40 ‘ 50 ‘ 63
Fluid Filtered compressed compressed air
Acting type Double acting
OperatiMS%ressure 1.0MPa
d Operatimgir;iressure 100KPa
B e an e 5-60°C
- i Piston speed 50~500mm/s
Cushion Air cushion
Stroke allowance Stroke 5 ° (mm)
Lubrication Pro-lubrication in factory
Mounting style *Double clevis (Basic type only)

* With pin and split pins.

Standard Stroke / Cushion Stroke

How to Order | Auto Switch
. Cushion stroke 5 .
Bore size | Standard stroke Magnetic |Mountin
QCKA 40-100 _ s o Front | Rear | SWitch | parts
|40 | | 25 |
50 50 75100 125 150 30 25 Consult factory
Nil: Standard 63 30
D: Built-in Note:
Code Strok magnet ote:
© roKe o 1.Voltage and current should not be overloaded.
2.Auto switch should not be linked directily to power,should be linked in
. : series aload.
Seri . Nil: Basic type - 3.Auto switch should not be close to strong magnetic bodies or magnetic
eries Bore size  Y: Y-type Rod clevis shield is used.
Construction
188 x>~ (]
x b T :
£2) > =] |

o)

Ve
N

N il
AL,

Parts List

No. Description Material No. Description Material
1 Y-type Rod clevis Casting steel 15 8-ring NBR
2 Piston Rod Carbon steel 16 Wearing ring F4
3 Scraper ring PTFE 17 Back-up ring Carbon steel
4 Rod seal FPM 18 O-ring NBR
5 Bushing PTFE 19 Cushion seal NBR
6 Front cover Die-casting aluminium 20 Rear cushion piston POM
7 Plug Brass 21 Piston nut Carbon steel
8 Cushion seal NBR 22 Rear cover Die-casting aluminium
9 O-ring NBR 23 Adjusting screw set Brass
10 Back-up ring Carbon steel 24 Adjusting screw Brass
11 Tube Aluminium alloy 25 Washer Carbon steel
12 Front cushion piston POM 26 Pin Carbon steel
13 O-ring NBR 27 Bushing Gunmetal
14 Piston Aluminium alloy 28 Split pins Carbon steel

3.089



ASXPC. oo e e

SLaV

Dimensions (mm)
QCKA(©40 ~?63)

C E D + Stroke
17,10 10 F H 6-G1/4
14

;o:
%

Cushion controller

‘§§
) 4-M6(Depth13)

//\ ?\ o o
N e
EENEE [ %)
N| o - = 1
Sg S \ ST
\ AN P // M i
P R 1.5
A 80 + Stroke 2 <4—K°>
B + Stroke 57
Bore size A B c D E F € H K M N P Q
40 97 194 52 55 52 35 10 5 45 44 34 52 47
50 97 194 52 58 49 32 10 7 55 39 38 60 55
63 97 194 52 58 49 34 12 5.5 69 45 44 74 69

Standard Stroke / Dimensions (mm)

Code A B C
Bore size m,lfqe’"/n 50 75 100 125 150 50 75 100 | 125 | 150 50 75 100 125 | 150
40 97 107 | 115 128 128 194 204 | 212 | 225 | 225 52 62 70 83 83
50 97 107 | 115 128 128 194 204 | 212 | 225 | 225 52 62 70 83 83
63 97 107 | 115 128 128 194 204 | 212 | 225 | 225 52 62 70 83 83
Y-type Rod Clevis Pin of Rod Clevis
R15
2-3
w wl g o
~| - 5]
; N /‘\ Xl o S 3
SRS kS
N
52 = 49 3
3.2 15 . 6-M6(Depth10) 57
17

45

LT &
L[ [

20
P12

16.5%%
17
40

3.090




MIKSXPC,

Rotary Cylinder

QRC Series (040~ ®125)

How to Order

Q RC 50 - 90

SHANGHAI

XINGYICK PNEUMATIC

=N
sQw

Symbol

1r

e 40 | 50 | 63 | 80 | 100 | 125
Fluid Filtered compressed air
Acting type Double acting
M rebsure 1.0MPa
M rebsure "2 0.1MPa
Ambient temperature 5~60°C
Rotation 90° , 180° Made to order, any degree <360°
Adjustable angle +7°
AperSEmetteion | 63(mm) | 755(mm) | 1005 (mm)

*Lubrication

Pro-lubrication in factory for cylinder tube /
grease should be injected onto racks

Port size

cia | e | e

*If used, turbine oil “1 (ISO VG32) is recommended.

Theoretical Output Torque Table (Nm)

Bore size

s 0.1MPa|0.2MPa|0.3MPa|0.4MPa | 0.5MPa| 0.6MPa| 0.7MPa| 0.8MPa| 0.9MPa 1.0Mpa
40 2 4 6 8 10 12 14 16 18 | 20
Code Rotation 50 31| 62| 93 | 124 | 155|186 | 21.7 | 24.8 | 27.9 | 31
90: 90°
Series 180: 180° . 63 59 | 118 | 17.7|23.6 | 295 | 354 | 413 | 47.2 | 53.1 | 59
270: 270° [ Nil: Standard 80 9.6 | 192288384 | 48 |576| 672|768 | 86.4 | 96
Bore size 360: 360° D: Build-in magnet
100 20 40 60 80 | 100 | 120 | 140 | 160 | 180 | 200
125 31.3 | 62.6 | 93.9 |125.2]1156.5(187.8| 219.1/250.4 | 281.7 | 313
Construction / Parts List / Dimensions (mm) Auto Switch
Model Auto Switch | Mounting
b injecting hole QRCO00-00 |QCK2400.QCK2422| BT-05
8-L
OM H7
\t \ P ! % z
: 3&“{7
: s B :
|
1 I \
S e Wy ]
OEG. 0. "
No. | Description Material No. |Description Material
1 Adjusting knob Carbon steel 9 Piston Aluminium alloy
2 End cover Die casting aluminium 10 Cylinder tube Aluminium alloy
8] Cushion piston Aluminium alloy 11 Rack Carbon steel
4 Adjusting screw Brass 12 Pinion shaft Carbon steel
5 Cushion seal NBR / steel 13 Housing Aluminium alloy
6 Magnet Magnetic plastics 14 Tie bolt Carbon steel
7 Bushing ring F4 15 Link rod nut Carbon steel
8 8-ring NBR 16 Link rod Carbon steel
Boresize | A(90° )|A(180° ) B | C | D | E | F | G H I J | K L M| N o
40 252 315 56 38 | 19.3| 89 |285(265| 34 5 50 68 M8 15 | 17.3 52
50 274 337 66 | 465 19 | 94 |335|265| 34 5 50 68 M8 15 | 17.3 65
63 314 389.5 80 |56.5|205| 111 | 40 31 40 6 60 80 M8 20 | 22.8 75
80 314 389.5 98 72 30 | 120 | 49 31 40 6 60 80 M10 | 20 | 22.8 95
100 400 482 118 | 89 30 | 163 | 59 41 53 8 80 | 102 | M10 | 25 | 283 | 114
125 392.5 493 142 | 110 | 30 | 165 | 71 41 53 8 80 | 102 | M12 | 25 | 28.3 | 140

3.091




ASXPC. oo e e

sQw
Tandem Cylinder
XQGA(B)J Series(®32~®320)
Two cylinders (XQGA or XQGB) with identical stroke
and a common piston rod form a tandem cylinder.
The tandem cylinder has twice pull and its thrustis the

sum of the thrust and pull of the original cylinder. Can

be used as a general booster cylinder.

Specifications
Fluid Filtered compressed air
Max. Operating pressure 1.0MPa
Min. Operating pressure 0.1MPa
Fluid temperature -10~+60TC
Ambient temperature 5~60C
Piston speed 50~500mm/s
Stroke allowance 0~250+1.0 251~1000+1.5 1001~2000+2.0(mm)
Dimensions(mm)
SD Basic (XQGAJ, XQGBJ Cylinder) Symbol
\ ] \ \ ol &
\ | | | \ A1 U

4-EE Cushion adjusting screw
j\\ H TTT Il
B i h
= & | R
J Vv KK KK KK
DD BB | BD L++ | OA
Boresize | A | AA | B | BB | BD DD EE KK L MM uv
32 40 | 30 | 245 | 22 | 20 | M10X1.25 Rc1/8 26 168 12 M5 9
40 53 | 38 | 355 | 30 | 33 | M14X15 Rc1/4 27 171 16 M6 12
50 62 | 46 | 405 | 35 | 37 | M18X15 Rc3/8 27 175 | 20 M6 15
63 78 | 57 | 405 | 35 | 37 | M18X15 Rc3/8 27 175 | 20 M8 15
80 94 | 73 | 465 | 40 | 47 | M22Xx15 Rc1/2 34 208 | 25 M8 18
100 14 | 89 | 515 | 45 | 64 | M27x15 Rc1/2 36 228 | 30 M10 20
125 140 | 110 | 60 | 54 | 65 M27 X2 G112 46 274 | 32 M12 45
160 180 | 140 | 65 | 72 | 80 M36% 2 G3/4 50 310 | 40 M16 58
200 220 | 175 | 75 | 72 | 95 M36 % 2 G3/4 50 310 | 40 M16 60
250 270 | 220 | 90 | 84 | 105 | M42x2 G1 52 348 | 50 M20 67
320 340 | 270 | 110 | 96 | 120 | M48X2 G1 58 382 | 60 M24 82

3.092



ASXPC. oo e e

sQw

Multi-Position Cylinder
XQGA(B)P Series(®32~®320)

Two double acting cylinders (XQGA or XQGB) with stroke S1
and S2 respectively end to end rigidly connected together

form a multi-position cylinder.

When one piston rod is fixed the multi-position cylinder
gives three or four positions.

Position 1: Both piston rods retract.

Position 2: One piston rod extends with stroke S1

Position 3: The other piston rod extends with stroke S2. (If S1=S2 Position 3 coincides with Position2)
Position 4: Both piston rods extend.

Specifications
Fluid Filtered compressed air
Max. Operating pressure 1.0MPa
Min. Operating pressure 0.1MPa
Fluid temperature -1~+60C
Ambient temperature 5~60C
Piston speed 50~500mm/s
Stroke allowance 0~250+1.0 251~1000+1.5 1001~~2000+2.0(mm)
Dimensions(mm)
SD Basic (XQGAP, XQGBP Cylinder) Symbol
\ [ 11 \ \ & ‘ " \
L, | L l I i s
ZB++(=ZB+51+S2) [JAA 8-Uv
% 4-Cushion adjusting screw
| [N [l
| | | [ N ! | | _
e g !f \.‘/ @ S @ |
V,l KK KK |, KK, KK |,V
J BB BD L++(L+S1+852) BD ,|, BB A
Boresize | A | AA | B | BB | BD DD EE KK | L | Mm | uv v | zB
32 40 30 | 245 | 22 20 M10X1.25 Rc1/8 26 194 12 M5 9 278
40 53 38 | 355 | 30 33 M14Xx1.5 Rc1/4 27 198 16 M6 12 324
50 62 46 | 405 | 35 37 M18X1.5 Rc3/8 27 202 20 M6 15 346
63 78 57 | 405 | 35 37 M18X1.5 Rc3/8 27 202 20 M8 15 346
80 94 73 | 465 | 40 47 M22X1.5 Rc1/2 34 242 25 M8 18 416
100 114 | 89 | 515 | 45 64 M27X1.5 Rc1/2 36 264 30 M10 20 482
125 140 | 110 60 54 65 M27 X 2 G1/2 46 320 32 M12 45 558
160 180 | 140 65 72 80 M36X 2 G3/4 50 360 40 M16 58 664
200 220 | 175 75 72 95 M36X 2 G3/4 50 360 40 M16 60 684
250 270 | 220 90 84 105 M42x 2 G1 52 400 50 M20 67 786
320 340 | 270 | 110 96 120 M48 X 2 G1 58 460 60 M24 82 872

3.093



ASXPC. oo e e

sQW
Locking Cylinder
XQGBSJ(E. P. D) Series (»32~®320)

The locking cylinder is a general double acting cylinder
equipped with a locking mechanism at its front part.
Under various locking mechanisms, the piston rod are
locked in any stroke position. There are spring ocking
(released by air), air locking and air-spring ocking.
The locking cylinder is suitable for horizontal or
vertical load required safety controlling or

position memory.

Model: Spring locking XQGBSJE;

Air locking XQGBSJP;
Air-spring locking XQGBSJD.
Specifications
Fluid Filtered compressed air
Max. Operating pressure 1.0MPa
Min. Operating pressure 0.1MPa
Fluid temperature -10~+60C
Ambient temperature 5~60C
Piston speed 50~500mm/s
Stroke allowance 0~250+1.0 251~1000+1.5 1001~2000+2.0(mm)
Locking Control Air Pressure Standard Stroke
Locking type Spring Air-spring Air Borrﬁmsize Standanr;g stroke Longmsr.ntroke
Locking pressure — =0.3MPa =0.4MPa 40 25~500 501~1000
Release pressure =0.4MPa =0.2MPa 50
M:x. 25~600 601~1200
Operating pressure 1.0 MPa 63
Locking direction Double 80 701~1400
25~700
100 701~1500
Dimensions(mm)
SD Basic (XQGBSJE, XQGBSJP, XQGBSJD Cylinder) Symbol

pam—

4-EE Cushion adjusting screw

Vv K N KK
DD, BB BD L+

AB

OMM
\

Boresize | A | AA | AB | B | BB | BD DD EE K | KK| L |MM | uv | vV
40 53 | 38 | 45 | 355| 30 | 33 | M14x15 Rc1/4 | 965 | 27 (1685 16 | M6 | 12
50 62 | 46 | 53 | 405| 35 | 37 | M18x15 Re3/8 | 111.5| 27 [1855| 20 | M6 | 15
63 78 | 57 | 64 | 405| 35 | 37 | M18X15 Re3/8 | 1115| 27 |1855| 20 | M8 | 15
80 94 | 73 | 82 | 465| 40 | 47 | M22x15 Rc1/2 128 | 34 | 215 | 25 | M8 | 18
100 14 | 89 | 98 | 515| 45 | 64 | M27x15 Rc1/2 140 | 36 | 236 | 30 | Mm10 | 20

3.094



//KSXPC@ SHANGHAI XINGYICK PNEUMATIC QLZ)

Servo Cylinder
XQGASF Series (063~ ®80)

The servo cylinder is the combination of a self-lubticating
low friction double acting cylinder and an air servo valve
as shown in the diagram. When the control air pressure
(Pc) of a certain value is input, due to the amplifying = ¥
function of the nozzle baffle a differential pressure § =
occurs between the two sides of the valve element
and it causes a displacement of the piston. - e
The forces of the piston rod and the feed back spring
finally come to a balance and thus there is a corresponding
relation between the value of the control air pressure (Pc) and the displacement of the piston rod(S).
The aim of precision positioning is reached.

The XQGASF servo cylinder gives reliable operation and precision positioning and is suitable for the
servo control or positioning mechanisms used in tobacco industry, textile industry, paper industry,
chemical industry, petroleum refining industry, metallurgical industry, coal gas industry, power station, etc.

Specifications

Operating pressure 0.3~0.7MPa
Control pressure 0.02~0.1MPa
Fluid temperature -10~+60T
Ambient temperature 5~60C
Sensitivity (within the whole stroke range) <0.5%
Linearity (within the whole stroke range) <0.2%
Hysteresis (within the whole stroke range) <1%
Repeatability (within the whole stroke range) <1%
Air consumption <22cm’/min
Fluid Filtered compressed air <um
Port size G1/4 (Gauge port G1/8)
Standard Stroke
Borrﬁmsize Standargg stroke
63
50. 100. 150. 200. 250. 300
80
Construction Operating pressure Pl l Control pressure Pc

7. Diaphragm A

6. Diaphragm B | | 1. Input chamber
i 1 - Nty r ! 9. Adjusting screw
8.Valve element ] Q) ——
. 0000 db_|
I— 2. Feedback spring

3. Control diaphragm

I I LI\ 4.Nozzle
o

5. Piston rod

3.095



//KSXPC® SHANGHAI XINGYICK PNEUMATIC 3‘,}3?
<

Dimensions(mm) Symbol
SD Basic (XQGASF Cylinder)

Operating pressure port '
\Y 135+ (G1/4) p N
e Control pressure port 45 21
(G1/4)

DD

LL,

A+100

OMM
[ |1
@

BB KK KK

BD L+ CJAA
L+ LA 48
Boreisize A AA B BB BD DD KK L L+ MM v
63 78 57 40.5 32 | 705 M16X1.5 27 94 1795 | 20 58
80 94 73 46.5 40 78 M20x1.5 | 33.5 112 208 25 65

Installation and Connection:
Various mountings can be used based on different requirements.
The circuit is shown as the diagram.

Operation:
Pressure regulation: Adjust the pressures at the value shown in the diagram.
Position regulation: According to the operating requirements, firstly set the adjusting screw to

get the initial position of the piston rod; then adjust the control pressure
value-setter to get different rod positions.

Air filter-regulator (1) Value-setter Signal pressure gauge
Ps =0.5~1.0MPa M 0.14MPa " Pc=0.02~0.1MPa
Cd
rd ] L | L I]
A\ N
AN
1] |
P=0.3~0.7MPa J
| ] L

Air filter-regulator (2) Operating pressure gauge Servo cylinder Adjusting screw

Precaution:

Before installation clean the piping system by compressed air and make sure that there are no
impurities and oil contamination in it (servo cylinder does not need lubrication). Do not disassemble
the servo cylinder arbitrarily to avoid damage and contamination.

3.096



